

OFFICE OF THE PRINCIPAL GOVT. M.M.R.P.G. COLLEGE. CHAMPA (C.G.)

Accredited by NAAC "B" Grade (CGPA-2.10)

Phone No. 07819-245807 Email: gpgc_cph@yahoo.com

Certificate

This is to certify that following is the data of total scholarship amount and the number of students benefited by scholarships provided by the Government to the students of M.M.R.PG College, Champa, during last five years:

Year	2015-16	2016-17	2017-18	2018-19	2019-20
Number	1151	1414	1417	1593	1907
Amount	494023	4387670	4387670	5917591	6666390



Govt. M.M.R. P.G. College CHAMPA (C.G.)

Government of Chhattisgarh

scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4075/3/10/89516

Sanction Date: 30/03/2019

Applications Type:

Fresh

75	13	12	11	0	٥	20		1	٠.	1	w	10	,	ybblica
301000	292527	245707	245670	178708	216602	134825	134794	133806	133466	123161	118718	117980	1475805	lication ID
301000 PURSHOTTAM KUMAR	292527 BHUWNESHWARI KUMARI V	245707 urvashi sahu	245670 DEEPIKA YADAV	178708 radhika kashyap	216602 suraj kumar sahu 🗸	134825 ASHISH SINGH	134794 suresh KUMAR	133806 SUNITA PATEL	133466 Keshav Kumar Dewangan 🌙	123161 RAJENDRA DEWANGAN	118718 gopal soni	117980 Rajan Kumar Patel	1475805 KAMLESH DEWANGAN	Student Name
Male ,	Female	Female	Female	Female	Male	Male	Male	Female	Male	Male	Male	Male	Male	Gender
PGDCA/Computer Application/I	M. Com./ABST/I	M. A./Economics/I	M. A./Pol. Science/I	M.S.W./Master of Social_ Work/I	M. Sc./Chemistry/I	PGDCA/Computer Application/I	PGDCA/Computer Application/I	M. A./Pol. Science/I	M. A./History/I	M. Sc./Mathematics/I	M. Sc./Chemistry/I	PGDCA/Computer Application/I	B. Sc./Science/III	Course
Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Туре
10	10	9	9	9	9	9	. 9	9	9	9	. 9	. 9	9	No. of Month
100	110	110	110	110	100	110	100		100	100	100	100	70	Rate
900	1100	990	990	990	900	990	900	990	900	900	006	900	630	Maintenence Allowance
144	O	0 - 0	0	0	144	144	144	0	144	144	. 144	144	135	Tuition Fee Other Fee
2141	1081	1801	1801	2251	1851	2141	2141 •	1801	1801	897	1851	2141	2042	AND DESCRIPTION OF THE PARTY OF
, 2285	1001	1801	1801	2251	1995	2285	2285	1801	1945	1041	1995	2285	2177	Total Fee T
3185	1067	2001	2/91	3241	2895	32/5	23.15	2195	2845	1941	2895	3185	2807	Fotal Amount

Declaration:

candidate have been kept salely in the onlice and will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is defected.

Any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is defected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

(Signature & Seal of Head of the Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4075/3/10/89516

Sanction Date: 30/03/2019 Applications Type: Fresh

	Todadolino todi.	(
Applic	Application ID Student Name		Gender	Сонгѕе	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Ot	her Fee 1	Other Fee Total Fee Total Amount	otal Amount
j	342392 SANIAY KIIMAR DHIWAR	1	Male	M. A./Pol. Science/I	Fresh	9	100	900	144	1801	1945	2845
2 0			Male	M. Sc./Chemistry/I	Fresh	9	100	900	144	1851	1995	2895
2 6		1	Male	M. A./Economics/I	Fresh	9	100	900	144	1801	1945	2845
1		1			1	D	100	nno	144	1801	1945	2845
(F)	-515343 ANIL KUMAR BARETH	<	Male	M. A./Pol; Science/I	Fresh	9	FOOT	900	. T++1	TOOT	1010	
3	516699 JAGRITI SAHU	1	Female	M. Sc./Mathematics/I	Fresh	9	110	990	0	1851	1851	2841
10	577178 Radhika Mahant		Female	M. Sc./Chemistry/I	Fresh	9	110	990	0	1851	1851	2841
77	639153 JWALA YADAV	1	Female	M. Sc./Chemistry/I	Fresh	9	110	990	0	1851	1851	2841
22	719427 PRADIP KUMAR SAHU	1	Male	PGDCA/Computer Application/I	Fresh	9	100	900	144	2141	2285	3185
24	722671 kripal das	1	Male	M. A./English/I	Fresh	9	100	900	144	1801	1945	2845
201	718325 URMILA KUMARI KASHYAP	7	Female	M. Sc./Chemistry/I	Fresh	9	110	990	0	1851	1851	2841
129	724856 PRIYA KUMARI RATHORE	7	Female	M. Sc./Mathematics/I	Fresh	9	110	990	0	1851	1851	2841
36	734338 ratni kumari	<	Female	M. A./Sociology/I	Fresh	9	110	990	0		1801	2/91
25	734998 Shraddha Patel	7	Female	M.S.W./Master of Social Work/I	Fresh	9	110	990	0	2251	2251	3241
25	755198 KAJAL RATHORE	1	Female	M. A./Pol. Science/I	Fresh	9	110	. 990	0	1801	1801	2/91
13	755245 TULESHWARI DHIWAR	1	Female	M. A./Pol. Science/I	Fresh	9	110	990	0	1801	1081	1972
60	394401 Pushpa Lata Rathore	5	Female	M. A./History/I	Fresh	9	110	, 990	0	1801	1801	. 2/91

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signature & Seal of Head of the Institution)

Name (Capital Leters) St Graduate College



Page 2/30

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4075/3/10/89516

Applications Type: Fresh

Sanction Date: 30/03/2019

Applica	opplication ID	Student Name		Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	uition Fee Other Fee	Total Fee	Total Amount
Ô	404821	404821 Kunti Devi Kenvat		Female	M. Com./ABST/I	Fresh	9	110	990	0	1801	1801	
20	412777	412777 Bhuvneshwari Dewangan	1	Female	M. A./English/I	Fresh	9	110	990	0	1801	1801	
מ	481749	481749 LALIT KUMAR SAHU		Male	M. A./English/I	Fresh	9	100	900	, 144	1801	1945	
000	486282	486282 SEEMA SAHU	1	Female	M. Sc./Mathematics/I	Fresh	9	\$ 110	990	• 0	1851	1851	
200	515726	515726 MONIKA DEWANGAN	1	Female	PGDCA/Computer Application/I	Fresh	9	110	990	0	2141	2141	
2	615312	615312 Digambar Shriwas	1	Male	M. A./History/I	Fresh	9	100	900	144	1801	1945	
1 (631300	631300 BHOLASHANKAR SAHU	7	Male	M. A./Pol. Science/I	Fresh ;	9	100	900	. 144	1801	1945	
200	619629	619629 yogesh dewangan	1	Male	M. Com./ABST/I	Fresh	9	100	900	144	1801	1945	
3	696761	696761 SHANTI ADITYA	1	Female	M. A./Sociology/I	Fresh	9	110	990	0	1801	1801	
02	734918	734918 BHASKAR MARAR	7	Male	M. Sc./Chemistry/I	Fresh	9	100	900	144	1851	1995	
(2)	674531	674531 MANISH DEWANGAN	1	Male	M. Com./ABST/I	Fresh	9	110	990		1801	1801	
12	730592	730592 HORI LAL YADAV	1	Male	M. A./Sociology/I	Fresh	9	- 100	900	144	1801	.1945	
נע	738461	738461 MEENU YADAW	7	Female	M. Sc./Mathematics/I	Fresh	9	110	990	0	1851	1851	
44	753365	753365 MOHAN KUMAR	1	Male	PGDCA/Computer Application/I	Fresh	9	100	900	144		2285	
4	755161	755161 POOJA RATHORE	7	Female	M. Sc./Mathematics/I	Fresh	9	110	990		1851	1851	
24	755165	755165 SWETA SAHU.	1	Female	M. Com./ABST/I	Fresh	9	110	990	. 0	1801	1801	

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

(Signature & Seal of Head of the Institution)

Name (Capital Leters) Post Grantine College

This Sanction is generated by Scholarship Portal. Printed on 3/30/2019



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4075/3/10/89516

Applications Type: Fresh

Sanction Date:

30/03/2019

2352	1722	1722	0	630	. 70	9	Fresh	B. A./Arts/I	Female	7	1596554 MADHURI PATEL	1596554	53
2352	1722	1722	0	630	70	. 9	Fresh	B. A./Arts/I	Female	<	1594147 JYOTI KENWAT	1594147	8
2392	1897	1782	115	495	55	9	Fresh	B. Sc./Maths/I	Male	5	1594132 GOPAL KARSH	1594132	62
2412	1782	1782	0	- 630	70	. 9.	Fresh	B. Sc./Science/I	· Female ·	7	1594129 BABITA SAHU	1594129	6)
2412	1782	1782	0	630	70	9	Fresh	B. Sc./Maths/I	Female	<	1594125 POOJA DEWANGAN	1594125	60
2412	1782	1782	0	630	70	9	Fresh	B. Sc./Science/I	Female	<	1594086 PREETI KUMARI	1594086	53
2352	1722	. 1722	- 0	_ 630	70	9	Fresh -	B. A./Arts/I	Female	1	1594081 PREMLATA SAHU	1594081	g
2352	1722	1722	0	630	70	9	Fresh	B. A./Arts/I	Female	5	1593954 JYOTI RATHORE		9
2352	1722	1722	0	630	70	. 9	Fresh	B. A./Arts/I	Female	<	1593931 KHUSHBOO SHRIWAS		7
2332	1837	1722	115	495	55	9	Fresh	B. Com./Commerce/I	Male	<	1593894 MAHESHWAR BARETH		É
2945	1945	1801	144	1000	100	. 10	Fresh	M. A./Sociology/I	Male	<	1593885 DEVI LAL DEWANGAN		Z Z
2841	1851	1851	0	990	110	9	Fresh	M. Sc./Mathematics/I	Female	<	1003709 PUSHPA DEWANGAN		G
2/91	1801	1801	0	990	110	9	Fresh	M. Com./ABST/I	Female	7	1004215 EKTA DEWANGAN	1004215	5
2811	1821	1821	0	990	110	. 9	Fresh	M. Sc./Chemistry/I	Female	7	942596 PRIYA RATHORE	942596	9
2840	1895	1751	. 144	₫ 945	105	. 9	Fresh	M. Sc./Chemistry/II	-,Male	1	897567 UMESH KUMAR	897567	50
2791	1801	1801	0	990	110	, 9	Fresh	M. Com./ABST/I	Female	<	809591 KAMINI DEWANGAN	809591	62
2791	1801	1801	0	990	110	9	Fresh	M. A./Sociology/I	Female	N	755202 DEV KUMARI DEWANGAN	755202	48
2791	1801	1801	0	990	110	9	Fresh	M. A./Pol. Science/I	Female	1	755200 YASHODA KURMI	755200	47
Total Amount	uition Fee Other Fee Total Fee Total Amount	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Тура	Course	Gender		Student Name	Application ID	Applic

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of the scholarship and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place :

(Signature & Seal of Head of the Institution) & College Name (Capital Leters): AMPA (C. G.)



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4075/3/10/89516 Sanction Date: 30/03/2019

Applications Type: Fresh

Applic	cation XD	Student Name		Gender	Course	Type	No. of Month	Rate	Maintenence Allowance	Tuition Fee	uition Fee Other Fee	Total Fee Total Amoun	local Amount
ì	1506571	1506571 ANIGAD KIIMAR	7	Male	B. Sc./Maths/I	Fresh	9	55	495	135	1782	1917	2412
: 6	1/2001/1	CHHAVI KIIMAD	1	Malo	B A /Arts/I	Fresh	9	55	495	5 115	1722	1837	2332
5 0	/acaget	1396367 CHHAVI KOMAK	1	Emalo	B Sc /Science/I	Fresh	9	70	630	0	1782	1782	2412
8	15965/2	15965/2 SHITLA SAHU	5	remaie	D. Sc./Science/I			Я	495	115 4	1722	1837 •	2332
33	1601440	1601440 DEEPAK KUMAR BARETH	1	Male	B. A./Asts/I	Fresh	9	8	49			7107	
5	1610200	1610200 MANISH GADARIYA	5	Male	D. C. A./Diploma in Computer Fresh application/I	Fresh	9	55	495	115		/817	2002
36	1594077	1594077 UMA SAHU	1	Female	B. Sc./Science/I	Fresh	9	70	630	0		1/82	2412
7)	1594124	1594124 BANSHI LAL KASHYAP	7	Male	M.S.W./Master of Social Work/I	Fresh	9	100.	, 900) 144	2251	2395	
72	1594139	1594139 REETU PATEL	1	Female	B. Sc./Science/I	Fresh	9	70	630	0	1782	1782	2412
١		1594144 SUMAN KUMAR KEWAT	1	Male	B. A./Arts/I	Fresh	9	70	630	0		1/22	2352
7	1	1596565 SAPNA KUMARI BARETH	7	Female	M. Sc./Chemistry/I	Fresh	9	110	990	0		1851	1497
71		1596560 BHUMIKA PATEL	~	Female	B. Sc./Science/I	Fresh	9	- 70	630	0	1	1/82	2147
1	454	1597076 ANJALI BARETH	?	Female	B. Com./Commerce/I	Fresh	9	70	630	0		1722	2352
いい		1597522 JAYA KUMARI SHRIWAS	7	Female	M. Com./ABST/I	Fresh	9	110	990	0 0		1801	16/7
	1599530	1599530 DIVYA SAHU		Female	B. A./Arts/I	Fresh	9	70				1/22	7257
	1599739	1599739 DHARMENDRA KUMAR RATHORE	<	Male	B. Sc./Maths/I	Fresh	9	55	'	11		189/	2392
8	1596448	1596448 SUSHILA SAHU	7	Female	M. A./Economics/I	Fresh	9	110	990	0	TOST	TOOT	1013

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

(Signature & Seal of Head of the Institution)
Name (Capital Letters): Post Graduate College
CHAMPA (C.G.)

This Sanction is generated by Scholarship Portal. Printed on 3/30/2019

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4075/3/10/89516

Sanction Date: 30/03/2019 Applications Type: Fresh

	Academic lear.										
Applic	Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Fee Other Fee	Total Fee	Total Amount
Ū	1596469 SHRIYA SARAF	Female	B. Sc./Computer Science/I	Fresh	9	70	630	0	1782	1782	2412
A I	1596553 POONAM DEWANGAN	Female	B. Sc./Science/I	Fresh	9	70	630	0	1782	1782	2412
0 0	1597349 PRATIMA DEWANGAN	Female	B. Sc./Science/I	Fresh	9	70	630	, 0	1782	1782	2412
9. 0	1597365 JYOTI DEWANGAN	Female	B. A./Arts/I	Fresh	9	· 70	630	. 0	1722	₹ 1722	2352
200	1601664 AASHU THAWAIT	Male	B. Com./Commerce/I	Fresh	9	55	495	115	1722	1837	2332
9 0	1604065 ANNU SAHU		B. Com./Commerce/I	Fresh	9	70	630	0	1722	1722	2352
0 0	1606042 BHAWESH KUMAR	Male	B. A./Arts/I	Fresh	9	55	495	115	1722	1837	2332
00 0	-	Male	B. Com./Commerce/I	Fresh	9	55	495	113	1722	1837	2332
00	1610185 SURAJ KUMAR YADAV	Male	D. C. A./Diploma in Computer Fresh application/I	r Fresh	9	55	495	115	2072	2187	2682
90	1596573 MANISHA KUMARI	Female	B. Com./Commerce/I	Fresh	9	70	630	0	1722	1722	2352
Ä	1596957 TAMESHWARI DEWANGAN	Female	B. A./Arts/I	Fresh	9	70	630	0	1722	1722	2352
Q -	1597468 PRAKASH SAHU	Male	-B. Sc./Science/I	Fresh	9	55	495	135	1782	1917	2412
in y	1601062 SUSMITA JAISWAL	Female	B. Sc./Science/I	Fresh	9	70	630	0	1782	1782	2412
12	1601491 BHAGWAT BARETHH	Male	B. Sc./Maths/I	Fresh	9	55	495	135	1782	1917	2412
1	1602047 VIVEK DEWANGAN	Male	B. Com./Commerce/I	Fresh	9	55	495	115	1722	1837	2332
2	1603102 KUJYOTI PATEL	Female	B. Sc./Science/I	Fresh	9	70	630	0	1782	1782	2412
22	1606627 DEEPAK KUMÁR DEWANGAN	Male	B. Com./Commerce/I	Fresh	9	55	495	115	1722	1837	2332

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs. 2.2.2.2.0 of which Rs. 1.6.1.3 maintenance allowance and Rs. 2.2.2.2.3 tuttion and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

(Signature & Seal of Head of the Institution)

Name (Capital Leters) | R. Post Graduite Calls



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa



Sanction Number: N/8/4075/3/10/89516

State:

Sanction Date: 30/03/2019

	Academic Year: 2018-19							Applications	Applications Type: Fresh		
Applica	ication ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Fee Other Fee	Total Fee	Total Amount
n	ACCOUNT ATA BABETH	Fomalo	B. Sr. /Srience/I	Fresh	9	70	630	0	1782	1782	2412
26	16085/4 ASTALATA DARETT	-	D. October 1	T	0	70	630	0	1782	1782	2412
22	1583954 DIPALI RATHORE	Female V	B. Sc./Science/1	rresn	u	ò	000			1007	2000
	1584651 OMPRAKASH DEWANGAN	Male	B. Sc./Maths/I	Fresh	. 9	55	495	115	1/82	7681	2392
1))	Flock	0	22	495	135	-1782	1917	-2412
0)	1585355 KIRTI KUMAR	: Male	B. Sc./Science/1	rresn	.5	i,				1027	CEEC
67	1585835 RAJENDRA KUMAR	Male V	B. Com./Commerce/I	Fresh	9	55	495	115	1/22	103/	2002
1	TOTAL TOWNSHIPS OF THE SECTION	Female .	B. Sc./Science/I	Fresh	9	70	630	0	1782	1782	2412
100	TOOLOG MACCOLIMANT TOOLA				0	707	029	0	1722	1722	2352
100	1589519 SMITA RATHORE	Female V	B. Com./Commerce/1	Fresh	y	/0	000	c		,	1
09	1589644 VIRENDRA DEWANGAN	Male C	B. Com./Commerce/I	Fresh	. 9	55	495	115	1722	183/	2332
D I	1584745 ANJANI KUMARI	Female V	B. A./Arts/I	Fresh	. 9	70	630	0	1722	1722	2352
707	1588489 VEDPRAKASH DEWANGAN	Male 1	BJMS/Bachelor of Journlism Mass Communication/I	Fresh	9	100	900	115	1742	1857	2/5/
a a	1589346 RANU SAHU	Female 🔨	Female B. Sc./Science/I	Fresh	9	70	630	0	1782	1782	2412
	UHAS ITNAYAL 88E9831	Female W	B. Sc./Science/I	Fresh	. 9	70	- 630	0	1782	1782	2412
3	1589869 MAHENDRA KUMAR	Male	B. Com./Commerce/I	Fresh	9	55	495	115	1722	1837	2332
111	1589901 SAILENDRA KUMAR	Male	B. A./Arts/I	Fresh	. 9	55	495	115	1722	1837	2332

Declaration:

2113

1589581 RAHUL KANSARI

1591854 RANJU KUMARI RATHORE

Female B. Sc./Maths/I

B. Com./Commerce/I

Fresh Fresh Female

M. A./Sociology/I B. A./Arts/I

> Fresh Fresh

9 9

630 990

1782 1722

> 1782 1801

2412 2791

1837

2332

1801

110 70

9

55

495

115 0 0

1589901 SAILENDRA KUMAR 1591829 JAGRITI GOPAL

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Date : Place :

(Signature & Seal of Hea Name (Capital Lete d of the Institution AMPA (C. G.

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4075/3/10/89516 Sanction Date: 30/03/2019

Applications Type: Fresh

1722 2352 1722 2352 1732 2352 1837 2332 1722 2352 2352 2352	1722								00000	
	1777	0	630	70	9	Fresh	ale B. A./Arts/I	Female	1591876 ISHWARI SAHU	20
	7/77	-		55	9	Fresh	B. A./Arts/I	Male	1591221 VINOD KUMAR	130
	77/1			- 70	9	Fresh	ale B. Com./Commerce/I	Female	1592788 MONIKA YADAV	
	77/1			70	9	Fresh	ale B. A./Arts/I	Female	1592476 PREETI YADAV	128
702/	77/1		495	55	9	Fresh	B. A./Arts/I	Male	1592472 BALKISHAN PATEL	127
1937 2332	1/22	. 0		70	9	Fresh _	ale B. A./Arts/I	Female	1592464 REVATI SAHU)26
	1/22			55	9	Fresh	B. A./Arts/I	Male	1592456 SANT KUMAR	725
	1/22		630	70	9	Fresh	ale B. A./Arts/I	Female	1592444 JAYANTI DEWANGAN	24
	1/22		630	70	9	Fresh	ale B. A./Arts/I	Female	1592420 POOJA DEWANGAN	
1722 232	1722			70	9	Fresh	Female B. A./Arts/I	Fema	1592279 GANGA BARETH	19.
	1/22	115		70	9	Fresh	B. A./Arts/I	Male	1591971 JAYPAL KASHYAP	(4)
	1/82	115	495	55	9	Fresh	B. Sc./Maths/I	Male	1591911 P SHUBHAM YADAV	100
	H	0	990	110	9	Fresh	ale M. A./Pol. Science/I	Female	1591860 MANJU KEWAT	40
		. 40	630	• 70	9	Fresh 3	ale B. A./Arts/I	Female	1591859 DHANESHWARI KUMARI	
		115	495	• 55	9	Fresh	B. Sc./Computer Science/I	Male	1590904 GOPI KUMAR SAHU	
		144	900	100	9	Fresh	M. A./History/I	Male	1590836 DINESH KUMAR DEWANGAN	36
		115	495	55	9	Fresh	B. A./Arts/I	Male	1590222 RAKESH KUMAR BARETH	B
iotal Ame	ree Other ree Total ree	Tuition Fee G	Maintenence Allowance	Rate	No. of Month	Type	Gender Course	Gei	ion ID Student Name	Application ID

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected

Place : Date :

(Signature & Seal of Head of the Institution) College.

Name (Capital Leters AMPA (C. G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4075/3/10/89516

Applications Type: Fresh

Sanction Date:

30/03/2019

					T.	No of	Bat's	Maintanence	Tuiltion Fee C	Other Fee	Total Fee	aintenence Tuition Fee Other Fee Total Fee Total Amount
Applica	Application ID	Student Name	Gender	Course	Lype	Month	Tele	Allowance				
201	1592046 RAVI KUMAR BARETH		Male	B. A./Arts/I	Fresh	9	55	495	115	1722	1837	2332
	755255 REETU DEWANGAN		Female \	M.S.W./Master of Social Work/I	Fresh	9	110	990	0	2251	2251	3241
74	769095 ROHIT KUMAR		Male .	M. A./Economics/I	Fresh		100	900	144	1801	1945	2845
136	808779 GEETA YADAW		(a	PGDCA/Computer Application/I	Fresh	9	110	990	0	2141	2141	3131
721	809129 MANJU DEWANGAN	DEWANGAN	Female 🔨	M. A./Pol. Science/I	Fresh	9	110	990	0	1801	1801	2791
100	809100 BABITA DEWANGAN	A DEWANGAN	Female	M. A./Pol. Science/I	Fresh	9	110	990	. 0	1801	1801	2791
000	809547 Garima Dewangan	a Dewangan	Female <	M. Sc./Chemistry/I	Fresh	9	110	990	0	1851	1851	2841
3	859055 PRABHA SAHU	IA SAHU	Female V	M. A./Sociology/I	Fresh	9	110	990	0	1801	1801	2/91
2	945534 HIMANI DEWANGAN	VI DEWANGAN	Female V	M. Com./ABST/I	Fresh	9	110	990	0	1801	1801	
142	809641 TANNU DEWANGAN	DEWANGAN	Female	PGDCA/Computer Application/I	Fresh	9	110	990	0	2141	2141	
226	193 1592412 SARASWATI BARETH	WATI BARETH	Female V	B. A./Arts/I	Fresh	9 -	. 70	630	0	1722	- 1722	
146	1592437 SUSHN	1592437 SUSHMITA DEWANGAN	Female	B. Sc./Science/I	Fresh	9	70	630	0	1782	1782	
124	1592452 PUSHPENDRA KUMAR	ENDRA KUMAR	Male \	B. A./Arts/I	Fresh	9	55	495	115	1722	1837	
12	14 1592810 KAUSHILYA BARETH	IILYA BARETH	Female \	B. A./Arts/I	Fresh	9	70	630	0	1722	1722	
[2]	/ 47 1592903 DEEPA KASHYAP	\ KASHYAP	Female _	D. C. A./Diploma in Computer Fresh application/I	er Fresh	9	70	630	0	1782	1782	2412

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts serial no. 1 to I do here by sanctioning a sum at 463. 227. 22. Out of which Rs. maintenance allowance and Rs. as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place:

(Signature & Seal of Head of the Institution) Name (Capital Leters) R. Post Graduate College

Government of Chhattisgarh

Scholarship Scheme : Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 30/03/2019

Sanction Number:

N/8/4075/3/10/89516

Applications Type: Fresh

pplica	Application ID Student Name	Gender	Course	Туре	No. of	Rate	Vaintenence Tu	ition Fee O	ther Fee	Total Fee	nwance Tuition Fee Other Fee Total Fee Total Amount
Ó	1503100 DIISHDA KEWAT	Female	B. Sc./Science/I	Fresh	9	70	630	0	1782	1782	2412
0 0	1569781 NITTSH KUMAR THAKUR	Male	B. Com./Commerce/I	Fresh	9	55	495	115	1722	1837	2332
1	1569862 MAMTA SAHU	ا	B. A./Arts/I	Fresh	9	70	630	0	1722	1722	2352
1	1570834 SIDANT YADAV	2	B. A./Arts/I	Fresh	. 9	55	495	115	• 1722	1837	2332
1		Female V	B. A./Arts/I	Fresh	9	70	630	. 0	1722	1722	2352
1	1572005 KIII DEED KIIMAR	Male	B. Sc./Maths/I	Fresh	9	55	495	115	1782	1897	2392
105	1572156 SATISH BARFIH		B. Sc./Maths/I	Fresh	9	55	495	115	1782	1897	2392
2	1873551 IMAN TAHII	Female &	B. Sc./Maths/I	Fresh	9	70	630	0	1782	1782	2412
1	1573887 GANESH KUMAR SAHU	Male	B. A./Arts/I	Fresh	9	55	495	115	1722	1837	2332
jr	1575593 NAVDHALAL KARSH	Male	B. Sc./Science/I	Fresh	9	55	495	135	1782	1917	2412
in large	1572603 SWAPNIL MAHANT	Female <	B. Com./Commerce/I	Fresh	9	55	495	115	1722	1837	2332
3		Female V	M. Com./ABST/I	Fresh	9	100	900	144	1801	1945	2845
10		Male	B. A./Arts/I	Fresh	9	55	495	115	1722	1837	2332
. (Male	B. A./Arts/I	Fresh	9	55	495	115	1722	1837	2332
100		Female	B. Sc./Science/I	Fresh	. 9	70	. 630	0	1782	1782	. 2412
100	1575868 RATAT YADAV	Male	B. Sc./Science/I	Fresh	9	55	495	135	1782	1917	2412
200		Male	B. Sc./Computer Science/I	Fresh	, 9	55	495	115	1782	1897	2392
5		Female C	M. A./English/I	Fresh	9	110	990	0	1801	1801	2791

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place: Date :

> (Signature & Seal of Head of the Institution) Name (Capital Leters) HAME



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4075/3/10/89516

Applications Type: Fresh

44

Sanction Date:

30/03/2019

a	न	181	080	27.6		747	7	17	172	الر	172	177	170	100	63	167	186	Applic
1583921	1583899				1583839				1583675	1583457	1583407	1583641	1583137		1581967	1581507	1581245	Application ID
© ₹ 1583921 JAY CHAND	1583899 LALITA BARETH	1583880 LALITA BARETH	1583875 HEENA KAHARA	1583867 ROSHNI ADITYA	1583839 ROSHAN SHARMA	1583830 AMRITA KUMARI DEWANGAN	1583801 PREETI DEWANGAN	1583741 PINKY KARSH	1583675 RAJNI SAHU	1583457 PADMANI YADAV	1583407 DINESHWARI DEWANGAN	1583641 KEKATEE KEWAT	176 1583137 SURAJ BARETH	1582568 SANDEEP MUKAR YADAW	1581967 NEETU NAMDEV	1581507 NISHA RATHORE	1581245 YOGENDRA KUMAR PATEL	Student Name
Male	Female	Female	Female	Female	Male 💉	Female	Female	Female	Female	Female	Female	Female	Male	Male	Female	Female	Male	Gender
B. Sc./Science/I	B. Sc./Science/I	B. Com./Commerce/I	B. Sc./Science/I	B. A./Arts/I	B. Sc./Maths/I	B. Sc./Science/I	B. Sc./Science/I	B. Com./Commerce/I	B, Sc./Science/I	B. Com./Commerce/I	B. A./Arts/I	B. Sc./Science/I	B. A./Arts/I	B.Sc./Maths/I	B. Com./Commerce/I	B. Com./Commerce/I	B. A./Arts/I	Course
Fresh	Fresh	Fresh	Fresh.	Fresh	Fresh	Fresh-	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Туре
9	9	9	9	9	9	9	. 9	9	9	9	9	9	9	9	9	9	9	No. of Month
. 55	.70	70	- 70	70	55	70	70	70	, 70	. 70	70	70	55	÷ 55	* 70	70	55	Rate
495	630	630	- 630	630	495	630	630	630	630	630	630	630	495	495	630	630	495	Maintenence Allowance
135	0	0	- 0	0	115	- 0	0	0	0	0	0	0	115	-115	0	0	115	Tuition Fee
1782	1782	1722	1782	1722	1782	1782	1782	1722	1782	1722	1722	1782	1722	1782	1722	1722	1722	Other Fee
1917	1782	1722	1782	1722	1897	. 1782	1782	1722	1782	1722	1722	1782	1837	1897	1722	1722	1837	Total Fee
2412																	2332	on Fee Other Fee Total Fee Total Amount

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected, 39 scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place :

(Signature & Seal of Head of the Institution)
Name (Capital Leters): R. Post Graduate College
Name (Capital Leters): R. Post G

Page 11/30

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Sanction Number: N/8/4075/3/10/89516 Sanction Date: 30/03/2019

State:

Government of Chhattisgarh

2117	/161	1/82	135	495	55		9	Fresh	cience/I	Male B. Sc./Science/I	Male	U	IN KIM	KDICHN	1503036 KDISHNIA KIMA
241	7047	1100	1												
Fotal Amount	Total Fee	Other Fee	tion Fee	ence Tuit	Maintena Allowa	Rate	No. of Month	Type	Course		Gender	it Name	Studen	- C	lication I
		s Type : Fresi	pplications	Ap								Academic Year: 2018-19	mic Year	Acade	

Application ID Student Name % 1583926 KRISHNA KUMAR % 1583935 TULSI DEWANGAN & 1592108 JYOTSNA KEWAT	Gender Male B. Sc./Science/I Female B. Com./Commerce/I Female B. A./Arts/I	Type Fresh Fresh Fresh	No. of Month 9	Rate 55 70 70 75	Maintenence TL Allowance 495 630 630	135 0 0		Other Fee 1782 1722 1722	Inintenence Tuition Fee Other Fee Total Fee
	(Fresh	9	70		630		0 1722	0 1722
67 1592241 AMIT ** KUMAR	Male 3 B. Com./Commerce/I ->	Fresh	Æ,	55		495	*	. 115 1722	. 115 1722
and the	Male B. A./Arts/I	Fresh	9	55		495	495 115		115
1592271 KHUSHBOO RANI DEWANGAN	GAN Female B. Sc./Computer Science/I	Fresh	9	70		630	630 0		0
1592356 KHUMAN SHRIVAS	Male	Fresh	9	55		495	495 115		115
	Female B. Sc./Science/I	Fresh	9	70		630	630 1 0		0
,	Female B. A./Arts/I	Fresh	9	70		630	630 0	0	0 1722
	DAV Male B, Sc./Maths/I	Fresh	9	55		495	495 115	115	115 1782
74 1583870 RESHMA DEWANGAN	Female B. A./Arts/I	Fresh	9	70		630	630 0	0	0 1722
1583924 HEMLATA PATEL	Female B, Sc./Science/I	Fresh	9	70		630	630 0	0	0 1782
156 1583931 SHWETA KASHYAP	Female B. Com./Commerce/I	Fresh	9	70		630	630 0	0	0 1722
1592247 KAMNI RATHORE	Female B.A./Arts/I	Fresh	9	70		630	630 0	0	0 1722
	Female B. Sc./Maths/I	Fresh	9	70		630	10.	. 0	0 1782
1552159 RAJU RAJBHAR	Male B. Sc./Botany/I	Fresh	9	55		495	495 135	135	135 1782
1552844 GAYATRI BARETH	Female B. A./Arts/I	Fresh	9	70		630		0	0 1722
1552918 TULSI PRASAD PATEL	Male B. Sc./Maths/I	Fresh	9	55		495	495 115		115

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place: Date:

HAMPA (C.G.) Graduate College

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4075/3/10/89516

Applications Type: Fresh

Sanction Date:

30/03/2019

		Academic Year: 2018-19						To the second se	3		
Applic	Application ID	Student Name	Gender Course	Type	No. of Month	Rate	Maintenence Allowance	Tuition	Fee Other Fee	Total Fee	Total Amount
NON	1553497	1553497 PURNIMA BARETH	Female B. A./Arts/I	Fresh	9	70	630	0 0	1722	1722	2352
29	1553541	1553541 YUVRAJ DEWANGAN	Male B. Com./Commerce/I	e/I Fresh	9	55	495	5 115	1722	1837	2332
202	1553621	1553621 KEKTI KUMARI SAHU *	Female B. A./Arts/I	Fresh	9	70	630	0 0	* 1722	1722	2352
707		1554622 BINDIYA SAHU	(Fresh •	9	70	. 630	0 . 0	• 1782	1782	₹ 2412
000		SAN	,	Fresh	9	70	630	0 . 0	1782	1782	2412
2007	1554276	1554276 PARMESHWAR KAIWART	Male B. Sc./Botany/I	Fresh	9	55	495	5 135	1782	1917	2412
00	1554702	1554702 KAMLESH BARETH	Male B. Sc./Botany/I	Fresh	9	55	495	5 135		1917	2412
1 0	1555452	1555452 USHA DEWANGAN	Female B. A./Arts/I	Fresh	. 9	70	630	0	1722	1722	2352
	1555751	1555751 NISHA DEWANGAN		Fresh	9	70	630	0	1722	1722	2352
1 1	1555842	1555842 SOBH DEV	Male B. A./Arts/I	Fresh	9	55	495	5 115	1722	1837	2332
1 1	1555915	1555915 LAXMIN BARETH	Female B. A./Arts/I	Fresh	9	70	630	0	1722	1722	2352
4 14	1556233	1556233 JITENDRA KUMAR		Fresh	9	100	_ 900	0144	1801	1945	2845
יו בנט		1556448 PREM KUMAR		Fresh	9	55	495	115	1722	1837	2332
1 1		1557294 KUSUMLATA DEWANGAN	le	Fresh	9	70	630	0	1722	1722	2352
250	- 3	1557529 HEMIT KUMAR	Male B. A./Arts/I	Fresh	. 9	55	. 495)5 115		1837	2332
210	- 1	1557626 LAXMINARAYAN DEWANGAN	Male B. Sc./Maths/I	Fresh	9	55	495)5 115	1782	1897	
Z :	1558831	1558831 SANTRAM YADAV	Male B. Sc./Science/I	Fresh	. 9	55	495)5 135	. 1782	1917	
in in	1558871	2) 1558871 KUSH KUMAR KEWAT	Male B. Sc./Maths/I	Fresh	9	55	495)5 115	1782	1897	2392

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

(Signature & Seal of Head of the Institution of the Name (Capital Leters), p. A. (C. G.)

Page 13/30

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4075/3/10/89516

Sanction Date: 30/03/2019 Applications Type: Fresh

					He can discount to the				THE REAL PROPERTY.		Total Amount
Applica	Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	-	lition Fee Other Fee	10101	lotal Fee Lotal Amount
	1560987 KSHAMA DEWANGAN	Female B.	B. Sc./Maths/I	Fresh	9	70	630	0	1782	1782	2412
220	TOOOSON WOLINIA DEAADINGSIN	1				1			1787	1917	2412
j j	1561029 VISHAL KUMAR KASHYAP	Male K B.	B. Sc./Science/I	Fresh	9	25			70/1	1701	
4	1561039 HAR NARAYAN BARETH	Male M.	M. A./English/I	Fresh	9	, 100	900	0 144	1801	1945	2845
V.	1561283 AARTI BARETH	le .	A./Arts/I	Fresh	9	•; 70	630	0 0	1722	• 1722	2352
	TOTAL STATE OF THE	Fomalo M	M Com /ARST/II	Fresh	9	120	1080	0	1701	1701	2781
277	1301//3 AARADHANA SONI		Complete Contract		,		-		1901	1045	2845
225	961543 NITESHCHANDRA SAHU	Male M.	M. A./English/I	Fresh	9	100	000		TOOT	1373	0 0 0
100	1032006 GAJANAN KUMAR DEWANGAN	Male	M. A./English/I	Fresh	9	100	900	0 144	1801	1945	2845
- '	1070938 ANSHIKA YADAW	Female	M. Sc./Mathematics/I	Fresh	9	. 110	990	0 0	1851	1851	2841
0	1109998 nootan karsh		M. Sc./Mathematics/I	Fresh	9	100	900	0 144	1851	1995	2895
	THE POONAM DEWANGAN	Eomalo M	M Sc /Mathematics/I	Fresh	9	110	990	0	1851	1851	2841
	THEORY COMPANY COMPANY		M A /Sociology/T	Frech	9	110	990	0	1801	1801	2791
200	TITO/33 VIIII Saligita Siliyas	· cindic			-		The second named in column 2 is not the second named in column 2 i	-		3000	210
(62	1110809 RAJ KUMAR SAHU	Male PG	PGDCA/Computer Application/I	Fresh	9	100	900	0 144	2141 -	2285	2300
200	1111277 SAVITA DEWANGAN	Female M.	M. A./Sociology/I	Fresh	9	110	990	0	1801	1801	2791
e) (s	1111517 LAWKESH KUMAR PATEL	Male M.	M. A./English/I	Fresh	9	100	900	0 144	1801	1945	2845
1 (THE PARTY OF THE P	D	M A /Sociology/I	Fresh	9	110	990	0	1801	1801	2791
180	TITOUD CLAY COLOR		A (Codiclosu/T	E Coch	٥	110	0990	0	1801	1801	2791
233	1115245 NEEL NOMARI	I CITIZIC VIS.	in of porionally						1801	1945	2845
14.	1111072 RUKHMANI DEWANGAN	Female M.	M. A./Pol. Science/I	Fresh	9		0	144	1001		

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

(Signature & Seal of HeaP of the Institution)
Name (Gapwal Institut R. Post Graduate College
CHAMPA (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4075/3/10/89516 Sanction Date: 30/03/2019

Applications Type: Fresh

		1,01		750	00	9	Fresh	B. Sc./Maths/I	Female V	257 1542848 SANNU YADAV	25 W 15
2392	1897	1787	115	100	70	ı v	Fresh	B. A./Arts/I	Female	1542773 GEEŢA SAHU	753 15
2352	1722	1722	0	630	70,	, u	Fresn	B. Sc./Science/1	Female	1542717 AANCHAL DEWANGAN	252 15
2412	1782	1782	0	630	70		riesii	B, Com./Commerce/1	Male	1542619 TINKU KHATKI	25) 15
- 2332	1837	1722	. 115	. 495	55	0	Trock	B. Sc./Mains/1	Female	1542502 NANDANI YADAV	2500 15
2412	1782	1782	0	630	70	٥	T COST	D. C. Martin	Cilidic	15423US NISTIA BAKETTI	215 13
2552	1/22	1722	0	630	70	9	Fresh	B. A./Arts/I	Female	ASSOC NICHA BARFIH	
2567	77/1	1/22	0	630	70	. 9	Fresh	B. A./Arts/I	Female ~	1569417 PUSHPA KUMARI	
Carc	1777	1777	, ,	795		9	Fresh	B. A./Arts/I	Male <	1573739 JK RATHOR	DUT 15
2332	1837	1777	115	405	7 7	,		B.A./AITS/1	Female ~	1569399 LAXMI KUMARI	246 15
2352	1722	1722	0	630	70	0	Eroch	or colored .	3	15693/1 SUSTINA NUMBER	545 15
2352	1722	1722	0	630	70	9	Fresh		Female	CICLIMA VIIMABT	
1	70/1	78/1	c	630	70	9	Fresh	B. Sc./Maths/I	Female	1569317 SHARDA MÀHANT	
2412	1707	1707			ľ	v	Fresh	B. Sc./Computer Science/1	Male	1569300 PUSHPENDRA KUMAR	プレ3 15
2392	1897	1782	115	495	n n			B, 3c/Jocience/1	remaie	1569102 SADHANA YADAV	249 15
2412	1782	1782	0	630	70	9	Fresh	B Sc /Science/I		SOCIO POCO POCO POCO POCO POCO POCO POCO	
2117	1/82	1/82	0	630	70	9	Fresh	B. Sc./Science/I	Female	1560050 KATAI DEWANGAN	
7417	70/1	1/84		÷ 630	70	9	Fresh	B. Sc./Maths/I •	Female _	1569003 AASTHA RATHORE	
2412	1707	1101		490	00	9	Fresh	B. Com./Commerce/I	Male	1568996 SOHAG LAL SAHU	
* 2332	1837	1722	115	* 400	1		LICOL	B. Sc./Maths/1	Female	1568955 SEEMA RATHORE	238 156
2412	1782	1782	0	630	70	9	Froch	D C- /M-th-/T	1	OOTO DISTINCTIVE CONTRACTOR	10/ 100
2412	1782	1782	0	630	70	9	Fresh	B. Sc./Science/I	Female V	1568010 RHIMSENI DHIWAR	
	Fee Other ree Total ree Total Amount	omer ree	uition Fee	Maintenence Allowance	Rate	No. of Month	Type	Соштѕе	Gender	n ID Student Name	Application ID
Teffed Auromat										Academic rear . 2010 10	

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

(Signature & Seal of Head of the Institution),
Name (Sanital Letays) R. Post Graduate Col

CHAMPA (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19 Applications Type: Fresh

Sanction Number: N/8/4075/3/10/89516

State:

Government of Chhattisgarh

Sanction Date:

30/03/2019

		7 7 7 1 1													
Applic	Application ID	Student Name	Gender	*	Course	Туре	No. of Month	Ra	Rate	laintenence 1 Allowance	Tuition	Fee Ot	Fee Other Fee	Total Fee	Total Fee Total Amount
236	1543007	1543007 NITESHWARI KUMARI SAHU	Female	B.	B. A./Arts/I	Fresh	9		70	630		0	1722	1722	2352
750	1542980	1542980 GEETA DEWANGAN	Female	B.	B. Sc./Maths/I	Fresh	9		55	495		115	1782	1897	2392
	1543034	1543034 ANIL KUMAR *	Male	B.	B. A./Arts/I	Fresh *	9		55	495		115	1722	1837	2332
1	1543060	1543060 POONAM PATEL	Female	B.	B. A./Arts/1	Fresh •	9		70 🖈	630		.9	1722	1722	2352
550	1543083	_	Female	В.	B. A./Arts/I	Fresh	9		70	630		0	1722	1722	2352
1	1543100	1543190 MANTSH KIIMAR	Male	B	B. Sc./Science/I	Fresh	9		55	495		135	1782	1917	2412
266	מברכים	DRAMII A DATE	Female	D.	B A /Arts/I	Fresh	9		70	630		0	1722	1722	2352
26)	OC7CHCT	TOHOZOU FRANKLA FAILL	Cition	1			,		n	405		115	1,722	1837	2332
262	1543283	1543283 VAIBHAV DEWANGAN	Male	in in	B. Com./Commerce/1	riesii	9		, i					1	כזכר
263	1543399	1543399 SHASHILATA DEWANGAN	Female	3 B.	B. A./Arts/I	Fresh	9		70	630		0	1722	1/22	2332
266	1543469	1543469 DHANRAJ SAHU	Male	В.	B. Sc./Science/I	Fresh	9		55	495		115	1782	1897	2392
300	1543462	1543462 INDU KUMARI SHRIWAS	Female	18	B. Com./Commerce/I	Fresh	. 9		70	630		0	1722	1722	2352
000	1543495	1543495 ROSHAN KUMAR DEWANGAN	Male	B.	B. Sc./Computer Science/I	Fresh	9		55	495		115	1782	1897	2392
1000	1543150	1543150 VIJAY KUMAR PATEL	Male	B.	B. Sc./Science/I	Fresh	9		55	495		135	1782	1917	2412
370	1543233	1543233 SANJAY KUMAR DEWANGAN	Male	B.	B. Sc./Science/I	Fresh	9		55	495		135	1782	1917	2412
300	1543450	1543450 RAJU LAL	Male	5	B. Sc./Science/I	Fresh ·	. 9		55 -	495		135	-1782	1917	. 2412
1 1	1543498	1543498 GAJENDRA KUMAR SHRIWAS	Male	B.	B. Sc./Computer Science/I	Fresh	9		55	495		115	1782	1897	2392
2/7	1543720	1543720 LAXMI NARAYAN YADAW	Male	B.	B. A./Arts/I	Fresh	9		55	495		115 .	1722	1837	2332
277	1544811	277 1544811 SONALI RATHORE	Female	B.	Female B. Sc./Science/I	Fresh	. 9	•	70	630		0	1782	1782	2412

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place: Date:

> (Signature & Seal of Head of the Institution) College Name (Capital Leters):

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4075/3/10/89516

Sanction Date: 30/03/2019 Applications Type: Fresh

1547326 1546226 KRITESH KUMAR DEWANGAN Male B. Com,/Commerce/I Fresh 9 55 495 115	Applica	Application ID Student Name	Gender	Соигѕе	Type	No. of	Rate	Maintenence Allowance	ruition Fee	Other Fee	Fee Other Fee Total Fee	Total Amount
1547180 MIT KUMAR SHRIVAS Male B. Com./Commerce/I Fresh 9 55 495 154471 HEMAN KUMAR PATEL Male B. Com./Commerce/I Fresh 9 55 495 1545258 SAGAR PATEL Male B. Sc./Science/I Fresh 9 55 495 1545258 SAGAR PATEL Male B. Sc./Science/I Fresh 9 55 495 1545258 SAGAR PATEL Male B. Sc./Arts/I Fresh 9 55 495 1545421 HEMAN KUMAR SHRIVAS Male B. Sc./Arts/I Fresh 9 55 495 1545421 HEMAN KUMAR KAMLESH Male B. Sc./Matts/I Fresh 9 55 495 1545421 HEMCHAND DEWANGAN Male B. Sc./Matts/I Fresh 9 55 495 1551353 ANISHA YADAV Female B. Sc./Matts/I Fresh 9 55 495 1551353 ANISHA YADAV Female B. Sc./Matts/I Fresh 9 55 495 1551353 ANISHA YADAV Male B. Sc./Matts/I Fresh 9 55 495 1551364 KRISHN DEWANGAN Male B. Sc./Matts/I Fresh 9 55 495 1551364 SUSHMA KUMAR DEWANGAN Male B. Sc./Matts/I Fresh 9 55 495 1551364 SUSHMA KUMAR TAMBOLI Male B. Sc./Science/I Fresh 9 55 495 1551364 SATYAM KUMAR TAMBOLI Male B. Sc./Science/I Fresh 9 55 495 495 1551364 SATYAM KUMAR TAMBOLI Male B. Sc./Science/I Fresh 9 55 495 4	72	1626236 KBITECH KIJMAD DEWANGAN		. Com./Commerce/I	Fresh		55	495	115	1722	1837	2332
1544771 HEMAN KUMAR PATEL Male B. Com/Commerce/I Fresh 9 55 495 1544271 HEMAN KUMAR PATEL Male B. Sc./Science/I Fresh 9 55 495 1545228 SAGAR PATEL Male B. Sc./Science/I Fresh 9 55 495 1545228 SAGAR PATEL Male B. Sc./Science/I Fresh 9 55 495 1545228 SAGAR PATEL Male B. A/Arts/I Fresh 9 55 495 1545251 KHEMCHANID DEWANIGAN Male B. A/Arts/I Fresh 9 55 495 1551353 ANIT KUMAR KAMLESH Male B. Sc./Maths/I Fresh 9 55 495 1551353 ANIT KUMAR KAMLESH Male B. Sc./Maths/I Fresh 9 55 495 1551363 ANIT KUMAR DEWANIGAN Male B. Sc./Maths/I Fresh 9 55 495 1551364 KRISHN DEWANIGAN Male B. Sc	0	TOTOCKO WITH KI MAD AND TOTOCK		A./Arts/I	Fresh	9	55	495	115	1722	1837	2332
1544471 Heman Kumar Patiel Male B. Sc./Science/I Fresh 9 55 495 1545258 Sagar Patiel Male B. Sc./Science/I Fresh 9 55 495 1545258 Sagar Patiel Male B. A./Arts/I Fresh 9 55 495 1547691 RANU DEWANGAN Male B. A./Arts/I Fresh 9 70 630 1551353 AMIT KUMAR KAMILESH Male B. Sc./Maths/I Fresh 9 70 630 1551353 AMIT KUMAR KAMILESH Male B. Sc./Maths/I Fresh 9 70 630 6	77	TOTAL POPULATION OF THE PROPERTY OF THE PROPER		Com /Commonto/T	Frech	9	55	495	115	1722	* 1837	2332
1545258 SAGAR PATEL Male B. Sc./Science/I Bresh 9 55 495 1545421 PURUSHOTTAM SAHU Male B. A./Arts/I Fresh 9 55 495 1547691 RANU DEWANGAN Female B. A./Arts/I Fresh 9 55 495 1547691 RANU DEWANGAN Male B. A./Arts/I Fresh 9 55 495 1549921 KHEMCHAND DEWANGAN Male B. Sc./Maths/I Fresh 9 55 495 1550413 AMIT KUMAR KAMLESH Male B. Sc./Maths/I Fresh 9 55 495 1551253 ANISHA YADAV Female B. Sc./Maths/I Fresh 9 55 495 1551254 LALA RAM Male B. Sc./Maths/I Fresh 9 55 495 1561033 GOPAL DEWANGAN Male B. Sc./Maths/I Fresh 9 55 495 1564624 KRISHN DEV SAHU Male B. A./Arts/I <td< td=""><td>9</td><td>1544471 HEMAN KUMAR PATEL</td><td>5</td><td>, com,/commerce/1</td><td>1 631</td><td></td><td>1 (</td><td></td><td>4</td><td>1707</td><td>1</td><td></td></td<>	9	1544471 HEMAN KUMAR PATEL	5	, com,/commerce/1	1 631		1 (4	1707	1	
1545421 PURUSHOTTAM SAHU Male B. A./Arts/I Fresh 9 55 495 1547691 RANU DEWANGAN Female B. A./Arts/I Fresh 9 70 630 1547691 RANU DEWANGAN Male B. Com./Commerce/I Fresh 9 70 630 1550413 AMIT KUMAR KAMLESH Male B. Sc./Maths/I Fresh 9 55 495 155135 ANISHA YADAV Female B. A./Arts/I Fresh 9 55 495 155125 LALA RAM Male B. Sc./Maths/I Fresh 9 55 495 1551033 GOPAL DEWANGAN Male B. Sc./Maths/I Fresh 9 55 495 1551436 KRISHN DEV SAHU Male B. Sc./Maths/I Fresh 9 55 495 1551436 KRISHN KUMAR DEWANGAN Male B. Com./Commerce/I Fresh 9 55 495 1551436 RAJU DEWANGAN Male B. Sc./Science/I <td>7</td> <td></td> <td>5</td> <td>. Sc./Science/I</td> <td>Firesh</td> <td></td> <td>55</td> <td>495</td> <td>. 135</td> <td>1/82</td> <td>\$ 1917</td> <td></td>	7		5	. Sc./Science/I	Firesh		55	495	. 135	1/82	\$ 1917	
1477691 RANIU DEWANGAN Female B. A./Arts/I Fresh 9 70 630 1549521 KHEMCHAND DEWANGAN Male B. Com./Commerce/I Fresh 9 55 495 1550413 AMIT KUMAR KAMLESH Male B. Sc./Maths/I Fresh 9 55 495 155135 ANISHA YADAV Female B. A./Arts/I Fresh 9 55 495 155125 LALA RAM Male B. Sc./Maths/I Fresh 9 55 495 1551033 GOPAL DEWANGAN Male B. Sc./Maths/I Fresh 9 55 495 1564624 KRISHN DEV SAHU Male B. Sc./Maths/I Fresh 9 55 495 1551364 SUSHMA KUMAR DEWANGAN Male B. Com./Commerce/I Fresh 9 55 495 1551436 RAJU DEWANGAN Male B. Sc./Science/I Fresh 9 55 495 1551436 RAJU MAR B. Sc./Science/I Fresh<	1	1545421 PURUSHOTTAM SAHU	(. A./Arts/I	Fresh	9	55	495	115	1722	1837	2332
1549521 KHEMCHAND DEWANGAN Male B. Com,/Commerce/I Fresh 9 55 495 1550413 AMIT KUMAR KAMLESH Male B. Sc./Maths/I Fresh 9 55 495 1551353 ANISHA YADAV Female B. A/Arts/I Fresh 9 70 630 1551255 LALA RAM Male B. Sc./Maths/I Fresh 9 70 630 1561033 GOPAL DEWANGAN Male B. Sc./Maths/I Fresh 9 55 495 1564624 KRISHN DEV SAHU Male BJMS/Bachelor of Journlism Fresh 9 55 495 1568176 HITESH KUMAR DEWANGAN Male B. Com./Commerce/I Fresh 9 55 495 1551349 SUSHMA KUMARI Female B. A/Arts/I Fresh 9 55 495 155149 SATYAM KUMAR TAMBOLI Male B. Sc./Science/I Fresh 9 55 495 1552085 RAVI KUMAR B. Sc./Maths/I	3	1547561 BANII DEWANGAN	(A./Arts/I	Fresh	9	70	630	0	1722	1722	2352
1549521 KHEMULRAND DEWANDAN Pide B. Sc./Maths/I Fresh 9 55 495 1550413 ANIT KUMAR KAMLESH Male B. A./Arts/I Fresh 9 70 630 630 1551255 LALA RAM Male B. Sc./Maths/I Fresh 9 55 495 630	d	POTOST POTOS CLASSICALIS		Com /Commerce/I	Fresh	9	55	495	115	1722	1837	2332
1550413 AMIT KUMAR KAMILESH Male B. A./Arts/I Fresh 9 70 630 1551255 LALA RAM Male B. Sc./Maths/I Fresh 9 70 630 1551255 LALA RAM Male B. Sc./Maths/I Fresh 9 55 495 1561033 GOPAL DEWANGAN Male B. Sc./Maths/I Fresh 9 55 495 1564624 KRISHN DEV SAHU Male BJMS/Bachelor of Journlism Mass Communication/I Fresh 9 55 495 1568176 HITESH KUMAR DEWANGAN Male B. Com./Commerce/I Fresh 9 55 495 1551364 SUSHMA KUMARI Female B. A./Arts/I Fresh 9 55 495 155149 SATYAM KUMAR Male B. Sc./Science/I Fresh 9 55 495 1552085 RAVI KUMAR Male B. Sc./Science/I Fresh 9 55 495 1552085 RAVI KUMAR Male <td< td=""><td>07</td><td>TOTOGET MILLIAM DESCRIPTION</td><td></td><td>Co (Matho/T</td><td>Frach</td><td>9</td><td>55.</td><td>495</td><td>135</td><td>1782</td><td>• 1917</td><td>2412</td></td<>	07	TOTOGET MILLIAM DESCRIPTION		Co (Matho/T	Frach	9	55.	495	135	1782	• 1917	2412
1551353 ANISHA YADAV Female B. A./Arts/I Fresh 9 70 030 1551255 LALA RAM Male B. Sc./Maths/I Fresh 9 55 495 1561033 GOPAL DEWANGAN Male B. Sc./Maths/I Fresh 9 55 495 1564624 KRISHN DEV SAHU Male BJMS/Bachelor of Journlism Mass Communication/I Fresh 9 55 495 1568176 HITESH KUMAR DEWANGAN Male B. Com./Commerce/I Fresh 9 55 495 1551364 SUSHMA KUMAR TAMBOLI Male B. Sc./Science/I Fresh 9 55 495 1552085 RAVI KUMAR Male B. Sc./Science/I Fresh 9 55 495 1552085 RAVI KUMAR Male B. Sc./Science/I Fresh 9 55 495	C	1550413 AMIT KUMAR NAMEEDI	,	, ord many +		>	70	630		1700	1722	2352
1551255 LALA RAM Male B. Sc./Maths/I Fresh 9 55 495 1561033 GOPAL DEWANGAN Male B. Sc./Maths/I Fresh 9 55 495 1564624 KRISHN DEV SAHU Male BJMS/Bachelor of Journlism Mass Communication/I Fresh 9 55 495 1568176 HITESH KUMAR DEWANGAN Male B. Com./Commerce/I Fresh 9 55 495 1551364 SUSHMA KUMARI Female B. A./Arts/I Fresh 9 70 630 1551449 SATYAM KUMAR TAMBOLI Male B. Sc./Science/I Fresh 9 55 495 1552085 RAVI KUMAR Male B. Sc./Maths/I Fresh 9 55 495	00	1551353 ANISHA YADAV	(. A./Arts/I	Fresh	9	0	000			1007	
1561033 GOPAL DEWANGAN Male B. Sc./Maths/I Fresh 9 55 495 1564624 KRISHN DEV SAHU Male BJMS/Bachelor of Journlism Male Fresh 9 55 495 1568176 HITESH KUMAR DEWANGAN Male B. Com./Commerce/I Fresh 9 55 495 1551364 SUSHMA KUMARI Female B. A./Arts/I Fresh 9 70 630 1551449 SATYAM KUMAR TAMBOLI Male B. Sc./Science/I Fresh 9 55 495 1552085 RAVI KUMAR Male B. Sc./Maths/I Fresh 9 55 495	2	1551255 LALA RAM	<	. Sc./Maths/I	Fresh	9	55	495	1115	78/1	1097	
1564624 KRISHN DEV SAHU Male BJMS/Bachelor of Journlism Mass Communication/I Fresh 9 55 495 1568176 HITESH KUMAR DEWANGAN Male B. Com./Commerce/I Fresh 9 55 495 1551364 SUSHMA KUMARI Female B. A./Arts/I Fresh 9 70 630 1551436 RAJU DEWANGAN Male B. Sc./Science/I Fresh 9 55 495 1551449 SATYAM KUMAR TAMBOLI Male B. Sc./Science/I Fresh 9 55 495 1552085 RAVI KUMAR Male B. Sc./Maths/I Fresh 9 55 495	n n	1561033 GOPAL DEWANGAN	<	3. Sc./Maths/I	Fresh	9	55	495	115	1/82	7681	
1568176 HITESH KUMAR DEWANGAN Male B. Com./Commerce/I Fresh 9 55 495 1551364 SUSHMA KUMARI Female B. A./Arts/I Fresh 9 70 630 1551436 RAJU DEWANGAN Male B. Sc./Science/I Fresh 9 55 495 1551449 SATYAM KUMAR TAMBOLI Male B. Sc./Science/I Fresh 9 55 495 1552085 RAVI KUMAR Male B. Sc./Maths/I Fresh 9 55 495	78	1564624 KRISHN DEV SAHU	(3JMS/Bachelor of Journlism	Fresh	9	55	495	115	1742	1857	
1551364 SUSHMA KUMARI Female B. A./Arts/I Fresh 9 70 630 1551364 SUSHMA KUMARI Male B. Sc./Science/I Fresh 9 55 495 1551449 SATYAM KUMAR TAMBOLI Male B. Sc./Science/I Fresh 9 55 495 1552085 RAVI KUMAR Male B. Sc./Maths/I Fresh 9 55 495	51	1568176 HITESH KUMAR DEWANGAN	1	3, Com./Commerce/I	Fresh	9	55	495	115	1722	1837	
1551436 RAJU DEWANGAN Male B. Sc./Science/I Fresh 9 55 495 1551449 SATYAM KUMAR TAMBOLI Male B. Sc./Science/I Fresh 9 55 495 1552085 RAVI KUMAR Male B. Sc./Maths/I Fresh 9 55 495	3 6	1551364 SUSHMA KUMART	(3. A./Arts/I	Fresh	9	70	630	0	1722	1722	2352
1551436 RAUU DEWANGAN Male B. Sc./Science/I Fresh 9 55 495 1551449 SATYAM KUMAR TAMBOLI Male B. Sc./Science/I Fresh 9 55 495 1552085 RAVI KUMAR Male B. Sc./Maths/I Fresh 9 55 495	92	1001004 00011110 7001574		Co /Coiomo/T	Frach	9	55	495	135	1782	1917	2412
1551449 SATYAM KUMAR TAMBOLI Male B. Sc./Science/I Fresh 9 55 495 1552085 RAVI KUMAR Male B. Sc./Maths/I Fresh 9 * 55 495	188	1551436 RAJU DEWANGAN	3	s. Sc./Science/1	TICOLI	,	77	405	120		1917	
1552085 RAVI KUMAR Male B. Sc./Maths/I Fresh 9 55 495	(3)	1551449 SATYAM KUMAR TAMBOLI	<	3. Sc./Science/I	Fresh	9	55	495	133		1907	
	189.	1552085 RAVI KUMAR	<	3. Sc./Maths/I	Fresh	9	55	495	115	78/1	103/	

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signature & Seal of Head of the Institution)).
Name (Capital Leters)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

State: Government of Chhattisgarh

Sanction Number: N/8/4075/3/10/89516

Applications Type: Fresh Sanction Date: 30/03/2019

	2 90 1562136 OMPRAKASH DHIWAR		Application ID
777	AKASH DHIWAR		Student Name
M	Male		Gend
Mala B Sc /Maths/I	B. Sc./Science/I		er Course
Fresh	Fresh		Туре
9	9		No. of Month
55	55		Rate
495	495		Maintenence Tu Allowance
115	135	1	iition Fee C
1782	7/8/	1700	ther Fee
189/	727/	1017	Total Fee Tota
7557	2312	2412	al Amount

2332	183/	1722	117	100)					
71,72	78/1	78/1	0	₆₃₀	70	9		Fresh	Male B. Sc./Science/I	1519311 HIMAL KUMAR	
7,0	1707	TOOL	144	900	100	9		Fresh	Male M. A./Economics/I	1517025 DEVENDRA KUMAR YADAV	
2845	1045	1/8/	115	495	55	9	,	Fresh	Male B. Sc./Maths/I	1516190 -MOHAN LAL	
, 7397	1007	1707	115	495	55	9		Fresh	Male B, A./Arts/I	1515959 FIRAT RAM KAIWART	
7117	1027	1/82	0	630	70	9		Fresh	Female B. Sc./Science/I	1515567 JYOTI RATHORE F	
7117	1/82	1782	0	630	70 -	9	. 1	Fresh	Female B. Sc./Science/I		
2412	1782	1782	0	630	70	9	9	Fresh	Female B. Sc./Computer Science/I	H	1
2352	1722	1722	0	630	70	ų.	9	Fresh	Female B, A./Arts/I	7	
, 2352	1/22	1722	0	630	70	9	9	Fresh	Female B. A./Arts/I		in con
7007	1/22	1722	0	630	70	4	9	Fresh	Female & B. A./Arts/I	1568782 TÜLSI SANTOSH F	
4352	183/	1722	115	495	55		9	Fresh	Male B. A./Arts/I	1568599 MAHESH KUMAR	
7007	1837	1/22	115	495	55	9	9	Fresh	Male B. A./Arts/I	1568558 AADESH KUMAR	
16/7	TORT	1081	0	990	110	2	9	Fresh	Female M. A./Sociology/I	1567222 UPASANA RATHORE F	
\$200	183/	1732	115	• 495			9	Fresh	Male B. A./Arts/I -:	1564603 BHANU PRATAP	
7147	1/82	1/82	0	630	70		9	Fresh	Female B. Sc./Computer Science/I	1564561 NANCHAL RATHORE F	
2392	1897	1782	115	495	55		9	Fresh	Male B. Sc./Maths/I	Ź	
2412	1917	1782	135	495	55		9	Fresh	Male B. Sc./Science/I	1562136 OMPRAKASH DHIWAR	2 90 1562136
		CERT		wance	Allov	red E	Month	Type	Gender Course	Student Name	Application ID

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Date: Place:

(Signature & Seal of H Name (Capital Leters CHAMPA (C.G.)



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa



Sanction Number: N/8/4075/3/10/89516

State:

Sanction Date: 30/03/2019

Total F	1/82	1/82	0	630	70	9	Erech	E Mathe/T	
er Course Type No. of Rate Maintenence Tuition Fee Other Fee Total Fee Total Amou		1				To the second			
Applications of the second sec	- Color	Other Fee	uition Fee	laintenence Ti Allowance	Rate	No. of	Туре	Gender Course	lication ID Student Name
	1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-	o Type . The	Applications						Academic Year: 2018-19

36.	Application ID Student Name	Gender Course	type	Month	70.00	Allowance				
_	1523967 BHOOMIKA DEWANGAN	Female B. Sc./Maths/I	Fresh	9	70	630	0	1782	1782	
- 1	1522005 DIPESH DEWANGAN	Male B. Com./Commerce/I	Fresh	9	55	495	115	1722	183/	
. ,	1524207 BALDAU PATEL *	Male M. Com./ABST/I	Fresh*	9	100	900	144	1801	1945	
42 1	ST18317 NEERAI PATEL	Male B. Sc./Maths/I	Fresh •	9	55.	495	. 145	1782	1897	ě.
ш ,	AR K		r Fresh	9	55	495	115	2072	2187	
			1	D	52	495	115	1722	1837	
_	1521435 YUVRAJ DEWANGAN	Male B. Com./Commerce/1	i icaii		;	200	115	. 1787	1897	
_	1524070 BHUPENDRA SAHU . :	Male B. Sc./Science/I	Fresh .	, 9	55	495	ÇII.	70/11	1707	
_	1524236 DIPA KUMARI YADAV	Female B. A./Arts/I	Fresh	9	70	630	. 0	1/22	77.77	
	TO AND A CHAND DUTNING	Male R Sc /Maths/I	Fresh	9	55	495	115	1782	1897	
3)6	TOCALCIA CHICAGO CHARACTER	N.	Fresh	9	70	630	0	1722	1722	
_	1524251 SUMITINA VENAMAL	Citation & Citation and				000		2141	2141	
378	1524261 BABLI DEWANGAN	Female PGDCA/Computer Application/I	Fresh	9	110	066		1901	1801	1
_	1525725 SURUCHI RATHORE	Female M. Com./ABST/I	Fresh	9	110	990		1081	TOOT	
	THAS TEXTINA SPORCE	Male B. Sc./Maths/I	Fresh	9	55	495	135	1782	191/	
	COOP CIVILLY COURS		1	0	77	495	115	1722	1837	
	1528525 VICHITRA KUMAR DEWANGAN	Male B. Com./Commerce/I	Fresh	· ·	U)	100		יו נינדי	1837	
270	1528854 PARMANAND KASHYAP	Male B. A./Arts/I	Fresh	9	55	495		77/1	1007	
	TEST TO TACECHIMIAN DRACAD CAHIL	Male B. Com./Commerce/I	Fresh .	9	55	495	115	1/22	/cor	

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place: Date:

(Signature & Seal of Head of the Institution)
Name (Capital Leters): Post Graduate College

CHAMPA (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4075/3/10/89516

Sanction Date: 30/03/2019
Applications Type: Fresh

2392	189/	1782	115	495	55	9	Fresh	Male & B. Sc./Maths/I	1538486 ROSHAN SAHU	- 5
2002		1/22	115		55	9	Fresh	Male B. Com./Commerce/I	1537136 NANDKUMAR DEWANGAN	
2277	1027	78/1			70	9	Fresh	Female B. Sc./Science/I	1536276 BHUVANESHWARI PATEL	228 153
2412	1797	1707			0/	. 9	Fresh	Female B. A./Arts/I	1533890 GOURI SAHU	S37 153
2352	1733	1777	0 0		/0	9	Fresh	Female B. A./Arts/I	1533889 LEELA SAHU	336 153
2352	1700	1777		630	70	2 2	Fresh	Female B. A./Arts/I	1533064 UMA BHARTI DEWANGAN	335 153
2352	1777	1707	l	066	011	2	Fresh	Female M. Sc./Chemistry/I	1531624 SAHODARA KUMARI	334 153
7841	1851	1951	0 () 4	rresn	Female B. A./Arts/1	1525293 HAMLATA DEWANGAN	333 152
2352	1722	1722 -	0	029	70		1		TOCOCK MONINA NAROTI	332 132
2412	1782	1782	0	630	70	9	Fresh	Female R Sc /Botany/I	EOS3 MONIKA KARCH	
2352	1722	1722	0	630	70	. 9	Fresh	Female B. A./Arts/I	1524232 ANCHAL PATEL	
2332	. 184/	1722	115	495	; 55	9.	Fresh	Male . B. A./Arts/I	1538306 NARENDRA KUMAR	33.0 1538
1011	1001	TOOT	-		110	9	Fresh	Female VM. A./English/I	1537051 MADHU KUMARI GOSWAMI	829 1537
2791	1801	1001			0/	v	Fresh	Female B. Com./Commerce/I	1538051 POOJA RATHORE	328 1538
2352	1722	1700			70) :(1 1 1 1 1 1	remaie b. A./Arts/1	1533888 NISHA SAHU	327 153
2352	1722	1722	0	630	70	0.0	T Pooch			34
2352	1722	1722	0	630 .	70	9	Fresh	Female B. A./Arts/I	1533887 SUMAN SAHU	
2332	1837	1722	115	495	55	••	Fresh	Male B. Com./Commerce/I	1533866 UMESH KUMAR NAMDEW	327 1533
3185	2285	2141	144	900	100	9	Fresh	Male PGDCA/Computer Application/I	1533177 GHANSHYAM PRASAD	8.24 1533
		Other Fee	Tuition Fee	Maintenance Tuition Fee Other Fee Total Fee Total Fee Allowance	Rate	No. of Month	Туре	Gender Course	ID Student Name	Application ID
						# 100 A CONTINUE OF STREET				

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum otas 5.2.7.2.0ut of which Ks...... maintenance allowance and sanction and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

(Signature & Seal of Head of the Institution)
Name (Capital Leters): State of the Institution College (College)

Page 20/30

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

Government of Chhattisgarh

Applications Type:

Fresh

Sanction Number: N/8/4075/3/10/89516 Sanction Date: 30/03/2019

State:

Applica	Application ID	Student Name	Gender	Course	Type	No. of	Kate	Allow	nence lance	Allowance	Juliet 1 ac	9	
241	1538481	1538481 CHIDANAND SAHU	Male	B. Sc./Maths/I	Fresh	9	55		495	135	1782	1917	2412
	1539351	1539351 RAJU KASHYAP		B. A./Arts/I	Fresh	9	55		495	115	1722	1837	2332
	1540189	1540189 VARSHA DEWANGAN	Female	B. Sc./Science/I	Fresh	9	70		630	0	1782	1782	* 2412
N IZ	1540580	1540580 GEETANJALI SAHU	Female <	1	Fresh	9	70	3	630	. 0	1782	1782	÷ 2412
	1540946		Female		Fresh	9	70		630	0	1722	1722	2352
	1541007	1541007 REENA PATEI		B. Sc./Maths/I	Fresh	9	70		630	0	1782	1782	2412
1 6	1	CHITAN BARETU	Malo	BGDCA/Computer	Fresh	9	100		900	144	2141	2285	3185
400	CLITLCI	S C TOTALLO CHICINA PUNCHI		Application/I									
80 C B	1541299	348 1541299 AKSHAY KUMAR	Male	B. Sc./Maths/I	Fresh	9	55		495	135	1782	1917	2412
349	1498645	1498645 MITHLESH RATHORE	Female	PGDCA/Computer Application/I	Fresh	9	100		900	144	2141	2285	23185
350	1499043	350 1499043 CHANDRABHUSHAN DEWANGAN	Male	B. Com./Commerce/I	Fresh	9	55		495	115	1722	1837	2332
257	1499267	NEHA YADAW	Female	B. Sc./Science/I	Fresh	. 9	70	Ī	630	0	-1/82	1/82	2412
77	1499877	75 1499877 AASHISH KUMAR DEWANGAN	Male	B. Sc./Maths/I	Fresh	9	55		495	135	1782	191/	2412
478	1500009	7 1500009 AISHWARYA SAHU	Female	B. Com./Commerce/I	Fresh	. 9	70	,	630	0	1722	1722	2352
25.0	1500441	1500441 KHAGESHWAR BARETH	Male	M. Sc./Mathematics/I	Fresh	9	100		900	144	1851	1995	2895
N.	1500610	35 1500610 AMRIT LAL SHRIWAS	Male	B. Com./Commerce/I	Fresh	9	55		495	115	1722	1837	
25.58	1503193	35 6 1503193 LALEETA KUMARI	Female	B. Sc./Science/I	Fresh	9	70		630	0	1782	1/82	2412

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Res. 3.7.7.7.0 or of which ke. S. S. maintenance allowance and BSS compassibilition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place:

Seal of Head of the Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

N/8/4075/3/10/89516

Sanction Date: 30/03/2019

Sanction Number:

Applications Type: Fresh

							THE REAL PROPERTY OF THE PARTY			1
2412	1782	1782	0.	630	70	9	Fresh *	Female B. Sc./Maths/I	1511448 TANUJA DEWANGAÑ	
2412	1782	1782	0	630	70	9	Fresh	Female B. Sc./Maths/I	1506219 KRITIKA RATHORE	
2412	1782	1782	0	630	70	9	Fresh	Female B. Sc./Maths/I	1506037 ANNAPURNA YADAV	
2352	1722	1722	0	630	70	9	Fresh	Female B. A./Arts/I	1504618 PTIRI DEWANGAN	0
2332	1837	1722	115	495	55	9	Fresh	Male B. A./Arts/I	1504300 TARUN KUMAR SAHU	369 15
2392	1897	1782	115	495	-55	9	Fresh	Male B. Sc./Maths/I	1503865 SANTOSH KUMAR	3/47 15
3185	2285	2141	144	900	100	9	Fresh	Male PGDCA/Computer Application/I	3 2 1503440 SURYAKANT SONI	367 15
2352	1722	1722	0	630	70	9	Fresh	Female B. A./Arts/I	1500737 MANJU THAWAIT	
2845	1945	1801	144	900	100	9	Fresh	Male M. A./English/I	1507309 HEERA KUMAR	
2352	1722	1722	. 0	630	70	9	Fresh	Female B. A./Arts/I	1506202 KANTI SAHU . ;	3 6 15
2352	1722	1722	0	630	70	9	Fresh	Female B. Com./Commerce/I	3(4 1506174 NEETU CHANDRA	364 15
2412	1782	1782	0	630	70	9	Fresh	Female B. Sc./Maths/I	3€ 1506068 REENA RATHORE	36 2 15
2412	1917	1782	135	495	55	9	Fresh	Male B. Sc./Science/I	₹<# 1506010 MOTI LAL SAHU	3<# 15
2332	1837	1722	. • 115	495	- 55	9	Fresh	Male B. A: Arts/I	1504853 TRILOCHAN KUMHAR	
2332	1837	1722	* 115	495	55	9	Fresh	Male B. A./Arts/I	1504672 SUNDAR LAL *	
2412	1782	1782	0	630	70	9	Fresh	Female B, Sc./Maths/I	1504491 USHA DEWANGAN	37 % 15
2412	1782	1782	0	630	70	9	Fresh	Male B. Sc./Botany/I	1503749 ASHWANI KUMAR GADERIYA	151 65 E
	THE COLUMN TO COLUMN THE COLUMN T			Allowance	Šá iš	Month	Type	Gender Course	on ID Student Name	Application 10

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signature & Seal of Read of the Institution)

Name (Capital Leters): ost Graduate College

Name (Capital Leter

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category:

Institute Name: Govt. Collage M.M.R. Champa

Applications Type:

Sanction Number: N/8/4075/3/10/89516

State:

Government of Chhattisgarh

Sanction Date: 30/03/2019

Academic Year: 2018-19

								(
2332	1837	1722	115	495	55	9.	Fresh	B. A./Arts/I	Male	1512455 KARTIKESHWAR PATEL
	1/22	1/22	c	630	70	9	Fresh	ale B. A./Arts/I	Female	1512454 PUNAM KUMARI
77.57	1777	1782	0	630	70	9	Fresh	ale B. Sc./Science/I	Female	36% 1512451 VARSHA MANNEWAR
	1117	1417		990	110	, 9	Fresh	ale PGDCA/Computer Application/I	Female	38\$\frac{1}{3}\$1512448 ASHA KARSH
2121	21/1	1782	0	630	70	9	Fresh	ale B. Sc./Maths/I	Female	75 6 1512372 KHUSHBU CHANDRA
	1/82	1782	0	630_	70	9	Fresh	ale B. Sc./Science/I	- Female	1512292 AISHWARYA RATHORE
2412	1782	1782	0	630	70	9	Fresh	ale B. Sc./Science/I	Female	SE 1512267 NEHA KENWAT
2392	1897	1782	115	495	55	9	Fresh	B. Sc./Science/I	Male	1512261 DEEPAK KUMAR
2412	1782	1782	0	630	70	. 9	Fresh	ale B. Sc./Science/I	Female	1512281 RUKHMANI KARSH
2412	1782	1782	0	630	, 70	9	Fresh	alė B. Sc./Maths/I	Female	1512163 DEEPA DEWANGAN
2412	1/82	1782	0	630	. 70	9	Fresh	ale B. Sc./Maths/I	Female	1511958 JYOTI YADAV
7147	1/82	1782	0	630	70	9	Fresh	ale B. Sc./Maths/I	Female	1511812 SARITA DEWANGAN
7147	78/1	1/82	0	630	70	9	Fresh	ale B. Sc./Computer Science/I	Female	1510397 GAYATRI DEWANGAN
16/7	1081	1801 •	0	1066	110	• 9	Fresh	e M. A./Economics/I	Female	1509672 RAJKUMÁRI YADAV
7147	1/82	1782	0	630	70	, 9	Fresh	lle B. Sc./Science/I	Femåle	1506084 ANJU DEWANGAN
3120	1995	1851	144	1125	125	9	Fresh	M. Sc./Mathematics/I	Male	1504891 MANOJ KUMAR YADAV
2412	1782	1782	0	630	70	9	Fresh	le B. Sc./Maths/I	Female	1511678 ROSHNI DEWANGAN
				Allowance	News C	Month	ype	Gender Course	Ger	Application ID Student Name

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Date:

(Signature & S

Page 23/30

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4075/3/10/89516 Sanction Date: 30/03/2019

Applications Type: Fresh

	777/1	1/22	0	630	70	9	Frech	Econolis B A /Arts/I	7	14803CA KHII ECHWADI DEWANGAN	
+ 7357	183/	1722	115		55	9	Fresh	B. Com./Commerce/I	Male	Let 1480093 SOMNATH NISHAD	€ L 1480093
2002	183/	1/22	115	495	55	9	Fresh	B. A./Arts/I	Male	1479473 SATISH KUMAR SAHU	45 1479473
7557	1837	1/22	115	495	55	9	Fresh	B. A./Arts/I	Male	464 1479370 BUDESHWAR YADAV	cy 1479370
מכנים	1037	78/1	115	495	55	9	Fresh	B. Sc./Maths/I	Male	WES 1476700 PRAHLAD PATEL	23 1476700
7307	183/	1722	115	495	55	4. 9	Fresh	B, A./Arts/I	Male	LEZ 1478226 RUPESH KUMAR	2 1478226
2332	1837	1722	115	495	55	9	Fresh	B. A./Arts/I	Male	1475398 VIJAY KUMAR SEN	£, 6 1475398
2845	1945	1801	144	900	100	9	Fresh	M. A./Pol. Science/I	Male	1464664 AKASH WANI KARSH	1464664
2352	1722	1722	0	630	70	9	Fresh	B. Com./Commerce/I	Female	1464246 SAPNA YADAV	
. 2352	1722	1722	0	630	70 .	9	Fresh	B. Com./Commerce/I	Female	1514317 ROSHNI KASER	3 70 1514317
. 3131	2141	2141	0	. 990	110	9	Fresh	PGDCA/Computer Application/I • 3	Female	1514203 SUNITA BARETH	
2392	1897	1782	115	495	55	9	Fresh	B. Sc./Science/I	Male	1513595 CHANDRA KUMAR	1513595
2412	1782	1782	0	630	. 70	9	Fresh	B. Sc./Science/I	Female	1512453 KAJAL KUMARI KARSH	
* 2412	1782	1782		• 630	70 .	9	Fresh	B. Sc./Science/I	Female	1512308 SHIVANI RATHORE	
2412	1782	1782	0	630	70	9	Fresh	B. Sc./Maths/I	Male	1512307 SANTOSH PATEL	
2/91	1801	1801	0	990	110	9	Fresh	M. A./Economics/I	Female	1514096 SUKRITA KUMARI	
2412	1782	1782	0	630	70	9	Fresh	B. Sc./Science/I	Female	1512456 BHARTI SAHU	3-71 1512456
			5	Allowance	Malte	Month	lype	er Course	Gender	Student Name	Application ID

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of RB. C. 5.2. Out of which ks. 5.4. As maintenance allowance and RS. 2.3. Button and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

(Signature & See Alfof Head of the Institution) of legs Name (Capital Legs), IPA (C.G.)



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Sanction Number:

N/8/4075/3/10/89516 Government of Chhattisgarh

State:

Sanction Date:

30/03/2019

Applica	Academic Year: 2018-19 Student Name Gende	Gender	Course	Туре		No. of Month	Maintenen Allowand	Maintenence T	Maintenence T	Applications Type: Fresh Maintenence Tuition Fee Other Fee Total F
65%	1480403 SANJEEV SINGH RATHORE	Male	B. Sc./Maths/I	Fresh	9	55		495	495 115	495 115 1782
2 0	1482214 DIWAKAR KEWAT	Male	PGDCA/Computer	Fresh	9	100		900		900 144
	,	Mala	B Com /Commerce/I	Fresh	9	55		495		495 115
2/0	1482/40 DURGESH NUMAR DEVVANGAN	Lidic	D. Donny Commiscion	•		•				7777
	1483472 VRINDA YADAV	Female	Female B. A./Arts/I	Fresh	9	70			630	630 0 1/22
111	ANADAS DEEDTI SHBIMAS	Female	B. A./Arts/I	Fresh	9	7	70 6	0 630		630 0
211	4)7 1483928 DEEP IT STIKE	Cindic	The state of the state of the		2			405	405	405 135
1	1484491 VIRENDRA KUMAR	Male	B. Sc./Science/I	Fresh	9	U	55	495	495 133	495 135 1/02
3	ASSAAS BUACYA SUBEE	Female	Female B. Sc./Science/I	Fresh :	9	7	70 6	630	630 . 0 ;	630
Z'Z	1 1485443 BHAGIA SHKEE	Ciliaic	D. Oct octoring							

Declaration:

1489288 ANJULATA THAWAIT 1488496 BHUNESHWAR KARSH 1485427 YOGITA SAHU

Female

B. A./Arts/I B. A./Arts/I

Fresh Fresh Fresh Fresh

Female Female

B. Sc./Science/I

9 9

630

0 0

115

1722 1782

1837 1782 1722

630

1722

2352

9

55 70 70

70

630 495

0

1722

2352 2332 2412

B. A./Arts/I

PGDCA/Computer

Fresh

9

100

900

144

2141

2285

3185

Application/I

とうら

1483841 CHAIN KUMARI

シン

カラ

1491496 RITESH KUMAR

218

ປຸ ກ້າ 1489847 ASHWANI KUMAR DEWANGAN

Male Male

B. Com./Commerce/I

Fresh Fresh Fresh Fresh

9 9 9

55 70 55

115 144

495 630

115

0

1782

2412

1837

2332

9

100

900 495

2141 1722 1782 1722

2285 1837

3185 2332

PGDCA/Computer Application/I

Female

B. Sc./Maths/I B. Com./Commerce/I

1491822 PRAKASH VAISHNAV

WIC 1488782 ISHWAREE SAHU 1486376 TIKESH KUMAR 4 12 1485443 BHAGYA SHREE

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: Date:

(Signature & Seal of Head of the Institution) Name (Capital Leters) MPA (C. G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: N/8/4075/3/10/89516 Government of Chhattisgarh

Sanction Date : 30/03/2019 Sanction Number:

Applications Type: Fresh

2352	1/22	1722	0	0230	70	,						
2392	189/	1/82	115	495	55	, 9	Fresh	B. Sc./Computer Science/I	Male	1492307 VIJAY SAHU		hue
7007	183/	1/22	115	630	70	9	Fresh	B. Com./Commerce/I	Female	1493321 AMRITA DEWANGAN		NEG S
2352	. 1/22	1722	0	-630	- 70	, 9	Fresh	B. A./Arts/I	-Female	1493146 MEENA SAHU		328
2332	1837	1722	115	495	55	. 9	Fresh	B. A./Arts/I	Male	1492467 KISHAN DEWANGAN	1492467	رق
2352	1722	1722	0	630	70	9	Fresh	B. A./Arts/I	Female	1492418 KRISHNA DEVI GADARIYA	1492418	187
2352	1722	1722	-0	.630	70	9	Fresh	B. A./Arts/I	Female	1492404 REEMA SAHU	~ 90	الما
2352	1722	1722	0	630	70	9	Fresh	B. A./Arts/I	Female	1492387 TRIPTI SAHU		राज्य
2352	1722	1722	0	630	70	9	Fresh	B. A./Arts/I	Female	1492366 MAMTA DEWANGAN		(3)
2412	1782	1782	0	630	70	9	Fresh	B. Sc./Maths/I	Female	いろフ 1497346 MONA SAHU	1497346	(1)
2392	1897	1782	115	495	, 55	. 9	Fresh	B. Sc./Maths/I	Male	1498054 YOGESH KUMAR SAHU	- 4	73
2392	1897	1782	115	495	55	9	Fresh	B. Sc./Maths/I	Male	1492274 JITENDRA KUMAR SAHU		200
2332	1837	1722	115	495	55	9	Fresh	B. A./Arts/I	Male	425 1492184 SUMIT DEWANGAN	1492184	120
2/91	1801	1801	0	990	110	9	Fresh	M. A./History/I	Female	428 1492347 NISHA KUMARI	5 1492347	478
2845	1945	1891	. 144	900	100	. 9	Fresh	M. A./History/I	Male	1492328 VIKAS KUMAR YADAV	1492328	「スト
2412	1782	1782	0	630	70	, 9	Fresh	B. Sc./Science/I	Female	1492317 ANJANA DEWANGAN		220
2352	1722	1722	0	630	70	9	Fresh	B. Com./Commerce/I	Female	POOJA BARETH	1492235 POOJA	Par L
2412	1782	1782	0	630	70	9	Fresh	B. Sc./Science/I	Male	HEERA DAS	42 4 1489718 HEERA	200
	3	THE COME FEE TOWN TO THE	THICON THE	Allowance	Rate	No. of Month	Type	er Course	Gender	Student Name	Application ID	Appli

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Esc. 7.23.20 to which decimals maintenance allowance and sanction and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place: Date:

(Signature & Seal of Head of the Institution Name (Capital Leters) :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

cademic Year 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4075/3/10/89516 Sanction Date: 30/03/2019

Applications Type: Fresh

		Academic real . 2010-19						91.				T. 1 A.	
Applica	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate Ma	Maintenence Tu Allowance	fuition Fee Other Fee		Total Fee Total A	my 18301	l É
443	1493165	1493165 GIRDHARI LAL YADAV	Male	B. Com./Commerce/I	Fresh	9	55	495	115	1722	1837		2332
	1493548	1493548 PUSHPLATA DEWANGAN	TO 1	B. Com./Commerce/I	Fresh	9	70	630	0	1722	1722		2352
	1493912	1403012 MANJII KENWAT		B. Sc./Science/I	Fresh	9	70 *	630	0	1782	1782	,	2412
	10001	CONTYA CALII		B A /Arts/I	Fresh	9	70 •	630	0	1722	1722	.,	2352
S	CTOPPET	1464015 SUNITA SANO	- cilidic	0.0/2004	1 :		6	405	135	1782	1917		2412
ひとい	1496132	いりん 1496132 SHESHDHAR SHRIVAS	Male	B. Sc./Science/I	Fresh	9	55	495	100	70/1	ITCI		!
727	1494182	1494182 GEETESH KUMAR BARETH	Male	B. Sc./Maths/I	Fresh	9	55	495	115	1782	1897		2392
	1496888	1496888 DINKY DEWANGAN	Female	B. Sc./Computer Science/I	Fresh	9	70	630	0	1782	1782		2412
	1128757	1128757 MOHAN LAL YADAV	Male	M. A./Pol. Science/I	Fresh	9	100	, 900	144	1801	1945		2845
	1131174	1131171 USHA SAHU	Female V	M. Sc./Mathematics/I	Fresh	9	110	990	0	1851	1851		2841
	1131495	1131495 NEELAM RATHORE	Female	M. Sc./Mathematics/I	Fresh	9	110	990	0	1851	1851		2841
3	1138272	1138272 MANISHA SINGH	Female <	M. Com./ABST/I	Fresh	9	110	990	0	1801	1801		2/91
المرا	1141102	1141102 SAROJ KUMARI DEWANGAN	Female V	M. Sc./Chemistry/I	Fresh	9	- 110	990	0	1851	1851		2841
	1145678	1145678 ajay kumar kashyap	Male	PGDCA/Computer Application/I	Fresh	9	100	900	144	2141	2285		3185
Ha	1157048	1157048 dilesh kumar	Male	PGDCA/Computer Application/I	Fresh	, 9	100	, 900	144	2141	2285		3185
225	1161313	1161313 RUPA YADAV	Female V	M. A./Economics/I	Fresh	9	110	990	0	1801	1801	distanting of the last	16/7
1						0	100	900	144	1801	1945		2845

Declaration:

457 1162042 LEKHRAM KASHYAP

M. A./Pol. Science/I

Fresh

9

100

900

144

1801

1945

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Date: Place:

(Signature & See of Head of the Institution)

Name (Capital Leter&HAMPA (C. G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Sanction Number: N/8/4075/3/10/89516

State: Government of Chhattisgarh

Sanction Date:

30/03/2019

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19 Applications Type: Fresh

Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee Total Fee Total Amount	Other Fee	Total Fee
438 1162864 LAXMI DEWANGAN	Female	PGDCA/Computer Application/I	Fresh	9	110	990	0	2141	2141
1166589 KIRTI DEWANGAN	Female	M. A./Economics/I	Fresh	9	110	990	. 0	1801	1801
		M. A./Sociology/I	Fresh	9	, 110	990	, 0	1801	1801
1148899 KU ANNU SAHU		M. A./Sociology/I	Fresh	9	110	990	0	1801	1801
		M. Com./ABST/I	Fresh	9	110	990	0	1801	1801
1		M Sc /Chemistry/I	Fresh	9	110	990	0	1851	1851
463 110//39 EVIII 3000 UKK		C- APCT/I		0	110	990		1801	1801
769 1166/12 GANGA DEWANGAN :	Tellidie	Ph. Com/ADD//						2444	2000
5 1169214 ROSHAN KUMAR	Male	PGDCA/Computer Application/I	Fresh	9	100	900		2141	2285
U& L 1177428 Chiteshwar Rathore	Male 🗸	M. Com./ABST/I	Fresh	9	110	990	1	1801	1801
L C 7 1177432 SomPraksh Rathore	Male	M. Com./ABST/I	Fresh	9	100	900) 144	1801	1945
	Male	MA./Sociology/I	Fresh	9	- 100	900) 144	1801	1945
2 5 1213878 Poshak Kumar Rathore	Male	M. Com./ABST/I	Fresh	9	100	900	144	1801	1945
1214039 Ravi Kumar Rathore	Male	M. Com./ABST/I	Fresh	9	100	900) 144	1801	1945
- 1	Male	M: A./Sociology/I	Fresh ·	9	- 100	900) 144-	1801	1945
1727 1227611 Al CHAND		M. Com./ABST/I	Fresh	9	100	900	144	1801	1945
- 10	Female		Freşh	9	110	990	. 0	1801	1801

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of the 3.2.7.2.0 of which his fees and the scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of the 3.2.7.2.2.0 of which his fees and the scholarship applications and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place :

(Signature & Seal of Head of the Institution) Name (Capital Leters) in A (C. G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa



Sanction Number: N/8/4075/3/10/89516

State:

Government of Chhattisgarh

Sanction Date: 30/03/2019

-
=
=

ر مے	0		0	-		2	6	7	ي	5.	4	T	5	5	247	7,	۱
800	67	486 1422475 JYOTI KARSH	UST 1387608 VIVEK SONI	120	e e	183 J	1		1 08 r	477 1	478 1			00		4741	Application ID
1455717	1453351	1422475	1387608		1453645	1450291	1393013	1372848	1356276	308131	306584		301623	262969	455600	454014	ion ID
bhim I	UMASI	TLOAC	VIVEK		PUJA	1450291 RAJ KUMAR	1393013 Rewati Sahu	JAMUN	BHAVI	RAM K	TINUS	2	UMES	1262969 INDU DHOBI	likhesh	1454014 SHIV PRASAD	
USS 1455717 bhim prasad dewangan	467 1453351 UMASHANKAR DEWANGAN	KARSH	TNOS		1453645 PUJA DEWANGAN	UMAR	Sahu	1372848 JAMUNA PATEL	1356276 BHAVISHYA BARETH	1308131 RAM KUMAR DEWANGAN	1306584 SUNLIA KARSH	KARCI	1301623 UMESH KUMAR	DHOBI	1455600 likheshwari dewangan	PRASAD	Student Name
ewangan	DEWAN				AN				RETH	WANGA	_		~		vangan		it Name
	GAN			-						Z							
Male.	Male	Female	Male		Female	Male	Female	Female	Male	Male	ā	Eomolo	Male	Female	Female	Male	Gender
W.M.	WM	×	0	0	N.	App	M.S.W. Work/I	3	V.B.	N.	1	2	Wo.S	м.	N.	Z.	Ť
M.S.W./Ma Work/I	M.S.W./Ma Work/I	M. A./Sociology/1	00111./00	Com 100	M. Com./ABST/I	PGDCA/Computer Application/I	S.W./Mag ork/I	M. A./Economics/I	Sc./Com	M. Com./ABS1/1	A./ FOI. J	M A /Dol Science/I	M.S.W./Mas Work/I	M. A./Sociology/I	M. A./Economics/I	M, Com./ABST/I	
M.S.W./Master of Social Work/I	M.S.W./Master of Social Work/I	logy/1	b, Colli,/Collillerce/1	200000	357/1	nputer /I	M.S.W./Master of Social Work/I	omics/I	B. Sc./Computer Science/I	1/18	cicirco/1	rience/T	M.S.W./Master of Social Work/I	ogy/I	mics/I	ST/I	Course
ocial	ocial		1	17	-4		ocial		ence/I				cial				
Fresh	Fresh	Fresh		Frach	Fresh	Fresh	Fresh	Fresh	Fresh	riesii		Fresh	Fresh	Fresh	Fresh	Fresh	J
																	Type
		,1			,												No. of
6	9		0 1	9	9	9	9	9		, (0	9	9	9	9	10	
	-				-	1	-				-		10	=		100	Rate
100	TOO	110	5	55	110	100	110	110	00		100	110	100	110	110	00	1000000
													10			, 10	Maintenence Tuition Fee Other Fee Total Fee Allowance
900	900	000	990	495	990	900	990	990	190	on o	900	990	900	066	066	1000	re Tuit
144		144	0	115	0	144		5 6	11.7	115	144	0	144			144	ion Fee
4		2 - 0	2	01								_					Other
1577		2251	1801	1722	1801	2141		1001	1801	1787	1801	1801	4577	TOOT	1001	1001	Fee
										,		Tree.					Total Fi
2293	2205	295	1801	1837	1801	2007		2251	1801	. 1897	1945	1801	2293	TOOT	1001	1801	ee To
															1000		Total Amount
2630	2005	3295	2791	2332	16/7	101	3105	3241	2791	2392	2845	2791	2024	2704	7791	2791	2045

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of record which record which records maintenance allowance and sanction and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Date : Place:

> (Signature & Seal of Head of the Institution Name (Capital Leters);



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4075/3/10/89516

Sanction Date: 30/03/2019
Applications Type: Fresh

3	1592260 ABHISHEK SONI		197 1461167 rajesh kumar yadav	LGL 1459263 chandrika dewangan	いっち 1459668 ku.;bharti rathore		454 1458807 maheshwar lal
1	Male B.	Female M.	Male M.	Female M. A./Sociology/I	emale M.		Male < M.
	B. Com./Commerce/I	M. A./Economics/I	M. A./Pol. Science/I	A./Sociology/I	Female M. A./Sociology/1		M. A./Poi. Science/1
A have determined to the second	Fresh	Fresh	Fresh	Fresh	Fresn		1 5
: 1	9	9	9	9	,		0 (
Total:	55	110	100	110			110
345650	495	990	900	066	-	-	; 990
28476	115	0	144		0		0
895146	1722	1801	TOOT	1001	1901	-	1801
923622	1837	TOST	CHET	1005	1801		1801
1269272	2332	16/7	2791	2845	2791		2791

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is deterted. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

308		
90515		
		1

State: Government of Chhattisgarh

Sanction Date : 06/04/2019

Sanction Number: N/8/4075/3/10/90515

Applications Type: Fresh

	1512	1492	plication
	1512397 SHRADDHA RATHORE	1492277 PUSHPA YADAV	ID Student Name
	Female	Female	Gender
	B. Sc./Science/I	B. Sc./Science/I	Course
	Fresh	Fresh	Туре
	9	9	No. of
Total:	70	70	Rate
1260	630	630	Maintenence Tui Allowance
0	0	0	tion Fee
3564	1782	1782	Other Fee
3564	1782	1782	Total Fee
4824	2412	2412	Total Amount

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs. A. Control which Rs. A. Control scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the periodic detected. PRINCIPALcandidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

Name (Capital Leters) (. C. G.)

	PGDCA 25	78/89	Province in	Calle and the comment of the same of the s	Benevative of the State of the	75 B 37 9 4	The Street of St	
5. 20	KON	Month	Rate	Maintence Allowance	Testion	othen	Total	Total Amount
, ,	Rajon Kunst Noted	9	8	900	1441	14/2	2387	3/85-00
١	Sutresh Kimmer	0	8	900	144	2721	2785	3/85=00
00	Ashish single	9	-	390	144	(4/2	2255	32 75
4	Perrolo Hom Kennara	0	100	38	144	2141	2383	3125-
U	Preselip human Saha	03	3	38	144	2040	2895	3/85
0	0	0	0	990	T	2/4)	(718	(3)(3) =wa
7	Molow Kuman	29	100	300	1441	214)	2383	3/85-
60	Genta Yadaw	3	110	990	1	2141	2)4)	3137-00
À	Earny Dewonjon	600	110	990	1	214)	2/4/ = 0.	8/3/20
0	Raj Kennoof Shire	50	100	300	144	2141	2285	3/85
1)	Buble Rewangen	9	110	990	1	(418	(4/8	8131 ===
41	2	9	leo	380	144	2149	7287	3/85-a
133	Chetan Barreth	R	100	9 ans A	144	(2)4)	2007	8/85 B
14	Sury Kynt Som	9	8	Se	144	215		3/3/
R			00	280	1	2/4/	111	
)(oth		110	990	1	2/4/	2141	3/3/20
1		09 1	8	98	12/21	2/4/	2285	3/85===
B	makes brossway og		000	980	144	274)	285	3/85
19	Ritest Kiman		190	100	1244	2/4/	L. B.C.	8/85 mas
		_						~2-

	2.20		3	i l	1 1 1	(C) =	20	b,) ja	
80 DON	Mino.	Agen Kramer Pate	Kethics L. Rathorn	December December	Kg) Kumara	Restan towns	Laxing Hewayson	Dilesh Kennent	A pry kimass kas Hap ag	
	Thors	i	600	S	0,	8	200	00	909	
2018-12	Resta	8	100	100	00	000	110	000	000	
v	stadio sociativast	8	300	1000	900	900	990	900	900	2
	Presilio		141	144	144	1444	ĵ		144	
	Busin A sel lest of		12/12				2)4)		14/12	
	100		2285	2285	2000	585	以()()	25 85	29868	
			8/8/700	82 G	3/85	3785	3/3/20	3/8	3)85	



Scholars

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Applications Type: Renewal

Sanction Date:

30/03/2019

16	15	14	13	129	11	0	ı	00	7	0	G	2	W	7	1	Applica
265513	202533	197925	133728	127136	126649	126551	126520	124454	123427	119185	111423	111404	108434	108165	970851	cation ID
16 265513 ANIL KUMAR KASHYAP)5 202533 SAMALI RATHORE	14 197925 PRABHAKAR KASER	133728 AARTI SAHU	127136 AJAY KUMAR PATEL	126649 REENU SAHU	126551 YOGITA DEWANGAN	126520 SEEMA SAHU	124454 RAJNI YADAV	123427 ANJANI TELI	119185 MAMTA SAHU	111423 ritu rathore	111404 priyanka rathore	108434 HALESHWARI VAISHNAW	108165 KRITI RATHORE	970851 CHITRALEKHA KUMARI DEWANGAN	Student Name
Male	Female	Male	Female	Male	Female	Female	Female	Female	Female	Female	Female	Female	-Female	Female	Female	Gender
M. A./Pol. Science/II	M. Sc./Mathematics/II	M. Com./ABST/II	M. A./Pol. Science/II	M. Sc./Mathematics/II	M. Sc./Chemistry/II	M. Com./ABST/II	M. Sc./Chemistry/II	M. A./Sociology/II	M. Sc./Chemistry/II	M. Sc./Mathematics/II	M. Sc./Chemistry/II	M. Sc./Chemistry/II	M. A./Pol. Science/II	M. Sc./Chemistry/II	B. A./Arts/III	Course
< -	-				_	-	-	_	,				5			
Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Тура
10	10	10	10	10	10	10	10	10	10	10	10	10	.: 10	10	10	No. of Month
105	120	105	120	105	120	120	120	110	120	120	120	120	120	120	85	Rate
1050	1200	1050	1200	1050	1200	1200	1200	1100	• 1200	1200	1200	1200	1200	1200	850	Maintenence Allowance
144	0	144	0	144	0	0	0	0	7 0	0	0	0	0	0	0	Tuition Fee
1701	1751	1701	1701	1751	1751	1701	1751	1701	1751	1751	1751	1751	1701	1751	1662	tion Fee Other Fee
1845	1751	1845	1701	1895	1751	1701	1751	1701	1751	1751	1751	1751	1701	1751	1662	Total Fee
2895	2951	. 2895	2901	2945	2951	2901	2951	2801	2951	2951	2951	2951	2901	· 2951	2512	Total Amount

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

(Signature & Spallof Head of the Institution)

Name (Capital Jeters Graduate College

Ost Spanning College

Os

Page 1/43

This Sanction is generated by Scholarship Portal. Printed on 3/30/2019

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Applications Type: Renewal

Sanction Date :

30/03/2019

32	9			2 4 6			1		23	111	1 1	6	19	00	17	
579985	577140	A 6709CC	550000 R	S QUETZC	514233 F	4113/3	395567 [368826 F	332169 H	310170	309076	298653	281890	281763	281725	
32 579985 Annapurna Dewangan	Nidhi Rathore	558079 Kamesh Kumar Pater	555050 RAMINARATAN KEWAT	SZIYUO SEEMA SAHU	514233 POUJA KARSH	4113/3 Madhuri Yadav	395567 Dimpal Patel	368826 PRABHA KUMARI SAHU	332169 HETRAM SHRIWAS	310170 DEEPAK KUMAR	309076 Jagsay Kumar Dhiwar	298653 Geetika Dewagan	281890 DINDAYAL DEWANGAN	281763 BHANU PRIYA DEWANGAN	281725 TILESHWARI KUMARI DEWANGAN	Octobra Maria
Female	Female	Male	Male	Female	Female	Female	Female	Female	Male	Male	Male	Female	Male	Female	Female	geride
M. Sc./Mathematics/II	M. A./English/II	M. Sc./Mathematics/II	M. A./History/II	M. Sc./Mathematics/II	B. Sc./Science/III	M. A./Economics/II	M. A./Pol. Science/II	M. A./Economics/II	M.S.W./Master of Social Work/II	M. A./Pol. Science/II	M. A./Economics/II	M. A./Sociology/II	M. A./Ecopomics/II	M. Sc./Chemistry/II	M. A./Economics/II	Course
Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	
/al	/al	val	val	val	val	val	val	val	val .	val	val	wal	wal	wal	wal	уре
10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	No. of Month
120	120	105	105	120	85	120	120	120	120	100	105	120	105	120	85	Rate
1200	1200	1050	1050	1200	850	1200	1200	1200	1200	1000	1050	1200	1050	1200	850	Maintenence Allowance
0	0	144	144	0	0	0	0	0	144	144	144	0.		Q	0	Tuition Fee
1751	1701	-1751	1701	1751	1722	1701	1701	1701	. 2451	1701	1701	1701	1701	1751	1701	Fee Other Fee Total Fee
1751	1701	1895	1845	1751	1722	1701	1701	1701	2295	1845	1845	1701	1845	1751	1701	Total Fee
7951	2901	2945	2895	2951	- 2572	2901	2901	2901	3495	2845	2895	2901	2895	2951	2551	Total Amount

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and amfual income of Parents/Guardian from all sources of the

225800

Place : Date :

(Signature & Seal of Head of the Institution)

CHAMPA (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

Sanction Number: R/8/4075/3/10/89517 State: Government of Chhattisgarh

Sanction Date: 30/03/2019

Applications Type: Renewal

		Academic real . 2010-19										
Applic	ication ID	Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Allowance	Tuition Fe	e Other Fee	Total Fee	Fuition Fee Other Fee Total Fee Total Amount
الما	585540	585540 Manoj Kumar Sahu	Male	B. Com./Commerce/III 🧧	Renewal	10	70	700	115	5 1662	1777	2477
25	587520	587520 Shani Kumar Bareth	Female	M. A./History/II	Renewal	10	105	1050	144	4 1701	1845	2895
Wy.	591858	591858 Rukmani Dewangan	Female '	B. Sc./Science/III	Renewal	10,	85	850		0 1722	1722	2572
W	597154	Punita Sahū	Female •	M. Sc./Chemistry/II	Renewal	10 ->	120	1200	į,	0 1751	• 1751	2951
1 L	689264	689264 LALIT MAHANT	Male	B. Sc./Computer Science/III ~ Renewal	Kenewal	10	70	700	135	5 1722	1857	2557
w C	5-1	696877 DEVENDRA KUMAR DEWANGAN Male	Male	B. Sc./Computer Science/III L Renewal	Renewal	10	70	700	135	1722	1857	2557
4		698495 HARIHAR PRASAD BARETH	Male	B. Com./Commerce/III *	Renewal	10	70	700	115	.5 1662	1777	2477
6		707399 VIJAY KUMAR DEWANGAN	Male .	M. A./Pol. Science/II	Renewal	10	105	1050	144	1701	1845	, 2895
"		721694 Tukesh Kumar Bareth	Male	B. A./Arts/III	Renewal	10	70	700	115	.5 1662	1777	
42	1000	723257 Bhuneshwar Prasad Dewangan	Male	B. A./Arts/III	Renewal	10	70	700	115	.5 1662	1777	
22		743772 NARAYAN SAHU	Male	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	
44	755113	BHAGWATI RATHORE	Female	M. Com./ABST/II	Renewal	- 10	120	1200	. 1	0 1701	1701	
44		755252 BHARATI YADAW	Female (B. Sc./Maths/II	Renewal	10	85	850		0 1722	1722	
32		780694 GOPIKA SAHU	Female	B. Com./Commerce/III	Renewal	10	85	850		0 1662	1662	
47		129471 Kriti Dewangaon	Female ·	M. Sc./Mathematics/II	Renewal	10.	-120	1200		0 1751	. 1751	
78		264389 Sunita Kewart	Female	M. A./Pol. Science/II	Renewal	10	120	1200		0 1701	1701	2901
44		418852 CHANDANI MANIKPURI	Female	M. Sc./Mathematics/II	Renewal	10	120	1200		0 1751	. 1751	2951
20		422028 Amita Rani Thawait	Female	M. Sc./Mathematics/II	Renewal	10	120	1200		0 1751	1751	2951

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the periodities detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Date : Place :

(Signature & Seal of Head of the (Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Applications Type: Renewal

Sanction Date:

30/03/2019

2512	1662	1662	0	* 850	85	10	Renewal	B. A./Arts/III	Female	67 887912 TRIVENI BARETH	
2512	1662	1662	0	850	85	10	Renewal	B. A./Arts/III	Female	CC 881572 ISHWARI SAHU	
2477	1777	1662	115	700	70	10	Renewal	B. A./Arts/III	Male	65 875513 HEMANT KUMAR YADAW	
2477	1777	1662	115	700	70	10	Renewal	B. Com./Commerce/III p	Male	64 864863 DINESH DEWANGAN	^
2477	1777	1662	115	700	70	10	Renewal	B. Com./Commerce/III 🥷	Male	63 864851 BHUPENDRA DEWANGAN	
2572	1722	1722	0	850	85	10	Renewal	B. Sc./Maths/III	Female	62 859436 PALAK DEWANGAN	6
. 2572	1722	1722	0	850	85	10	Renewal	B. Sc./Maths/III	Female	C) 859429 USHA DEWANGAN	
2512	1662	1662	0	850	85	10	Renewal	B. A./Arts/III	Female	60 829745 SHAIL KUMARI KASHYAP	^
2901	1701	1701	0	1200	120	10	Renewal	M. A./Economics/II	Female	55 823884 Chandni Chandra	11.
2557	1857	1722	135	700	70	10	Renewal	B. Sc./Science/III	Male	52 814871 Banwari Lal Rathore	/.
. 3045 -	1845	1701	144	. 1200	120	10	Renewal	M. A./Pol. Science/II	Male	37 814276 RAGHUNATH MARAR	1.
2901	1701	1701	0	1200	120	10	Renewal	M. A./Pol. Science/II	Female	3-C 809521 MALTI DEWANGAN	(1
2572	1722	1722	0	850	85	10	Renewal	B. Sc./Science/III	Female	SS 808760 NEETU SAHU	
→ 3351	2151	2151	0	• 1200	120	10	Renewal	M.S.W./Maste⊯of Social Work/II	Female	5 7 797799 Arti Patel	
2945	1895	1751	144	1050	105	10	Renewal	M. Sc./Chemistry/II	Male	786258 DURGESH KUMAR PRADHAN	1.4
2945	1895	1751	144	1050	105	10	Renewal	M. Sc./Mathematics/II	Male	5 2 783026 PRATIK KUMAR THAWAIT	(4
2901	1701	1701	0	1200	120	10	Renewal	M. A./Pol. Science/II	Female	506299 NISHEE THAWAIT	
Total Amount	Total Fee	Fee Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Application ID Student Name	Ą
					A STREET, SQUARE, SQUA						

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of security. Out of whick 2 years and the security and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of security of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signature & Seekof Mead of the Institution)
Name (Capital Legers) : Graduate College
Tord, M. M. M. Seekof Mead of the Institution)

Page 4/43

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Applications Type: Renewal Sanction Date: 30/03/2019

	Academic Year: 2018-19							Transcent Spread			
Applica	tion ID Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	ition Fee Other Fee Total Fee	Total Amount
× 20	888586 GOPEE KUMAR	Male	B. Sc./Computer Science/III V Renewal	VRenewal	10	70	700	135	1722	1857	
	888898 BHAGWATI SAHU	Female	B. Com./Commerce/III	Renewal	10	85	850	0	1662	1662	
7 (892084 LAXMI PRASAD PATEL	Male	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	
1	900940 ANAND KUMAR DEWANGAN	Male	M. CSm./ABST/II	Renewal	10	05	1050	144	1701	184	
2/	900951 PRIYANKA SAHU	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	
72	901017 KIRAN YADAW	Female	M. A./English/II	Renewal	10	120	1200	0	1701	1701	
7 7	907169 BHUWNESHWARI SAHU	Female	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	
71	914182 maniu patel	Female	B. Sc./Maths/III	Renewal	10	85	850	. 0	1722	1722	
1	925560 Govind Kumar Jaisawal	Male	B. Sc./Maths/III	Renewal	10	70	700	135	1722	1857	
ا د	934519 KUSUM SHRIWAS	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	
7		Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	*
10		Female	B. Sc./Science/III	Renewal	10	_85	850	0	1722	1722	
9	937185 PREETI RATHORE	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	
A	939201 MONGRA SAHU	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	
N I	939876 DHAN KUNWAR SAHU	Female	B.,Sc./Science/III	Renewal	. 10	. 85	850	. 0	. 1722	1722	
n (n	939948 DONESHWAR SAHU	Male	B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	
200	940702 TULESHWARI DEWANGAN	Female	B. Com./Commerce/III 🏽	Renewal	10	85	850	. 0	1662	1662	
00	945561 RAM PRASAD CHANDRA	Male	M. Sc./Mathematics/II	Renewal	10	105	1050	144	1751	1895	

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place: Date :

(Signature & Seal of each of the Institution) Graduate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Sanction Date: 30/03/2019

Applications Type: Renewal

Applica	Application ID Student Name	ne Gender	Course	Туре	No. of Month	Rate	Maintenence : Allowance	Tuition Fee C	Other Fee	Total Fee	tion Fee Other Fee Total Fee Total Amount
B	952279 BEBI RATHORE	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
200	954588 PREETI YADAV	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
00	954733 MANISHA DEWANGAN	N Female	M. A./Sociology/II	Renewal	.10	120	1200	0	1701	1701	2901
200	969434 SUNNY KUMAR SAHU	Male	B. Com./Commerce/III	Renewal	-10	70	700	. 115	1662 -	1777	2477
20	981007 BHUWANESHWARI BARETH	ARETH Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
1	982083 sarita rathore	Female	M. Com./ABST/II	Renewal	10	120	1200	0	1701	1701	2901
1	983114 HEMANT KUMAR BARETH		B. Com./Commerce/III	Renewal	10	70	700	115	1662	1777	2477
S C	984989 YOGESHWARI KUMARI SAHU	น SAHU Female	B. Com./Commerce/III	Renewal	16	70	700	0	1662	1662	2362
24	985559 SANJAY KUMAR BARETH	TH Male	B. Com./Commerce/III	Renewal	10	70	700	115	1662	1777	2477
30	986887 VIDYA BARETH	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
26	990012 HARISH KUMAR DEWANGAN	ANGAN Male	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	2557
1.6	991561 DHANANJAY DEWANGAN	GAN - Male	B. Com./Commerce/III e	Renewal	- 10	70	700	115	1662	1777	2477
1 00	38 1009052 NARENDRA KUMAR DEWANGAN Male	EWANGAN Male	B. Sc./Maths/III	Renewal	10	70	700	135	1722	1857	2557
الم	1009558 ANJALI SINGH BARGAH	\H Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
B	1012557 LATA KUMARI	Female	-B. Sc./Science/III	Renewal	- 10	. 85	850	0	1722	-1722	2572
00	1012821 POOJA KEWAT	Female	B. Sc./Computer Science/III Renewal	Renewal	10	85	850	0	1722	1722	2572
	1012903 KANCHAN KUMARI	Male .	B. Sc./Maths/III	Renewal	10	85	850	0	1722	. 1722	2572
201	2 1016896 PRATIMA SONI	Female	M. Sc./Mathematics/II	Renewal	10	120	1200	0	1751	1751	2951

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

(Signature & Seak of Head of the Institution)

CHAMPA (C.G.)

Date :

Place:

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Sanction Date: 30/03/2019
Applications Type: Renewal

12)2	- 1	118	11	13	175	=)]	112	111	110	103	108	107	100	10	104	App
) 11097	C 10825	5 10763	3 10958	7 10350	6 10326	-10316	9 10306	5 10298	1	10255			3 10178			10176		Application ID
92 HARI	73 PRIY	89 Sum	38 MUK	67 GAY	01 Parm	48 SAVI	14 SULC	86 RAJN	51 KARI	08 YOG	.98 VAR	29 Sum	90 RESI	53 Pran	708 HEM	21 PINK)52 KESI	- 5
ISH KUMA	ANKA DI	15 1076389 Suman Yadaw	18 1095838 MUKESH PATEL	ATRI KUM	116 1032601 Parmeshwari Patel	1/5 - 1031648 SAVITA SAHU	CHANA	1) 5 1029886 RAJNI KUMARI	1025951 KARISHMA GAVEL	1025508 YOGITA DEWAGAN	1024198 VARSHA SAHU	1017929 Suman No Surname	1017890 RESHAM LAL SAHU	1017853 Pramila No Surname	1017708 HEMANT KUMAR SAHU	1017621 PINKI DEWANGAN	HAV PRAS	Stud
(2) 1109792 HARISH KUMAR DEWANGAN	201082573 PRIYANKA DEWANGAN	V	E	117 1035067 GAYATRI KUMARI PATEL	Patel		1)4 1030614 SULOCHANA DEWANGAN	N N	AVEL	/AGAN	_	ırname	SAHU	urname	IAR SAHU	NGAN	1016952 KESHAV PRASAD KAHRA	Student Name
Male	Fe	Fe	Male	Fe	Fe	Fe	Fe	Fe	Fe	Fe	Fe	Fe	M	Fe	M	Fe	M	
ile	Female V	Female	le	Female V	Female	Female	Female V	Female	Female	Female	Female	Female	Male	Female	Male	Female	Male	Gender
M. Sc./	B. Sc./	B. Con	B. Sc./	B. Sc./	M. A./	B. A./	B. Sc./	B. A.//	B. Sc./	B. Con	B. Sc./	B. Sc./	B. A.//	B. Sc./	B. Sc./	B. A.//	B. Sc./	
M. Sc./Chemistry/II	B. Sc./Science/II	B. Com./Commerce/III	B. Sc./Science/III	B. Sc./Science/II	M. A./English/II	B. A./Arts/III	B. Sc./Science/II	B. A./Arts/III	B. Sc./Science/III	B. Com./Commerce/III	B. Sc./Computer Science/III	B. Sc./Science/III	B. A./Arts/III V	B. Sc./Science/III	B. Sc./Science/III	B. A./Arts/III	B. Sc./Science/III	Co
try/II	,i	nerce/II	/III /	П	1	1	11	5	/III 1	nerce/II	er Scier	1日 7	1	/II \	旧 く	1	川(Course
5		1 *	1						1	I	nce/III \	1	1	1	,		'	>
Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	VRenewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Туре
																		ro
					4	1								\$10				No. of Month
10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	
105	85	85	70	85	120	85	85	85	85	85	85	85	7	85	7	00	7	Rate
5	.Ci	G	0	5	0	5	5	5	5	5	5	5	70		70 :	85	70	Mai Al
10		~	21	~	1.													Maintenence 1 Allowance
1050	850	850	700	850	1200	850	850	850	850	850	850	850	700	850 .	700	850	700	e Tu
1,			1										1		Д		_	ition F
144	0	0	135	0	0	0	0	0	0	0	0	0	115	0	135	0	135	ee Oti
1751	1722	1662	1722	1722	1701	_1662	1722	1662	1722	1362	1722	1722	1662	1722	1722	1662	1722	Tuition Fee Other Fee
1895	1722	1662	1857	1722	1701	1662	1722	1662	1722	1362	1722	1722	1777	1722	1857	1662	1857	Total Fee
			- 1				*							.1				Total /
2945	2572	2512	2557	2572	2901	2512	2572	2512	2572	221	2572	2572	2477		2557	2512	2557	amoun

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of assuming the above proposal from serial no. 1 to I do here by sanctioning a sum of assuming the above proposal from serial no. 1 to I do here by sanctioning a sum of assuming the above proposal from serial no. 1 to I do here by sanctioning a sum of assuming the above proposal from serial no. 1 to I do here by sanctioning a sum of assuming the above proposal from serial no. 1 to I do here by sanctioning a sum of assuming the above proposal from serial no. 1 to I do here by sanctioning a sum of assuming the above proposal from serial no. 1 to I do here by sanctioning a sum of assuming the above proposal from serial no. 1 to I do here by sanctioning a sum of assuming the above proposal from serial no. 1 to I do here by sanctioning a sum of assuming the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signature & Seal of Head of the Institution)
Name (Capital Leters):
Total M.M.R. Post Graduate College

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Applications Type: Renewal

Sanction Date: 30/03/2019

								100		
Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	tion Fee Other Fee	Total Fee	Total Amount
122 1109813 SHALINI DEWANGAN	Female	B. Com./Commerce/III	Renewal	10	85	850	0	1662	1662	2512
123 1110169 LEELADHAR BARETH	Male	B. Com./Commerce/III »	Renewal	10	70	700	115	1662	1777	2477
/24 1110014 sangeeta mahant	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
125: 1110856 PRATEEK RAJ .	Male	M. A: Finglish/II	Renewal	10	105	1050	. 144	1701	1845	2895
/24 1110751 dev kumari dewangan	Female	M. A./Sociology/II	Renewal	10	120	1200	0	1701	1701	2901
127 1111152 RENUKA SHRIVAS	Female	M. A./Pol. Science/II	Renewal	10	120	1200	0	1701	1701	2901
128 1111287 LAXMIN SAHU	Female	M. A./English/II	Renewal	10	120	1200	0	1701	1701	2901
1727 1111295 ANJALI SAHU	Female	M. Sc./Chemistry/II	Renewal	10	120	1200	. 0	1751	1751	2951
130 1113087 RAM KUMAR BARETH	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
13) 1116242 PAYAL KANSARI	Female	B. Sc./Maths/III	Renewal	10	85	850	0	1722	1722	2572
132 1121762 neha dewangan	Female	M. A./English/II	Renewal	10	120	1200	0	1701	1701	2901
193 1130300 RAMRATAN SHRIVAS	Male	M. A./Sociology/II	Renewal	10	105	1050	144	1701	1845	2895
134 1137807 RAVI SONI	Male	B. Sc./Computer Science/II	Renewal	100	70	700	135	1722	1857	2557
135 1138931 SEVATI DEWANGAN	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
13C 1144098 BHARTI KATAKWAR	Female	M. A./English/II	Renewal	10	120	1200	0	- 1701	1701	2901
137 1144270 kavita rathore	Female	M. Sc./Chemistry/II	Renewal	10	120	1200	0	1751	1751	2951
138 1154241 GEETA DEWANGAN.	Female	M. Com./ABST/II	Renewal	10	120	1200	' 0	1701	1701	2901
135 1155243 LAXMI DEWANGAN	Female	M. A./Sociology/II	Renewal	10	120	1200	0	1701	1701	2901

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signature & Seal of Head of the Institution)
Name (Capital Leters)!: AL

M.M.R. Post Graduate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Applications Type: Renewal

Sanction Date:

30/03/2019

7		10	-	_	7	~	T	2)	4	12)4)2	,	12	147	120	≥	
	56 13	7 13	56 13	J3 13	152 13	157 13	150 13	149 13	48 13	147 13	14/2 13	11 54	144 11	143 11	/-			Application ID	
00700	809684	309669	809224	809471	808889	308841	08826	808499	808145	808141	808140	81828	79325	71900	67042	62144	61114	on ID	
1300700 ANITA TELV	15 & 1309684 DEEPAK KUMAR	1309669 SET KUMAR DEWANGAN	156 1309224 VIJAYLAXMI THAWAIT	133 1309471 ANJOO KUMARI	1308889 GITIKA DEWANGAN	1308841 SANJAY KUMAR KAIWART	1308826 RAJNI RATHORE	1308499 LAXMI NARAYAN	158 1308145 SHIVPAL SAHU	1308141 NANDANI PATEL	1308140 YASHWANT SONI	1181828 AJAY KUMAR	1179325 DEEPENDRA KUMAR KASHYAP	1171900 SHRADDHA KARSH	1167042 ASHOK KUMAR	1162144 NILIMA RATHORE	1161114 .DHANANJAY KENWAT	Student Name	
Eomalo	Male .	Male	Female	Female	Female	Male	Female	Male	Male	Female 1	Male	Male	Male	Female	Male L	Female	Male V	Gender	
B. Sc./Science/III	B. Com./Commerce/III 🐡	B. Com./Commerce/III •	B. Sc./Science/III	B. A./Arts/III	B. Com./Commerce/III #	B. Sc./Maths/III	B. Sc./Maths/III	B. Sc./Science/III	B. Com./Commerce/III 🍲	B. A./Arts/II	B. Com./Commerce/III *	M. Sc./Chemistry/II	M. Sc./Chemistry/II	M. Sc./Mathematics/II 💉	B. Sc./Maths/II	M. Sc./Chemistry/II	B. Sc./Computer Science/II	Соштѕе	
Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Туре	
10	10	10	-10	10	10	. 10	10	10	10	1ď	10	10	10	250	10	10	10	No. of Month	
85	70	70	. 85	85	85	70	85	70	70	, 85	70	105	105	120	70	120	70	Rate	
850	700	700	850	850	850	700	850	700	700	850	700	1050	1050	1200	700	1200	700	Maintenence Allowance	
					1									1.4				Tuition	1
0	115	115	0	0	0	135	0	135	115	0	115	144	135	0	135	0	135	Fee O	
1722	1662	1662	1722 -	1662	1662	1722	1722	1722	1662	1662	1662	1751	1751	1751 🚓	1722	1751	1722	ther Fee	
1722	. 1777	1777	1722	1662	1662	1857	1722	1857	1777	1662	1777	1895	1886		1857	1751	1857	Total Fee	
2572	2477	2477	2572	2512	2512	2557	2572	2557	2477	2512	2477	2945	2936	2951	2557	2951	2557	Tuition Fee Other Fee Total Fee Total Amount	

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place :

(Signature & Seal of Head of the Institution)
Name (Capital Neters):/

FOM. M.M.R. Post Gruduate College

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Sanction Date: 30/03/2019 Applications Type: Renewal

Application ID	Sting To	Children North	Condor	Called	Type	No. of	20 E			TOTALISTO TOTAL	201	TANKS AND TANKS OF
		Studenty Manie		CONTRACT		Month		Allowance				
क्र	1310413	1310413 KHILENDRA KUMAR	Male	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	2557
3	1310471	1310471 PRASHANT KUMAR YADAV	Male	B. A./Arts/III	Renewal	10	70	700	115	1662	1777	2477
1		1310485 MITESH PATEL	Male	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	
70		1310503 ANJALI KURMI	Female	B. A./Arts/IH	Renewal	10	85	• 850	. 0	1662	1662	• 2512
421		1310607 RAKESH YADAV	Male	B. Com./Commerce/III	Renewal	10	70	700	115	1662	1777	2477
27	1310638	23 1310638 MUKESH KUMAR	Male	B. Com./Commerce/III -	Renewal	10	70	700	115	1662	1777	
10	1310639	1310639 PRAKASH KLIMAR	Male	B. Com./Commerce/III	Renewal	10	70	700	115	1662	1777	
19	1310641	1310541 CHAMPA SAHII	Female	B. Sc./Science/III	Renewal	10	85	· 850	0	1722	1722	
	- 1	1310644 DEEPAK KUMAR KARSH	Male	B. Com./Commerce/III	Renewal	10	70	700) 115	1662	1777	2477
12/2	1310648	1310648 DURGA DEWANGAN	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
10	1310649	1310649 SUNITA YADAV	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
200	1310653	45 1310653 SITESHWAREE TELI	Female	B. Sc./Science/III	Renewal	_ 10	-85	850	0	_ 1722	1722	
וו	1312977	1312977 KUMARI UMA SAHU	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	
100	1319609	1319609 .DEVESH VISHWAKARMA	Male	B. Com./Commerce/III *	Renewal	10	70	700	115	1662	1777	
172	1319705	1319705 BHARTI RATHORE	Female	M.S.W./Master of Social Work/II	Renewal	10	120	- 1200	0	2151	2151	4
173	1319642	1319642 CHANDRAKALA BARETH	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	
774		1324258 JITESH KUMAR RATHORE	Male	B. A./Arts/II	Renewal	10	70	700) 115	1662	1777	2477

Declaration:

Certified that students studying in this institution are entitled for post matric so hereing and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of as a copy of online serial no. 1 to I do here by sanctioning a sum of as a copy of online serial no. 1 to I do here by sanctioning a sum of as a copy of online serial no. 1 to I do here by sanctioning a sum of as a copy of online serial no. 1 to I do here by sanctioning a sum of as a copy of online serial no. 1 to I do here by sanctioning a sum of as a copy of online serial no. 1 to I do here by sanctioning a sum of as a copy of online serial no. 1 to I do here by sanctioning a sum of as a copy of online serial no. 1 to I do here by sanctioning a sum of as a copy of online serial no. 1 to I do here by sanctioning a sum of as a copy of online serial no. 1 to I do here by sanctioning a sum of a copy of online serial no. 1 to I do here by sanctioning a sum of a copy of online serial no. 1 to I do here by sanctioning a sum of a copy of online serial no. 1 to I do here by sanctioning a sum of a copy of online serial no. 1 to I do here by sanctioning a copy of online serial no. 1 to I do here by sanctioning a copy of a copy any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signature & Seal of the Institution)

Name (Capital reters):

M.R. Post Graduate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

86517

Applications Type: Renewal

Sanction Date: 30/03/2019

Sanction Number:

Government of Chhattisgarh R/8/4075/3/10/89517

State:

Application ID	ID Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Allowance	Tuition	Fee Ot	uition Fee Other Fee	Total Fee	I otal Amount
7 1324	1324744 RAJESH KUMAR YADAV	Male	B. Com./Commerce/III 💣	Renewal	10	70	700		115	1662	1777	2477
	1320471 VISHVAKANT KUMBHAKAR	Male	B. Sc./Science/II	Renewal	10	70	700		135	1722	1857	2557
	1324864 BHEESHAM KUMAR RATHORE	Male	B. A./Arts/III	*Renewal	10	70	700		115	1662	1777	2477
77 8 1326	1326639 MADHU YADAV	Female	M.S.W./Master of Social Work/II	Renewal	10	· 120	1200	5	0	2151	2451	3351
175 1265	1265626 DEEPIKA DEWANGAN	Female	B. Com./Commerce/III .	Renewal	10	85	850		0	1662	1662	2512
	1265907 indu kumari dewangan	Female	M. Com./ABST/II	Renewal	10	120	1200		0	1701	1701	2901
	1272887 MONA SAHU . ;	Female	B. Sc./Science/III	Renewal ;	10	85	850		0 4	1722	1722	2572
	1272898 MONIKA SAHU	Female	B. Sc./Science/III	Renewal	10	85	850		0	1722	1722	2572
	1272914 KOMAL PRASAD SAHU	Male	B. Sc./Science/III	Renewal	10	70	700		135	1722	1857	2557
- 1	1272931 ASHA YADAV	Female	B. A./Arts/III	Renewal	10	85	850	1	0	1662	1662	2512
	1273000 LALITA TELI	Female	B. Com./Commerce/III	Renewal	10	85	850	-	0	1662	1662	2512
	1273127 HIMADRI DEWANGAN	Female	B. Com./Commerce/III	Renewal	10	85	850		0	1682	1682	2532
- 1	1298871 DEEPIKA RATHORE	Female	B. Sc./Computer Science/HI Renewal	Renewal	10	85	850		0	1722	1722	2572
Ŋ	1303846 SAHODRI DEWANGAN	Female	B. A./Arts/III	Renewal	10	85	850		0	1662	1662	2512
	1303935 KAVITA NIRMALKAR	Female	B. A./Arts/III	Renewal	10	85	850		0	1662	1662	2512
	1306969 PRADEEP KUMAR BARETH	Male	B. A./Arts/II	Renewal	10	70	700		115	1662	1777	2477
	1307006 KOLISHAL DAS .	Male	M. A./Economics/II	Renewal	10	105	1050	,	144	1701	1845	2895

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signature & Saal Off Meablof the Institution)
Name (Capital Leters): Graduate College

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Applications Type: Renewal

Sanction Date: 30/03/2019

Applic	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee		Total Fee	Total Fee Total Amount
197	1307064 F	1307064 PUNAM KUMAR	Male	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	2557
193	1307505 J	1307505 JYOTI KUMARI	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
120	1307598 1	1307598 MEENA KAIWART	Female	B. Sc./Science/III	Renewal	, 10	85	850	0	1722	1722	2572
185	1307612 F	N	Female	B. Com./Commerce/III •	Renewal	· 10	85	₹ 850	. 0	1,662	1662	2512
187		1597127 JYOTI DEWANGAN	Female	B. Com./Commerce/III @	Renewal	. 10	85	850	0	1662	1662	2512
197	1596569 F	77 1596569 PURNIMA DEWANGAN	Female \	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
190	1597134 (192 1597134 CHANDRAKALA KENWAT	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
J,	1597288 1	1597288 INDU DEWANGAN	Female '	B. Sc./Maths/III	Renewal	. 10	85	850	0	1722	1722	2572
2	900	1597305 NIRMALA SHRIWAS	Female \	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
20/	1591596 H	1591596 KANCHAN KUMARIKANCHAN	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
202	1591693 F	1591693 PARMESHWAR PATEL	Male	B. Sc./Maths/III	Renewal	10	70	700	135	1722	1857	2557
203	1592175 /	1592175 AMAN DEWANGAN	Male	B. Sc./Science/II	Renewal -	10	70	- 700	135	1722	1857	2557
204	1592198 1	1592198 ISHWARI KENVAT	Female	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
709	1592340 1	1592340 LAXMAN DAS	Male *	B. Com./Commerce/II	Renewal	10	70	700	115	1662	1777	2477
201	1592393 (1592393 GAYATRI KAUSHIK	Female- V	B. Sc./Science/II	Renewal	- 10-	85	. 850	0	1722	- 1722	2572
200	1592429	1592429 RUPENDRA KUMAR PATEL	Male /	B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	2557
208	1592448	1592448 RAJESHWARI KENWAT	Female /	B. Sc./Science/II	Renewal	. 10	85	850	0	1722	1722	2572
	1592471	1592471 SARITA DHIMAR	Female	B. Sc./Maths/II	Renewal	10	85	850	0	1722	1722	2572

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Namppi (Septital Letters) Graduate Co

(Signature & Seal of Head of the Instituti

CHAMPA IC.G.



Place:

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Applications Type: Renewal

Sanction Date:

30/03/2019

Appli	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition	Fee Other Fee	Total Fee	Total Fee Total Amount
210	1592493 PURNIMA BARETH	NIMA BARETH	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
211	1592494 DEEPIKA KUMARI	PIKA KUMARI	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
272	* 1593149 CHAN	1593149 CHANDANI DEWANGAN	Female	B. Sc*/Science/III	Renewal	10	*85	850	0	1722	1722	2572
272	- 1593319 PADN	1593319 PADMA KUMARI RATHORE	Female	B. Com./Commerce/III •	Renewal *	10	-85	850	. 0	1662	1662	2512
415	1593345 DEV KUMAR PATEL	KUMAR PATEL	Male	B. A./Arts/III	Renewal	10	70	700	115	1662	1777	2477
100	1593862 NEH/	1593862 NEHA VISHWAKARMA	Female V	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
216	1593883 KHUS	1593883 KHUSHBOO KUMARI	Female V	B. Sc./Maths/II	Renewal	10	85	850	0	1722	1722	2572
217	1593934 NIDHI MAHANT	II MAHANT	Female	B. Sc./Science/II	Renewal	10	85	* 850	0	1722	1722	. , 2572
2180	1593852 DIPTI DEWANGAN	I DEWANGAN	Female -	B. Com./Commerce/II	Renewal	10	85	850	0	1662	1662	2512
ST ST	1593849 PRATIMA BARETH	TMA BARETH	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
270	1590347 PAW	1590347 PAWAN KUMAR SAHU	Male /	B. Sc./Science/II	Renewal	. 10	70	700	135	1722	1857	2557
22)	1594149 TINK	1594149 TINKAL NIRMALKAR	Male /	B. Sc./Science/II	Renewal	10	- 85	850	0_	1722	-1722	2572
222	1594155 SUNIL KUMAR	L KUMAR	Male (B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	2557
223	1595333 PARUL YADAV	JL YADAV	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
724	1596478 KHAG	1596478 KHAGESHWARI SAHU	Female	B. A./Arts/III	Renewal -	10	· 85	. 850	0	1662	1662	- 2512
225		1596512 SANGITA EDEWANGAN	Female 🔸	B. Com./Commerce/II	Renewal	10	85	850	0	1662	1662	2512
276	1596568 ROSHAN KUMAR	IAN KUMAR	Male	B. A./Arts/III	Renewal	10	70	700	115	1662	1777	. 2477
227	227 1597450 MAMTA DEWANGAN	TA DEWANGAN	Female V	Female B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place :

(Signature & SchNoc Head of the Institution)
Name (Capital besters) is added to the Institution)
CHAMPA (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

86517

State: Government of Chhattisgarh

Fee Total Fee Total	Rate Maintenence Tuition Fee Other F	Name Gender Course Type No. of	ID Student
Renewal	Applications Type: Renewal	2018-19	Academic Year: 201
30/03/2019	Sanction Date: 30/03/2019	Institute Name: Govt. Collage M.M.R. Champa	Institute Name
Sanction Number: R/8/4075/3/10/89517	Sanction Number :	OBC	Category: OBC

								1000			
Applic	Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Allowance	Tuition Fee		Total Fee	Total Amount
228	1597460 PARWATI KARSH	Female V	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
229	1597466 PRATIK KHATKI	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
280	1601501 GEETA YADAV	Female	M. Sc./Chemistry/II	Renewal	10	120	1200	0	1751	1751	2951
Co	1596504 AASHARAM PATEL	Male 🔾	B. Sc./Maths/II	Renewal	10	70	700 -~	• 135	1722	· 1857	2557
227	1597260 PYARELAL BARETH	Male	B. Com./Commerce/III »	Renewal	10	70	700	115	1662	1777	2477
283	1597461 NANDANI KUMARI	Female L	Female B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
234	1597959 VIDYA AGHARIYA	Female	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
235	1599363 YOGESH DHIWAR	Male V	B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	2557
222	1600346 NIKESH KUMAR	Male \	B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	2557
237	1601437 ARJUN KUMAR	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
238	1601480 KANCHAN GOPAL	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
239	1602234 GULSHAN DEWANGAN	Female	B. Sc./Maths/III	Renewal	10	- 85	- 850	0	1722	_ 1722	2572
240	24/6 1604018 MANISHA RATHORE	Female L	B. Sc./Maths/II	Renewal	10	85	850	0	1722	1722	2572
24/	1604664 SUNITA PATEL	Female	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
247	24/2 1605279 RAVISHANKAR DHIWAR	Male	M.S.W./Master of Social Work/II	Renewal	10	. 105	1050	-144	1711	1855	2905
243	1605368 AARTI YADAW	Female	B. Sc./Maths/II	Renewal	10	85	850	0	1722	1722	2572
244	1601957 LAW KUMAR*SAHU	Male L	B. Sc./Computer Science/II	Renewal	10	70	700	135	1722	1857	2557
				-					4		

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period its detected.

PRINCIPAL candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

(Signature & SeaPotHead 6Fthe Institution)
Name (Capital Leters) : (C. G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Applications Type: Renewal

Sanction Date:

30/03/2019

Applic	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee Total Fee	Other Fee		Total Amount
245	1605388	1605388 RESHMI RATHORE	Female V	Female B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
246	1605453	1605453 VIJAY KASHYAP	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
207	1608189	1608189 KANTI KEWAT	Female V	B. Sc./Science/II	Renewal	• 10	85	850	0	*1722	1722	2572
248	1613249	1613249 KALPANA SAHU	• Female	M. A./Sociology/II:	Renewal	•> 10	120	· 1200	, 0	₹7701	1701	2901
27,9	1559964	1559964 SUMAN YADAV	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
30	1560675	1560675 MANOJ KUMAR YADAV	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
257	1561361	1561361 LAVESH KUMAR PATEL	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
252	1562316	1562316 SANDHYA PATEL	Female	B. A./Arts/II	Renewal	. 10	85	850	0	1662	1662	2512
253	1562375	1562375 VIMAL KUMAR KASHYAP	Male	B. A./Arts/III	Renewal	10	150	1500	115	0	115	1615
254	1562395	1562395 LAKESHWARI DEWANGAN	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
251	1564304	1564304 ASHISH DAS MAHANT	Male	B. A./Arts/III	Renewal	10	70	700	115	1662	1777	2477
276	1566308	1566308 CHANDRAKANT YADAV	Male	B. Com./Commerce/III •	Renewal -	10	70	_ 700	115	1662	1777	2477
257	1568081	1568081 POONAM KAIWART	Female V	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
258	1568663	1568663 HITESH KUMAR 💉	Male V	B. A./Arts/II	Renewal	10	85	850	144	1662	1806	2656
255	1568675	1568675 PRASHAT DEWANGAN	Male ·	B. A./Arts/III	Renewal	. 10	70	. 700	115	- 1662	. 1777	2477
260	1568806	1568806 ANJANI PATEL	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
20	1569454	1569454 NANDANI SAHU	Female V	B. Sc./Science/II	Renewal	_ 10	85	850	0	1722	1722	2572
262		1569591 SHIVKANT DEWANGAN	Female	B. A./Arts/III	Renewal	10	70	700	115	1662	1777	2477

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and minual income of Parents/Guardian from all sources of the

Place : Date :

(Signature & Seel of Head of the Institution)
Name (Capital Letters)



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

> State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Sanction Date: 30/03/2019

Applications Type: Renewal

		Academic Year: 2018-19							- The second second	27		
Applic	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	ition Fee Other Fee	Total Fee Total /	Total Amount
263	1569736	1569736 BISAHU DHIVER	Male	B. A./Arts/III	Renewal	10	70	700	115	1662	1777	2477
262	1569910	1569910 GAJENDRA KUMAR	Male	M. A./Pol. Science/II	Renewal	10	105	1050	144	1701	1845	2895
724	1570110	1570110 DURGA KUMARI KEWAT	Female	B. Sc./Maths/III	Renewal	10	* 85	850	0	1722	1722	2572
266	1570157	1570157 AASHISH KUMAR	Male	B. As/Arts/III	Renewal	10	- ₹ 70	700	. 115	1662	1773	2477
170	1570198	1570198 RAMESHWARI KASHYAP	Female V	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
237		1571888 NIRAJ KUMAR	Male	B. A./Arts/III	Renewal	10	70	700	115	1662	1777	2477
269		1573030 PRIYANAKA YADAV	Female	M. Com./ABST/II	Renewal	10	120	1200	0	1701	1701	2901
270.		1573861 SHEELA DEWANGAN	Female V	B. Sc./Science/II	Renewal	10	85	3 850	0	1722	1722	2572
27/		1573903 MANISH KUMAR	Male \	B. Sc./Science/II	Renewal	10	. 70	700	135	1722	1857	2557
272	1573937	1573937 GAURAV DEWANGAN	Male	M. Com./ABST/II	Renewal	10	105	1050	144	1701	1845	2895
KY.	1579023	1579023 SANGITA SONI	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
274	1580639	1580639 MEGHA SONI	Female -	B. Sc./Science/III	Renewal	10	. 85	850	0	1722	- 1722	2572
五十	1581986	1581986 REETU SAHU	Female	M. A./Sociology/II	Renewal	10	110	1100	0.	1701	1701	2801
276	1582111	1582111 BHAGVATI KASHYAP	Female V	B. Sc./Maths/II	Renewal	10	85	850	0	1722	1722	2572
277	1582622	1582622 RAVI KUMAR DEWANGAN	Male	B. A./Arts/II	Renewal	10	- 70	- 700	115	1662	1777	2477
278	1583088	278 1583088 PREETI ANKITA MAHANT	Female	M. A./English/II	Renewal	10	120	1200	0	1701	1701	2901
279	1583278	2.79 1583278 NIRANJAN PRASAD RATHORE	Male	B. Sc./Maths/II	Renewal	10	97	700	135	1722	1857	2557
80		1583424 HITESH KUMAR KAHRA	Male	B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	2557

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place: Date :

(Signature & Seal of Head of the Institution of the

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Applications Type: Renewal

Sanction Date: 30/03/2019

Applic	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	ee Other Fee	Total Fee	Total Amount
20/	1583588	1583588 KHUSHBU SHARMA	Female	M. A./Pol. Science/II	Renewal	10	120	1200	0	1701	1701	2901
287	1583638	1583638 CHANDRASHEKHAR DEW A NGAN	Male /	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
767	1583782	1583782 SADHANA SHRIWAS	Female.	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
286	1583853	1583853 AJAY KUMAR LOHAR	Male	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	2557
285	1583941	1583941 JAY KUMAR SAHU	Male	B. Com./Commerce/III *	Renewal	10	70	700	115	1662	1777	2477
りあん	1583947	1583947 BHAVANA DEWANGAN	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
207	1583952	1583952 RANJANA PATEL	Female	B. A./Arts/III	Renewal	10	85	850	; 0	1662	1662	2512
12 B 80 -	1583953	1583953 LOKESH KUMAR	Male	B. Sc./Maths/III	Renewal	10	70	,700	135	1722	1857	2557
680	1583955	1583955 RAJNÍ KAIWART	Female V	Female B. Sc./Maths/II	Renewal	10	85	850	0	1722	1722	2572
250	1584282	1584282 MAMATA SRIWAS	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
182	1585630	1585630 BHUPENDRA KUMAR	Male	B. Com./Commerce/II	Renewal	10	70	700	115	1662	1777	2477
282	1588416	1588416 SAROJANI PATEL	Female -	B. Sc./Science/II	Renewal	10 -	85	850	0	1722	. 1722	2572
253	1588635	1588635 TIKESHWAR KUMAR	Male	B. Com./Commerce/II	Renewal	10	70	700	115	1662	1777	2477
292	1588789	1588789 MAHENDRA KUMAR	Male <	B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	2557
2595	1590085	1590085 MONIKA SINGH RATHORE	Female \	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
296	1591351	1591351 POOJA KAUSHIK	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572

Declaration:

257 1594107 POOJA YADAV

Female

B. A./Arts/III

Renewal

10

85

850

0

1662

1662

2512

Certified that students studying in this institution are entitled for post matric serial no. 1 to I do here by sanctioning a sundocks. Zim. Dut of which is 25 social for allowance and 30 of the fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualitying exam, caste certificate of candidate and Jinny Acome of Parents/Guardian from all sources of the

(Signature & Seal of the Institution Name (Sapinel Leters) St Graduate College



Place:

Date:

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Applications Type: Renewal

Sanction Date :

30/03/2019

Applic	Application 10	Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Allowance	Ē	ition Fee Other Fee	Total Fee	Total Amount
298		1571814 KAMINEE DEWANGAN	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
199	14885,00	1488500 SANJAY KUMAR YADAV	Male	B. A./Arts/III	Renewal	10	70	700	115	1662	1777	2477
8	1488590	1488590 ROSHANI RATHORE	Female	B. Sc./Science/II	Renewal *	10	85	850	0	1722	1722	2572
30)	1491618	14916 SANGEETA KASHYAP	Female	B. Sc./Botany III	Renewal *	10	85	\$ 850	. 0	1722	1722	2572
302	1491679	1491679 DEWASHISH KUMAR DEWANGAN	Male	B. A./Arts/II	Renewal	10	70	700) 115	1662	1777	2477
303	1492183	1492183 UMASHANKAR DEWANGAN	Male (B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	2557
304	1496411	1496411 SANGEETA MANNEWAR .	Female 🗸	B. Sc./Science/II	Renewal	₹10	85	850	0	1722	1722	2572
305	1496489	1496489 SATRUPA SAHU	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
30%	1499882	1499882 AASHA BARETH	Female /	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
307	1501109	1501109 TULSI SAHU	Female	B. A./Arts/III	Renewal **	10	85	850	0	1662	1662	2512
308	1504633	1504633 LALITA DEWANGAN	Female V	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
808	1504958	1504958 CHITREKHA PATEL	Female L	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
310	1505666	1505666 BHUPENDRA KUMAR DEWANGAN	Male \	B. Sc./Maths/II	Renewal	10	70	700	135	1722	1857	2557
317	1505712	1505712 SANJAY KUMAR	Male	B. A./Arts/III	Renewal	. 10	70	. 700	115	1662	1777	- 2477
3/2	1505723	1505723 SANGEETA KUMARI PATEL	Female \	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
2/2	1506061	1506061 SONIYA YADAV	Female	B. A./Arts/II	Renewal	. 10	85	850	0	1682	1682	2532

Declaration:

Certified that students studying in this institution are entitled for post matric scholarsh o and after thoroughly examining the scholarsh is applications included in the above proposal from serial no. 1 to I do here by sanctioning a subsection of the copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

(Signature & Seal of Head of the Institution)
Name (Capital Leters) if Graduate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Sanction Date : 30/03/2019

Applications Type: Renewal

	Academic Year: 2018-19	RI-8107						16.			
Applic	lication ID Student Name	Name Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Fee Other Fee	Total Fee	Total Amount
2/5	1507795 RITU KARSH	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
715	1507819 RUPALI DEWANGAN	AN Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
0	1512231 BHAGWATI ADITYA	YA Female	B. Sc./Science/II	Renewal	10	* 85	850	0	1722	1 722	2572
3 0	1512342 APARNA DHIWAR		B;Sc./Science/II	Renewal	10	•> 85	850	. 0	1722	1,722	2572
8(8)	1512430 SEEMA DEWANGAN	AN Female	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
313	1515781 ANJANI KUMARI YADAV		Female B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
320	1516777 NAVDHA SAHU	Female	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
20.	1518886 UPASANA SONI	Female	M. A./English/II	Renewal	10	120	1200	0	1701	1701	2901
202	1524098 KAVITA PATEL	Female	B. A./Arts/II	Renewal	10	. 85	850	0	1662	1662	2512
\$25	1524212 HORIL KUMAR SAHU	HU Male C	B. Sc./Computer Science/II	Renewal	10	70	700	135	1722	1857	2557
644	1524258 SEEMA DEWANGAN	AN Female	B. Sc./Maths/III	Renewal	10	85	850	0	1722	1722	2572
321	1526821 KHUSHBOO YADAV	AV Female	B. A./Arts/III	Renewal	10	85	850	- 0	1662	1662	2512
328	1526919 GEETA SAHU	Female \	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
327	1528433 VIJAY KUMAR	Male \	B. Sc./Science/II	Renewal	10	. 70	700	135	1722	1857	2557
828	1532014 JAGDISH KUMAR	Male	M. Sc./Chemistry/II	Renewal	10	. 105	1050	144	1751	1895	. 2945
325	1533876 TANUJA RATHORE	≀E Female 🌽	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
330	1535401 MALTI SAHU	Female W	B. A./Arts/II	Renewal	10	. 85	850	0	1662	1662	2512
1 × ×	1537060 GIRIJA BARETH	Female	B. A./Arts/II	Renewal	10	70	700	0	1662	1662	2362

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualitying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signature & Seallor Head Offene Institution)
Name (Lipital Leters) & Graduate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Sanction Date: 30/03/2019

Applications Type: Renewal

Applic	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	daintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
332	1540498	1540498 LAXMI PRASAD SAHU	Male	B. A./Arts/III	Renewal	10	70	700	115	1662	1777	2477
SEE	1540535	1540535 INDRAKUMAR DEWANGAN	Male V	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
334	1540720	1540720 DIVYA KUMARI	Female V	B. Sc./Science/II	Renewal	10	85	*850	0	1722	1722	2572
752	1540808	1540808 VIKRAM KUMAR	Male-	B. Sc./Science/III	Renewal	16	70	.₹00	. 135	1722	1857	2557
388	1542210	1542210 BHUPENDRA KUMAR KENWAT	Male	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	2557
722	1542284	1542284 TIKESHWAR BARETH	Male	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	2557
2000	1542525	1542525 SHIV PRASAD PATEL	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
337	1543461	1543461 DURGESH DEWANGAN	Male	B. Com./Commerce/III	Renewal	10	70	700	1115	1662	1777	2477*
040	1543500	1543500 SHRADDHA KUMARI BARETH	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
8247	1543505	1543505 SANTOSHI KARSH	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
202	1550938	1550938 SUNITA BARETH	Female	B. A./Arts/II	Renewal	10	85	850	- 0	1662	1662	2512
200	1551047	1551047 PRABHA RATHORE	Female /	B. Sc./Science/II	Renewal	10	85	- 850	0	1722	_ 1722	2572
344	1552803	1552803 YSHODA YADAV	Female V	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
345	1553601	1553601 PANNA LAL PATEL	Male \	B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	2557
348	1553625	1553625 MANISHA BARETH	Female \	B. Sc./Science/II	Renewal	10	85	-850	. 0	1722	1722	2572
367	1553628	1553628 MANISHA JALTARE	Female \	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
342	1553632	1553632 CHANDRA PRABHA	Female V	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
349	1167021	345 1167021 ANKITA GOPAL	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place :

(Signature & Sedlof Head of the Institution)

Mamel (Capital Leters): Graduate College

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Sanction Date: 30/03/2019

Applications Type: Renewal

Appli	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Fee Total Amount
40	1182565	1182565 SEEMA PATEL	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
(52)	1183244	1183244 HARISH MANIK	Male /	B. Sc./Computer Science/II	Renewal	10	70	700	135	1722	1857	2557
297	1206901	1206901 URMILA CHANDRA	Female	M. A./Pol. Science/II	Renewal	• 10	120	1200	0	• 1701	1701	2901
(Z)		121076 UMEN KUMAR MARAR -	Male	M. A./Pol. Science/II	Renewal	• 10	105	1050	. 144	·; 1701	1845	2895
258	1227039	1227039 MANJU BARETH	Female	M. A./Pol. Science/II	Renewal	10	120	1200	0	1701	1701	2901
is y		1227264 VIKAS KUMAR DEWANGAN	Male	B. Com./Commerce/III	Renewal	10	70	700	115	1662	1777	2477
250		1227388 PUSHPA PATEL	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
W J		1227648 AHILYA KUMARI	Female	B. A./Arts/III	Renewal	· io	85	850	0	1662	1662	2512
328		1228933 VINOD KUMAR	Male	B. Com./Commerce/III 🦛	Renewal	10	70	700	115	1662	1777	2477
500		1229407 SANJAY SAHU	Male	B. Sc./Science/III	Renewal	. 10	70	700	135	1722	1857	2557
Ca		1229420 BHUPENDRA KUMAR PATEL	Male	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	2557
63	1229472	1229472 BHUWNESHWARI DEWANGAN	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	_ 2512
2007		1229498 LALIT KUMAR	Male	B. A./Arts/III	Renewal	10	70	700	115	1662	1777	2477
62		1229502 AASHISH KUMAR SAHU	Male	B. Sc./Maths/III	Renewal	10	70	700	135	1722	1857	2557
264		1229561 KSHAMA DEWANGAN	Female	B. A./Arts/III	Renewal	- 10	85	. 850	0	1662	1662	- 2512
200		1229569 AARTI KUMARI	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
366		1230588 PURNIMA KUMARI DEWANGAN, Female	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
36.	7 1231774	367 1231774 DHANESHWARI KARSH	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signature & SealloftHead offthe Institution)
Name (InfoRd Leters) of Graduate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Applications Type: Renewal

Sanction Date: 30/03/2019

Application ID	on ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee (Fee Other Fee	Total,Fee	Total Amount
12 12	1231950 AARTI BARETH	Female	B. Sc./Maths/III	Renewal	10	85	850	0	1722	1722	2572
Ca	1232019 YOGENDRA KUMAR	Male	B. Sc./Maths/III	Renewal	10	* 70	700	135	1722	1857	2557
270 12	1232227 VARSHA KEWAT	Female	B. Sc./Science/III	Renewal	10	85	850	1 0	1722	1722	2572
	1236061 BHARAT LAL KAHRA	Male	B. A./Arts/III	Renewal	10	70	700	115	1662	1777	2477
*	1236088 ASHA YADAV	Female	B, Com./Commerce/III 🍁	Renewal	10	85	850	0	1662	1662	2512
	1236666 SAWITRI SAHU	Female	B. Sc./Maths/III	Renewal	10	85	850	0	1722	1722	2572
0 2 3 12	2 1236836 MEGHNATH DEWANGAN	Male	BCom./Commerce/III	Renewal	10	. 70	700	115	1662	1777	1 2477
274 12	1236881 PRIYA SAHU	Female	B. A./Arts/III	Renewal	10	. 85	850	0	1662	1662	2512
37/ 12	1237198 SUDHIR YADAV	Male	B. A./Arts/III	Renewal	10	70	700	115	1662	1777	2477
	1237204 BUDHESHWARI KARSH	Female	B. Sc./Computer Science/III Renewal	Renewal	10	85	850	0	1722	1722	2572
-	1237209 VIJAY KUMAR MAHANT	Male	B. Com./Commerce/III 🐡	Renewal	10	70	700	115	1662	1777	2477
	1257045 KIRAN DEWANGAN	Female	B. Sc./Maths/III	Renewal	10	85	850	~ O	1722	1722	2572
	1257243 VISHRAM PATEL	Male	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	2557
38/ 12	1257795 HEMLATA KARSH	Female	M. A./Pol. Science/II	Renewal	10	120	1200	0	1701	1701	2901
	1259063 GANESH RAM DEWANGAN	Male	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	2557
S 253 12	\$ 953 1261174 KAVITA PATEL	Female	B. Sc./Computer Science/III Renewal	Renewal	10	85	850	0	1722	1722	2572
384 17	38, 1262317 NEHA RATHORE	Female	B. Sc./Science/III	Renewal	10	. 85	850	0	1722	1722	2572

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

(Signature & Sea of Head of the Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Sanction Date: 30/03/2019 Applications Type: Renewal

											Taka Amount
Applic	Application ID Student Name	Gender	Course	Туре	No. or Month	Rate	Allowance	I WILLOW Fee	Wance Inton Fee Other Fee Total Fee Total Amount	6	
700	1262937 BHAWNA BARETH	Female	B. Sc./Computer Science/III Renewal	Renewal	10	85	850	0	1722	1722	2572
7007	1263097 NEHA DEWANGAN	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
Lekn n	1263105 CHANDA DEWANGAN	Female	B. Sc./Science/III	Renewal	10	85	* 850	0	1722	1722	2572
200	VIBHAA BARETH	Female	B. Sc./Science/III	Renewal	10	85	- 850	. 0	1722	1722	2572
2000	4	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
207	TZOSISO INTIDUINI SCIED		Si caliantina		5	130	1200	0	1751	1751	2951
390	1263413 RADHIKA RATHORE	Female	M. Sc./Mathematics/II	Renewal	10	120	0071		1771	1771	1001
رودا	1263480 HEMLATA SAHU	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	77.67
392	1263626 NARENDRA KUMAR DEWANGAN Male	Male	B. Com./Commerce/III *	Renewal	10	70	700	115	1662	1777	2477
N PA	1263737 VISHAL SONI	Male	B. Sc./Computer Science/III	Renewal	10	70	700	135	1722	1857	2557
200	NGAN	Male	B. Com./Commerce/III *	Renewal	10	70	700	115	1662	1777	2477
765	1265183 UMA SAHU	Female	M. Sc./Chemistry/II	Renewal	10	120	1200	0	1751	1751	2951
120	1265274 KRISHNA KUMAR	Male	B. Sc./Computer Science/III	Renewal	_10	70	700	135	1722 -	1857	2557
12	1265340 ANITA KUMARI SAHU	Female	B. Com./Commerce/III a	Renewal	10	85	850	0	1662	1662	2512
130	1301364 YAMINEE SAHU	Female /	1	Renewal	10	85	850	0	1722	1722	2572
O PE	1301486 GEETA PATEL	Female	B. Sc./Science/III	Renewal	-10	85	. 850	. 0	1722 -	1722	2572
50	1302151 BHUPENDRA DEWANGAN	Male	B. Com./Commerce/III *	Renewal	10	70	700	115	1662	1777	2477
401	1307444 KARAN SAHU	Male	B. Sc./Maths/III	Renewal	10	70	700	135	1722	1857	2557
402	4 c 2 1307500 BHOOPENDRA KUMAR YADAW	Male	B. Sc./Maths/III	Renewal	10	70	700	135	1722	1857	255/

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the periodit is detected to the authority for eventual discontinuance of scholarship/stipend from the periodit is detected to the authority for eventual discontinuance of scholarship/stipend from the periodit is detected to the authority for eventual discontinuance of scholarship/stipend from the periodit is detected to the authority for eventual discontinuance of scholarship/stipend from the periodit is detected to the authority for eventual discontinuance of scholarship/stipend from the periodit is detected to the authority for eventual discontinuance of scholarship/stipend from the periodit is detected to the authority for eventual discontinuance of scholarship/stipend from the periodit is detected to the authority for eventual discontinuance of scholarship/stipend from the periodic continuance of scholarship/stipend from the periodic continuance of scholarship/stipend from the periodic continuance of scholarship scholarship is a scholar continuance of scholarship scholarship scholarship is a scholar continuance of scholar continuance of scholarship scholars scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517 Sanction Date: 30/03/2019

Applications Type: Renewal

Applic	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	on Fee Other Fee	Total Fee	Total Amount
403	1307502	1307502 POOJA SAHU	Female	B. Sc./Computer Science/III Renewal	Renewal	10	85	850	0	1722	1722	2572
hoh	1263431	1263431 DINKI SHRIVAS	Female	B. Sc./Maths/III	Renewal	10	85	850	0	1722	1722	2572
Lou	1301555	1301555 DIKSHA YADAV	Female	B. Sc./Science/III	Renewal	10	85	850	9	1722	1722	2572
106	1307545	1307545 GOPAL PRASAD SAHU	Male	B. Sc./Science/III	Renewal •;	10	70	3 700	. 135	1722	1857	े 2557
res	1307561	1307561 BHUPENDRA KUMAR	Male	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	2557
5000	1307585	1307585 AARTI DEWANGAN	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
409	1307617	1307617 PRIYANKA TELI	Female	B. Sc./Maths/III	Renewal	10	85	850	0	1722	1722	2572
410	1307628	1307628 LATA SAHU	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
22	1307797	1307797 ANUSUIYA TELI	Female	B. Sc./Science/III	Renewal	10	85	850	,0	1722	1722	2572
412	1307861	1307861 RAJABABU BARETH	Male	B. Com./Commerce/III	Renewal	10	70	700	115	1662	1777	2477
314	1307864	1307864 NARENDRA KUMAR	Male	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	2557
414	1307898	1307898 PRAHALAD BARETH	Male	B. A./Arts/III	Renewal	10	70	700	- 115	1662	1777	2477
415	1307936	1307936 ANKITA DEWANGAN	Female	B. Sc./Computer Science/III Renewal	Renewal	10	85	850	0	1722	1722	2572
314	1307924	1307924 KOMAL DEWANGAN	Female	B. A./Arts/III	Renewal	10	70	700	115	1662	1777	2477
417	1307946	1307946 SWEETI DEWANGAN	- Female	B. Com./Commerce/III .	Renewal-	- 10	85	. 850	0	1662	1662	. 2512
812	1307966	1307966 KANCHAN DEWANGAN	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
419	1307970	1307970 CHANCHAL DEWANGAN	Female	B. Sc./Science/III	Renewal .	10	85	850	0	1722	1722	2572
420	1307973	1307973 RAKESH KUMAR CHANDRA	Female	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	2557

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place :

(Signature & Seal of Head of the lost trotton)

Name (CApprail Others): (C.G.)

CHAMPA



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

> State: Government of Chhattisgarh

Sanction Number: 30/03/2019 R/8/4075/3/10/89517

Applications Type: Renewal

4

Sanction Date :

Appli	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	fuition Fee Other Fee	Total Fee	Total Fee Total Amount
42)	1308076	1308076 TEJ PRAKASH YADAV	Male	B. Sc./Computer Science/III	Renewal	10	70	700	135	1722	1857	2557
422	1308082	1308082 SUMAN SAHU	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
824	1308084	1308084 MONIKA YADAV	Female *	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
:424		1308098 OMPRAKASH NAMDEO	Male L	B. Sc./Science/II	Renewal	10	• 70	700	135	1722	·> 1857	2557
425	1308101	4 25 1308101 DIKSHA MAHANT	Female	B. Sc./Maths/III	Renewal	10	85	850	0	1722	1722	
426	. 1308119	为24 1308119 KAMLESH PRASAD PATEL	Male	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	2557
イスト	1308127	レスプ 1308127 DURGA PATEL	Female *	B. Com./Commerce/II	Renewal	10	85	850	0	1662	1662	
82ch		1308135 RADHIKA DEWANGAN	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	-
429	1308138	1308138 SHARDA DEWANGAN	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
430		1308835 YOGESH TELI	Male	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	2557
43)	1308838	1308838 SATISH KUMAR DEWANGAN	Male C	B. Sc./Maths/II	Renewal	10	70	700	135	1722	1857	2557
432		1310650 DIPAK KUMAR-	Male	B. A./Arts/III	Renewal	10	70	700	_ 115	1662	1777	2477
433		1310651 CHANDRIKA PATEL	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
75h	1311431	1311431 LOCHAN RATHORE	Male	B. Com./Commerce/III 🚁	Renewal	10	70	700	115	1662	1777	2477
435		1308117 LUKESH KUMAR	Male .	B. Sc./Maths/III	Renewal	10	- 70	700	. 135	1722	. 1857	. 2557
754	1308139	1308139 AJAY KUMAR	Male	B. A./Arts/III	Renewal	10	70	700	115	1662	1777	2477
137	1329338	V37 1329338 PRATIBHA THAWAIT	Female	B. Sc./Science/II	Renewal	10	. 85	850	0	1722	1722	2572
BEN.	1332508	433 1332508 SANJAY SAHU	Male	B. Sc./Computer Science/II	Renewal	10	70	700	135	1722	1857	2557

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place: Date :

Name (Capital Leters): Graduate Colle (Signature & Seal of Head of the Institution



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 30/03/2019

Sanction Number:

R/8/4075/3/10/89517

Applications Type: Renewal

Appli	Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee (Other Fee	ion Fee Other Fee Total Fee Total Amoun	Total Amount
22	1335777 SUNIL KUMAR SONI	Male	B. Com./Commerce/III	Renewal	10	70	700	115	1662	1777	2477
440	1342133 BHAGWATI KASHYAP	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
427	1367799 JYOTI PATEL	Female (B. Sc./Science/II	Renewal	10	85	* 850	0	1722	1722	2572
4 52	4 52 1422280 SARASWATI PATEL	Female \	B. Sc./Science/II •	Renewal	₫ 10	85	→ 850		1722	1722	2,572
524	1422315 SIBBHI DEWANGAN	Female *	B. Com./Commerce/II	Renewal	10	85	850	0	1662	1662	2512
442	442 1422420 PREMLATA RATHORE	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
745	1422440 ALKA SONI	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
324	1320160 abhishek rathore	Male	B. Sc./Maths/II	Renewal	10	70	. 700	135	1722	1857	2557
447	1422332 KIRAN YADAV	Female *	B. Com./Commerce/II	Renewal	10	85	. 850	0	1662	1662	2512
220	5 28 1422409 MUKESH SHRIWAS	Male V	B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	2557
242	1422443 SAVITA SAHU	Female V	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
470	1422467 ANJANI SAHU	Female	B. A./Arts/III	Renewal	_ 10	85	850	0	1662	1662	2512
3	1422468 YOGESHWARI RATHORE	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
452	1422479 NAVEEN KUMAR	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
574	1422484 LALITA DHIMAR	Female V	B. Sc./Science/II	Renewal	- 10	85	. 850	. 0	1722	1722	-2572
454	1422488 VIKAS SHRIVAS	Male	B. Com./Commerce/II	Renewal	10	70	700	115	1662	1777	2477
15h	1427864 LATA KUMARI DEWANGAN	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
252	1429910 KAVITA DEWANGAN	Female U	B. A./Arts/II	Renewal	10	85	850	. 0	1662	1662	2512

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signature & Seal of Mead of the institution)
Name (Chortal Laters): (1974)



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

Applications Type: Renewal

Sanction Number:

R/8/4075/3/10/89517

State:

Government of Chhattisgarh

Sanction Date:

30/03/2019

Applic	Application ID	Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee		Total Fee	Total Amoun	unt
457	1433321	1433321 VISMITA SINGH RATHORE	Female V	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722		2572
200	1445225	1445225 PANKAJ KUMAR SAHU	Male	B. Com./Commerce/II	Renewal	10	70	700	115	1662	1777		2477
572	1435400	1435400 NEETU RATHORE *	Female V	B. A./Arts/II	Renewal*	10	85	850	O,	1662	1662		2512
760	1445606	1445606 DINESH KUMAR	Male	B. Sc./Science/II	Renewal	10	70 📑	700	. 135	1722	1857	۵.	2557
(34	1445772	1445772 HEMANT KUMAR	Male	B. A./Arts/III	Renewal	10	70	700	115	1662	1777		2477
462	1445898	1445898 OMPRAKASH YADAV	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777		2477
634		1447204 PRIYA KUMARI	Female V	B. Sc./Maths/II	Renewal	10	85	850	0	1722	1722		2572
124	1446772	1446772 AVINASH YADAV	Male	B. Com./Commerce/II	Renewal	, 10	70	700	115	1662	1777		2477
465	1447300	1447300 KHINSHU DEWANGAN	Female /	B. A./Arts/II	Renewal	10	70	700	115	1662	1777		2477
334	1447316	1447316 KAVITA DEWANGAN	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662		2512
467	1447835	1447835 KAMINI DEWANGAN	Female L	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722		2572
8311	1447841	1,68 1447841 MEDHA RAM SAHU	Male C	B. Sc./Maths/II	Renewal	10	70	700	135	1722	1857	1	2557
465	1447882	2,69 1447882 SURENDRA KUMAR	Male	B. Com./Commerce/II	Renewal	10	70	700	0	1662	1662	- 5	2362
200	1449772	1449772 CHURAMANI JAYSWAL	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777		2477
いてい	1460928	1460928 MADHURI KASHYAP	· Female	B. Sc./Science/II	Renewah	- 10	85	850	0	1722	1722	ox:	2572
472		1460937 SHARVAN KUMAR	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777		2477
として		1460999 SATYAM KUMAR	Male V	B. Sc./Science/II	Renewal	10	70	700	135	. 1722	1857		2557
474	1461005	1461005 KUSUMLATA TELI	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662		2512

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place: Date:

(Signature & Seal of Head of the Institution) Name (Capital Leters)



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517 Sanction Date: 30/03/2019

Applications Type: Renewal

	Treatment to the tree to							100			
Applica	Application ID Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Fee Other Fee	Total Fee	Total Amount
170	1461012 MILAN PATEL	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
246	1461018 RESHMA PATEL	Female	B. A./Arts/II	Renewal	10	85	850	0	1682	1682	2532
212	1461019 NAND KUMAR	Male C	B. Sc./Maths/II	Renewal	10 *	70	700	115	1722	1837	2537
250	1461024 SACHIN DEWANGAN	Male 🧆	B. Com./Commerce/II	Renewal	10 ->	70	700		1662	· 1777	2477
200	1461031 MADHU LATA SONI	e	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
a	1461035 trilok nath	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
à c	1461037 mamta dewangan	Female	Female B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	
100	1461041 LATA KUMARI	Female .	Female B. Sc./Science/II	Renewal	10	85	850	0	1722	1722 '	
2007	1461040 MONIKA KARSH	Female C	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
484	1461043 ROSHAN KUMAR JAISWAL	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	
العار	1461051 SARVESH PATEL	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
700 1	1461053 VINOD KUMAR YADAV	Male	B. Sc./Maths/II	Renewal	- 10	70	700	_ 115	1722	1837	2537
187	1461131 SUSHANT KASER	Male	M.S.W./Master of Social Work/II	Renewal	10	105	1050	144	2151	2295	3345
2000	1461133 ANJU KARSH	Female C	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	
a l	1461696 CHAMELI SAHU	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
190	1461746 manisha sahu	Female V	B. Sc./Maths/II	Renewal	10	85	850	0		1722	
187	ህ ዓ) 1461765 priya dewangan	Female U	Female B. Sc./Maths/II	Renewal	10	. 85	850	0	1722	1722	2572
1000											

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

(Signature & Seal of Head of the Anstitution) her Name (Sapinal leters) of Graduate College (C. G.)



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

> State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Applications Type: Renewal Sanction Date: 30/03/2019

				THE RESERVE THE PARTY OF THE PA	THE RESERVE AND THE PERSON NAMED IN		100						
Applica	Application ID	Student Name	Gender	Course	Type	No. of Month	Rate	Allowance		on Fee	ree Ogjet ree	G.	711001
492	1461039	1461039 AARTI SAHU	Female C	B. A./Arts/II	Renewal	10	85		850	0	1662	1662	2512
	1461843	1461843 PANKAJ SONI	Male	B. Com./Commerce/III.	Renewal	10	70		700	115	1662	1777	2477
-1	1481425	1481425 AJAY YADAV	Male	B. A./Arts/II	Renewal	10	70		700	115	1662	1777	. 2477
,	1484385	1484385 AMIT KUMAR SONI	Male	M.S.W./Master-of Social Work/II	Renewal	d 10	105	 	1050	144	Ž 151	2295	·; 3345
262	1486991	1486991 MEGHA NAMDEV	Female	B. A./Arts/II	Renewal	10	85		850	0	1662	1662	2512
7	1484478	1484478 MANISH KUMAR DEWANGAN	Male	B. A./Arts/II	Renewal	10	70		700	115	1662	1777	2477
20	1487809	1487809 DIVYA KUMARI DEWANGAN	Female	B. Sc./Maths/III	Renewal	10	85		850;	0	1722	1722	2572
Pr	1458728	1458728 durgeshwari bareth	Female V	B. Sc./Science/II	Renewal	10	85	5	850	0	1722	1722	2572
	1449839	1449839 .GAYATRI SAHU	Female	B. Sc./Science/III	Renewal	10	85		850	0	1722	1722	2572
- 1	1449878	1449878 SHARDA SONI	Female V	B. Sc./Science/II	Renewal	10	85		850	0	1722	1722	2572
AGY	1449896	2 1449896 SALINI SAHU	Female	B. A./Arts/II	Renewal	10	85		850	0	1662	1662	2512
8	1449948	1449948 HEMA DEWANGAN	-Female	B. A./Arts/III	Renewal	. 10	85	,	850	0	1662	1662	2512
Aor	1450017	1450017 RUBI DEWANGAN	Female (B. A./Arts/II	Renewal	10	85		850	0	1662	1662	2512
6	1450099	1450099 MADHU PATEL	Female	B. A./Arts/III	Renewal	10	85		850	0	1662	1662	2512
2	1450260	1450260 .RAMESHWAR KARSH	Male	B., Sc./Maths/III	Renewal	10	70		700	135	1722	1857	2557
507	1450361	1450361 KAJAL DEWANGAN	Female V	B. Sc./Maths/II	Renewal	10	85		850	0	1722	1722	2572
A COR	1450559	1450559 SAKUNTALA PATEL	Female V	B. A./Arts/II	Renewal	10	85		850	0	1662	1662	2512

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Date : Place:

(Signature & Seal of the Institution)

Name (Capital Leters): Graduate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: ОВС

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

Government of Chhattisgarh

Sanction Number: 30/03/2019 R/8/4075/3/10/89517

Sanction Date:

Applications Type: Renewal

Applic	lication ID	Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Allowance	Tuition Fee O	ee Other Fee	Total Fee	Total Amount
400	1450750 BI	1450750 BHUNESHWARI PATEL	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
Ale I	1451407 PO	1451407 POOJA SHRIVAS	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
3	1451414 V	1451414 VINITA KUMHAR	Female	B. Com./Commerce/II	Renewal	10	85	850	, 0	1662	1662	2512
is i	1451417 D	1451417 DHANESHWART-DEWANGAN	Female	B. Al/Arts/II	Renewal	10	85	850	. 0	1662	1662	2512
10/0	110111			D A (Addr)	Donowal	10	28	850	0	1662	1662	2512
LA CH	1459046 de	1459046 deepika dewangan	remale	B. A./ARS/II	Kellewal	TO	5	000			-	
20	1459066 heera lal	eera lal	Male	B. Com./Commerce/III	Renewal	10	70	700	115	1662	1777	2477
C		1459085 raju dewangan	Male	M. Sc./Chemistry/II	Renewal	10	105	1050	135	1751	1886	2936
8		ım lal	Male	M. A./Sociology/II	Renewal	10	105	1050	144	1701	1845	2895
AI	- 1	1459229 madhaw prasad	Male	M. Com./ABST/II	Renewal	10	105	1050	144	1701	1845	2895
0	1459245 d	1459245 chha ya namdeo	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
200	1459335 di	15 1459335 dileshwar k umar	Male	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	2557
730	1459318 m	1459318 manoj k umar	Male	B. A./Arts/III	Renewal	10	_70	700	. 115	1662	1777	2477
37	1459337 suraj k arsh	uraj k arsh	Male	B. A./Arts/III	Renewal	10	70	700	115	1662	1777	2477
27	2 1459348 ai	anjor das	Male	B. Com./Commerce/III	Renewal	10	70	700	115	1662	1777	2477
RI-L	1459350 kg	1459350 komal prasad sahu	Male	B. Com./Commerce/III >	Renewal ·	10	- 70	700	. 115	1662	1777	2477
200	1459513 B	係つい 1459513 BHARTI PATEL	Female 🖢	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512

Declaration:

Male Male Female

\$26 1459513 BHARTI PATEL 1459701 devendra patel 1459704 arvind singh

B. A./Arts/II B. Sc./Maths/III B. A./Arts/III

Renewal Renewal

10 10 10

70 70 85

850 700 700

135 115

> 1722 1662

1857 1662

1662

1777

2477 2557

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place: Date:

(Signature & Seal of Head of the Institution) Name (Sapinal Leters) St Graduate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517 Sanction Date: 30/03/2019

Applications Type: Renewal

443	543	542	541	540	623	38.3	537	\$36	200	253	3	53	183	500	523	328	120	Appi
		1459341	1		1460916	1460915	1460909	1460904		1460482	1460473	1460455	1460452				1459715	Application ID
1459500 KU RAJESHWARI	1459493 VIDYA SHAV	seema bare th	1460927 SHILA YADAV	1460924 VIMLA DEWANGAN	1460916 MUKESH DEWANGAN	1460915 LAKESHWARI BARETH	TIKESH DEWANGAN	AKASH DEWANGAN	1460857 bhuneshwari rathore	1460482 PRADEEP KAIWANT	1460473 ANJANI BARETH	1460455 URMILA KUMHAR	1460452 DHANESHWARI DEWANGAN	1460450 PUSHPENDRA SAHU	1459751 kumari divya yadav	1459723 mr.keshav sahu	1459715 mr.ashwani dewangan	Student Name
Female V	Female 🔑	Female	Female .	Female /	Male V	Female C	Male	Male **	Female /	Male*	Female V	Female C	Female V	Male	Female	Male	Male	Gender
B. A./Arts/II	B. A./Arts/II	M. Sc./Chemistry/II	- B. Com./Commerce/II -	B. Sc./Science/II	B. Sc./Science/II	B. Sc./Maths/II	B. Sc./Science/II	B. Com./Commerce/II	B. Sc./Science/II	B. A./Arts/II	B. Sc./Science/II	B. Sc./Science/II	B. Sc./Science/II	B. A./Arts/II	B. A./Arts/III	B. Sc./Science/III	B. A./Arts/III	Course
Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Туре
10	10	10	- 10	10	10	- 10	10	10	. 10	fo	10	10	10	-;10	, 10	10	10	No. of Month
85	85	120	. 85	85	70	85	70	70	85	70	85	85	85	70	85	70	70	Rate
850	850	1200	850	850	700	850	700	700	850	700	850	850	850	700	850	700	700	Maintenence Allowance
0	0	0	0	0	135	0	135	115	0	115	0	0	0	. 115	0	135	115	Tuition Fee
1662	1662	1751	1662	1722	1722	- 1722	1722	1662	1722	1662	1722	1742	1722	1662•	1662	1722	1662	Other Fee
1662	1662	1751	- 1662	1722	1857	1722	1857	1777	1722	יייין ז'יי	1722	1742	1722	1777	1662	1857	1777	Total Fee
2512	2512	2951	2512 -	2572	2557	2572 _	2557	2477	2572	2477	2572	2592	2572	2477 ै	2512	2557	2477	laintenence Tuition Fee Other Fee Total Fee Total Amount

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

(Signature & Seal of Head of the Institution)

Name (Capital Leters): Graduate College

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517 Sanction Date: 30/03/2019

Applications Type: Renewal

								1	The state of the s	9	
Application ID	Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Allowance	1	Fuition Fee Other Fee	Total Fee	Total Amount
\$45 1459650	1459650 jagdish dewangan	Male •	B. Com./Commerce/II	Renewal	10	70	700	115	1662	1777	2477
\$46 1459721	1459721 mr.santosh dewangan	Male	B. Com./Commerce/III -	Renewal	10	70	700	115	1682	1797	2497
K47 1459736	1459736 nirmala yadav	Female V	B. A./Arts/II	Renewal	10	85	* 850	0	1662	1662	. 2512
548 1460914	\$58 1460914 JAMUNA DEWANGAN	Female	B. Com./Commerce/II	Renewal	10	85	• 850	. 0	1662	1662	·; 2512
Sec. 1450864	1450864 CHANDRAKALA DEWANGAN	Female V	Female B. Sc./Maths/II	Renewal	10	. 85	850	0	1722	1722	2572
€ JC 1451166	1451166 ARUNDHATIPATEL PATEL	Female /	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
(3) 1451411	1451411 MEENA KUMARI	Female V	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	251
€SZ 1451 4 20	1451420 DEEPAK KUMAR DEWANGAN	Male 🌲	B. Com./Commerce/II	Renewal	10	70	• 700	115	1662	1777	• 2477
\$T3 1451438	1451438 KRISHNA KUMAR	Male V	B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	2557
	1451447 JAGDISH LOHAR	Male V	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
	1451454 BRIJMOHAN SAHU	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
	1451459 PRITI KUMARI YADAV	Female V	B. Sc./Maths/II	Renewal	10	- 85	850	0	_ 1722	1722	2572
557 1451478	1451478 LAXMIN SAHU	Female (B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
58 1451481	SS 1451481 DEV KUMARI DEWANGAN	Female /	B. Sc./Maths/II	Renewal	10	85	850	0	1722	1722	2572
45 1451485	1451485 PRADIP KUMAR	Male /	B. Sc./Science/II	Renewal	. 10	70	- 700	135	. 1722	1857	2557
Sec 1451486	1451486 BHARTI DEWANGAN	Female 🥟	B. Com./Commerce/II	Renewal	10	85	850	0	1662	1662	2512
56) 1451508	1451508 DHARMENDRA SINGH	Male V	B. Sc./Maths/II	Renewal	10	70	700	135	1728	1863	. 2563
LZ 1451538	CL 1451538 SEWATI KENWAT	Female \	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signature & Seal of Head of the Institution)
Name (Capital Leters): OSI Ordanate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Applications Type: Renewal

Sanction Date:

30/03/2019

Appli	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Fee Other Fee		Total Fee Total Amount
50	1451558	1451558 POORNIMA DEWANGAN	Female 🦃	B. Com./Commerce/II	Renewal	10	85	850	0	1662	1662	2512
435	1451561	1451561 NIRMLA YADAV	Female \	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
455	1451582	1451582 HEMANT KUMAR	Male	B. Com./Commerce/II	Renewal	10	70	700	* 115	1665	1780	2480
2	1451612	1451612 RADHIKA BARETH	Female V	Bsc./Science/II	Renewal	10	85	850	. 0	1722	1722	2572
3	1451615	KAVI RAJ DEWANGAN	Male 💛	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
82.3	1451619	DEEPAK PATEL	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
567		1451620 MEGHA DEWANGAN	Female 🌸	B. Com./Commerce/II	Renewal	10	85	850	0	1662	1662	2512
570		1451626 MANJU SAHU * *	Female	B. Sc./Computer Science/II	Renewal	10	85	850	• 0	1 1722	1722	2572
(45)	1452494 (1452494 CHANDRIKA SAHU	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
572	1452617	1452617 MINAKSHI SAHU	Female V	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
573		1452646 PARMESHWARI SAHU	Female V	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
5/2		1452663 RAVI KUMAR	Male	B. A./Arts/II	Renewal	10	_ 70	700-	115	1662	1777	2477
27.3		1452668 SONIYA DEWANGAN	Female V	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
3576	1452670 9	1452670 SNDHIYA BARETH	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
577	1452690 [1452690 DHARAM LAL-	Male	B. Com./Commerce/III >>	Renewal ·	10	- 70	700	115	1662	1777	2477
865	1452739 \	578 1452739 VARSHA RANI DEWANGAN	Female V	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
43	1452775 1	577 1452775 LAXMI PRASAD	Male	B. A./Arts/II	Renewal	10	70	700	.115	1662	1777	2477
580	1452799 F	RAM LAL YADAW	Male	B. A./Arts/II	Renewal	. 10	70	700	115	1662	1777	2477

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

(Signature & Seal of Head of the Institution)
Name (Capital Leters):
Out. M. M. R. Post Graduate College

This Sanction is generated by Scholarship Portal. Printed on 3/30/2019

Date .

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 30/03/2019

Sanction Number: R/8/4075/3/10/89517

Applications Type: Renewal

Applic	Application ID Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Ition Fee Other Fee Total Fee Total Amou	Total Fee	Total Amount
(63)	1452802 PRAKASH MAHANT	Male	B. Com./Commerce/III *	Renewal	10	70	700	150	1662	1812	2512
283	1452825 DEEPIKA YADAV	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
Ser J	1452844 BHISHAM PATEL	Male	B. A./Arts/III	Renewal	, 10	70	700	115	1662	1777	2477
183	1452859 ATUL DEWANGAN	Male	B. Com./Commerce/II	Renewal	.⇒ 10	70	300	, 115	1662	1777	247
100	1452872 AYAJ KUMAR	Male \	B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	2557
200	1452897 NANDANI SAHU	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
637	1458733 neha karsh	Female \	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
200	1458749 krishni dewangan	Female	B. A./Arts/III	Renewal	* 10	* 85	850	0	1662	1662	2512
ON A	1458752 ajeet kumar	Male	B. A./Arts/III	Renewal	10	70	700	115	1662	1777	2477
A CO	1458804 bharti jaiswal	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
100	1458875 shashi kumar sahu	Male	M. A./English/II	Renewal	10	105	1050	144	1701	1845	2895
100	1458982 shubham singh rathore	Male	B. A./Arts/III	Renewal	. 10	70	700	115	1662	1777	2477
200	1459041 jittee sahu	Female	B. A./Arts/III	Renewal	10	4 85	850	0	1662	1662	2512
200	1459038 rewati dewangan	Female	M. A./Pol. Science/II	Renewal	10	120	1200	0	1701	1701	2901
3	1459036 pooja dewangan	Female :	B. A./Arts/II	Renewal	- 10	. 85	850	0	1662	1662	2512
263	65C 1458992 savitri sahu	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
100	(5) 1458898 urmila dhimra	Female	M. Com./ABST/II	Renewal	10	120	1200	0	1701	1701	2901
82.53	とうな 1458919 deepak kumar dewangan	Male	B. Com./Commerce/II	Renewal	10	70	700	115	1662	1777	2477

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candicate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

(Signature & Seal of Head of the Institution)
Name (Capital Leters PRINCIPAL)

FOM. M.M.R. Post Graduate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Applications Type: Renewal

Sanction Date: 30/03/2019

												SHANNER STATE
Ąp	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee Total Fee Total Amoun	ther Fee	Total Fee	otal Amount
	1455040 umesh kumar	nesh kumar	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
1	\	mini rathore	Female	Female B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
The second	1455097 puniram kahra	niram kahra	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777 *	2477
000	4455101 pooia bareth	oia bareth	Female	B. A./Arts/II	Renewal 🤚	10	85	850	0	1662	1662 🔩	2512
DO	1455103 bharti dewangan	arti dewangan	Female	Female B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
75	1455104 soniva dewangan	niva dewangan	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
-	1455109 sunita kaser	nita kaser 📂	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
3	1455120 anusuiya kaiwart	2	Female	B. A./Arts/II	Renewal	10	85	3 850	0	1662	1662	2512
D 1	1455122 nilesh kumar	esh kumar	Male	B, Sc./Maths/II	Renewal	10	.70	700	135	1722	1857	2557
102	7 1455126 aarti kewat	rti kewat	Female U	B. Sc./Computer Science/II	Renewal	10	85	850	0	1722	1722	2572
The state of the s		ju bareth	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
00	-	ITU jaiswal	Female	B. A./Arts/II	Renewal -	10	- 85	850	0	1662	1662	2512
36		1455255 hemant jaiswal	Male	B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	2557
A G		1455267 sandeep kumar	Male	B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	2557
100	1.	eera sahu	le	B. A./Arts/II	Renewal -	10	85	. 850	0 .	1662	1662	- 2512
10/0		1455317 avinash rathore	Male	B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	2557
10		1451501 CHITRALEKHA DEWANGAN	Female	B. Com./Commerce/II	Renewal	10	85	. 850	0	1662	1662	. 2512
30		1451511 HIMANSHU SAHU	Male	B. Sc./Maths/II	Renewal	10	70	700	135	1722	1857	2557

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signature & Seal of Head of Whe Institution)
Name (Capital Letters): Post Graduate College

CHAMPA (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

> State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Applications Type: Renewal

Sanction Date: 30/03/2019

Applic	Application ID Student Name 17 1451515 VINOD KUMAR	Gender	Course B. A./Arts/II	Type	No. of Month	Rate 70	Maintenence Allowance 700	쿹	ition Fee	ition Fee Other Fee	Other Fee Total F
018	1451515 VINOD KUMAR 1451586 NATARAJ DEWANGAN	Male Male	B. A./Arts/II B. Com./Commerce/II	Renewal	10		70 70	70 700 70 700		700	700 115 700 115
6/19	1451590 SIMRAN DEWANGAN	Female .	B. Com./Commerce/II *	Renewal	10		85	85 850		850 *	850 * 0
020	1451605 ANITA GABEL	Female V	Female 🗽 B. A./Arts/II	Renewal	10		85	85 850	85	85 850 ❖	85 850 🔩 0
62	1452096 aasha dewangan	Female 🍆	B. A./Arts/II	Renewal	10		85	85 850		850	850 0
622	1452629 POOJA SAHU	Female V	B. Sc./Science/II	Renewal	10		85		85	85 850	85 850 0
250	1452922 MAHESHWAR BARETH	Male	B. A./Arts/III	Renewal	10	_	70		70	70 700	70 700 115
420	(27 1452637 UTTARA KUMAR "	Male	B. A./Arts/II	Renewal	10		70	70 700		700	700 115
225	625 1452950 GAYATRI SAHU	Female	B. A./Arts/III	Renewal	10		85	85 850		850	850 0
626	626 1452954 NAROTTAM KUMAR	Male	B. A./Arts/III	Renewal	10		70	70 700		700	700 115
427	タスフ 1452957 SHITAL PRASAD	Male	B. Sc./Science/III	Renewal	10		70	70 700		700	700 135
30	1452984 PRABHA SAHU	Female 🔽	B. Sc./Science/II	Renewal	10		85	85 850		-850	-850 0
625	1452988 DEEPAK KUMAR	Male 💙	B. A./Arts/II	Renewal	10		70	70 700		700	700 115
680	1452990 AMISHA RATHORE	Female V	B. Sc./Science/II	Renewal	10		85	85 850		850	850 0
(33)	1452998 SUMIT GUPTA .	Male	B. Com./Commerce/II	Renewal	10		. 70	. 70 700		700 -	700 - 115
CE. 25	1453002 RAMA DEWANGAN	Female 🝆	B. A./Arts/II	Renewal	10		85	85 850		850	850 0
633	1453010 KAMLESH KUMAR	Male	B. Com./Commerce/III	Renewal	10		70	70 700		700	700 115
634	634 1453067 DIVYA RATHORE	Female V	B. Sc./Maths/II	Renewal	10		85	85 850		850	850 . 0

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of RECENTION OUT of which BESINE Maintenance allowance and RECENTION and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place: Date:

(Signature & Seal of Head of the Institution Namp (Gap) (Al Meters) Post Graduate College

THAMPA (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 30/03/2019

Sanction Number: R/8/4075/3/10/89517

Applications Type: Renewal

Application ID Student Name	Gender Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	ee Other Fee	Total Fee	Total Amount
635 1453043 NIRMLA KUMARI	Female B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
CBC 1453108 YACHANA KUMARI	Female B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	
COT 1453094 SATYABHMA SAHU	Female B. Sc./Science/II	Renewal	7 10	85	850	0	1722	1722	
638 1453121 UMBSH DEWANGAN	Male B. A./Arts/II	Renewal	•> 10	70	2700	115	1662	1777	
€39 1453151 GOMTI SAHU	Female B. A./Arts/II	Renewal		85	850	0	1667	1660	
CA 14E3230 NEETTEN CAULI			: :	1 (1 00		1000	7007	
1453220 NEETISH SAHU	Male B. Sc./Maths/II	Renewal	10	70	700	135	1722	1857	2557
64/ 1453230 TUSHAR KUMAR	Male B. Sc./Maths/II	Renewal	10	70	700	135	1722	1857	
642 1453343 DEEPMALA DEWANGAN	Female B. A./Arts/II	Renewal	• 10	3 85	850	0	1662	1662	2512
CH3 1453350 RADHIKA YADAV	Female B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
6 79 1453362 PRATIBHA SAHU	Female B. Sc./Computer Science/II	Renewal	10	85	850	0	1722	1722	2572
645 1452944 JAYANTI DEWANGAN	Female B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
€ 5¢ 1453288 SUSHMITA SAHU	Female B. A./Arts/III	Renewal	10	85	850	.0	1662	1662	2512
CY7 1453372 MANJU YADAV	Female B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
€ 98 1453418 ANITA BARETH	Female B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
647 1453432 ANITA KASHISK	-Female B. A./Arts/II	Renewal	. 10 -	85	-850	0	1662	- 1662	2512
1453585 NAROTTAM PATEL	Male B. A./Arts/III	Renewal	10	70	700	115	1662	1777	2477
(5) 1453539 SADHANA KUMARI	Female B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
€572 1453623 AMLESH KUMAR	Male B. Sc./Maths/II	Renewal	. 10	, 70	700	135	1722	1857	2557

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

(Signature & Seal of Headlof the Institution)
Name (Capital Leters Post Graduate College
CHAMPA (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Sanction Date: 30/03/2019
Applications Type: Renewal

Applic	Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence .	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
300	1453637 NITISH DEWANGAN	Male .	B. Com./Commerce/II	Renewal	10	70	700	115	1662	1777	2477
1150	1453641 TARA CHAND	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
655	1453667 YOGESH KUMAR	Male /	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	, 2477
656	4454033 NEETU DEWANGAN	Female	B. A./Arts/II	Renewal 4	10	85,	850	0	1662	1662	· 2512
657	1454036 DEEPAK KEWAT	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
853	1454040 INDU DEWANGAN	Female	B. Com./Commerce/II	Renewal	10	85	850	0	1662	1662	2512
65%	1453778 BHUPENDRA NATH SAHU	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
300	1455005 raju kumhar	Male	B. Sc./Science/III	Renewal	10	70	. 700	135	1722	1857	2557
(33)	1455025 bhavesh kashyap	Male \	B. Sc./Maths/II	Renewal	10	70	700	135	1722	1857	2557
633	1455026 gaurav dadsena	Male (B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	2557
8	1455036 khushboo dewangan	Female L	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
(193)	1455039 pushpa sahu	Female	B. A./Arts/II	Renewal	10	. 85	850	0	1662	1662	2512
593	1455326 mohan lal sahu	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
299	1455333 payal dewangan	Female (B. Sc./Maths/II	Renewal	10	85	850	0	1722	1722	2572
667	·1454518 suresh kumar dewangan	Male	M.S.W./Master of Social Work/II	Renewal	10	105	- 1050	144	2151	2295	. 3345
833	1454553 satish kumar soni	Male	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	2557
(3)	1454767 roshni mahant	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	7 2512
							*				

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

(Signature: & Meal of Head of the first turion College Name (Capital Leggs) MPA (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Applications Type: Renewal

Sanction Date: 30/03/2019

Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee		Total Fee	Total Fee Total Amount
6 >c 1455001 bharat kumar dewangan	Male	B. Com./Commerce/III -	Renewal	10	70	700	115	1662	1777	2477
(27) 1458731 suresh kumar bareth	Male	B. A./Arts/III	Renewal	10	70	700	115	1662	1777	2477
会する 1458727 anju yadav	Female	B. Com./Commerce/II	Renewal	10	85	850	• 0	1662	1662	2512
1455542 bhupendra rathore	Male 🗸	B. A./Arts/II	Renewal	10	₫ 70	700	. 115	1662	-1777	2477
ه 1455556 rakesh kumar	Male 🌞	B. Com./Commerce/II	Renewal	10	70	700	115	1662	1777	2477
∠75 1455575 deepak kumar rathore	Male	B. A./Arts/III	Renewal	10	70	700	115	1662	1777	2477
←	Female \	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
677 1455589 payal dewangan "	Female 🚩	B. A./Arts/II	Renewal	10	85	850		1662	1662	2512
678 1455591 kaleshwari rathore	Female /	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
(279 1455592 anjani patel	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
1455594 yashwanti dewangan	Female	B. Sc./Maths/II	Renewal	10	85	850	0	1722	1722	2572
⟨⊗⟩ 1455595 kaushal kumar	Male	B. Sc./Maths/II	Renewal	10	_ 70	7.00	135	1722	1857	2557
LEZ 1455599 kumari urwashi	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
€83 1455601 yogesh kumar	Male	B. Sc./Science/III	Renewal	10	70	700	135	1722	1857	2557
CSU 1455696 shalinee kenwat	Female	B. A./Arts/III	Renewal	10	. 85	850	-0	1662	-1662	2512
€ 1455984 sajan das	Male	M. A./Sociology/II	Renewal	10	105	1050	144	1701	1845	2895
GR 6 1458599 MOTI CHAND DEWANGAN	Male	M. A./English/II	Renewal	10	105	1050	. 144	1701	1845	2895
787 1458712 saraswati kewat	Female	B. Sc./Science/II	Renewal	. 10	85	850	0	1722	1722	2572

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of RiskOut of which its scholarship and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

(Signature & Seal of Head by the Institution)
Name (Capital Leters): Post Graduate College

This Sanction is generated by Scholarship Portal. Printed on 3/30/2019

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Applications Type: Renewal

Sanction Date: 30/03/2019

Applic	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Total Fee Total Amount Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
2007	1458721	1458721 roma namdeo	Female V	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
100	1458726	1458726 radhika vishwkarma		B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
00	1453532	1453532 TULSI SAHU	Female	B. Sc./Science/III	Renewal	* 10	85	850	0	*1722	1722	2572
100	1453631	1453631 PRATIBHA SAHU	* Female	B. A./Arts/II	Renewal	• 10	85	₫ 850	. 0	\$ 662	1662	2512
100	1453647	1453647 TINKAL DEWANGAN		B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
30	1453648	1453648 SARITA DEWANGAN	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
1267	1453654	1453654 DURGA KASHYAP	Female	B. Sc./Science/III	Renewal	10	85	850	0	1722	1722	2572
763	1458707	1458707 gitanjali yadav	Female	B. Sc./Science/II	Renewal	• 10	85	850	0	1722	1722	2572
100		1458710 shashi dewangan	Female	B. A./Arts/II	Renewal	. 10	85	850	0	1662	1662	2512
120		1458713 chhavi lal mali	Male	B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	2557
000	1458718	1458718 chitranjan kashyap	Male	B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	2557
150	1454039	1454039 AGRASEN KENVAT	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
2	1454043	1454043 NISHA SAHU	Female L	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
3	1454053	1454053 OMKUMARI PATEL	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
3	1454059	1454059 AKANKSHA RATHORE	- Female	B. Sc./Maths/II	Renewal	. 10	85	. 850	0	-1722	. 1722	2572
3	1454562	1454562 madhuri kirti dewangan	Female	M. Sc./Mathematics/II	Renewal	10	120	1200	0	1751	1751	2951
100	1454758	1454758 janki kumari kewat	Female V	B. Sc./Science/II	Renewal	. 10	85	850	0	1722	1722	2572
701	1455337	1455337 mitesh kumar yadav	Male	B. Sc./Science/II	Renewal	. 10	70	700	135	1722	1857	2557

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Date : Place :

(Signature & Seal of Head of the Institution



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: ОВС

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

> State: R/8/4075/3/10/89517 Government of Chhattisgarh

Sanction Date: 30/03/2019

Sanction Number:

Applications Type: Renewal

	The second of the Control of the Con								Other Eco	Total Epe	Total Amount
Application ID	tion ID Student Name	Gender	Соштѕе	Туре	No. of Month	Rate	Maintenence Allowance	uition Fee	on Fee Other Fee	iotal Fee	TOTAL MILIONIA
306	1455539 ram kumar	Male	B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	2557
	1454061 SANTOSH KUMAR	7	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
	1454062 RUPESH KUMAR	5	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
	1454065 DHANRAI SAHU	,	B. As/Arts/II	Renewal	10	* 70	700	. 115	1662	1777	2477
	J.	1	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
	TATAONA MANTELIA DEWANGAN	Female	Eemale R Sc /Maths/II	Renewal	10	85	850	0	1722	1722	2572
	THOUGH INVIDING BARRIE	Fomalo	B A /Arts/II	Renewal	10	85	850	0	1662	1662	2512
	1/5/07 NAMBATA DEWANGAN		B A /Arts/II	Renewal	10	855	3 850	0	1662	1662	2512
	1454080 MEENA PATE		B. Com./Commerce/II	Renewal	10	85	850	0	1662	1662	2512
1	1454086 ANKIISH SAHII	(B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	2557
100	1454090 PRAGATI SONI	e C	B. Sc./Maths/II	Renewal	. 10	85	850	0	1722	1722	2572
	1454091 TIKESHWARI BARETH	7	B. Sc./Science/II	Renewal	10	. 70	700	0	1722	- 1722	2422
á	1454092 NANDINI YADAV	Female	B. Sc./Science/II	Renewal	10	85	850	0,	1722	1722	2572
00	1454095 BHAWANA DEWANGAN	1	B. Sc./Science/II	Renewal	10	.85	850	0	1722	1722	2572
111	1454068 BIRJOO KUMAR	1	B. A./Arts/II -	Renewal	10	- 70	- 700	115	1662	1777	- 2477
0 70	1454088 ASHA RATHORE	e	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
(ני	112 1454094 PRAFUL KUMAR SAHU	- 4	B. Sc./Science/II	Renewal	10	70	700	135	1722	1857	. 2557
23	1454101 PREETI RATHORE	Female V	B. Sc./Maths/II	Renewal	10	. 85	850	0	1722	1722	2,572

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Date : Place:

(Signature & Seal of Head of the Institution) here.

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Sanction Date: 30/03/2019
Applications Type: Renewal

Applica	Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	laintenence Allowance	Tuition Fee Other Fee	ther Fee		Total Fee Total Amount
724	1454105 HEMLATA PATEL	Female V	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
755	1454111 SHRADDHA RATHORE	Female \	B. Sc./Science/II	Renewal	10	85	850	0	1722	1722	2572
726	1454112 MAMTA YADAV	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
727	1454133 indra kumar	Male 🗓 🧓	B. Com./Commerce/II →	Renewal	10 %	70	700	. 115	1662	d 1777	2477
728	1454241 gitu sahu	Female	B. Com./Commerce/III *	Renewal	10	85	850	0	1662	1662	2512
729	1454471 priti dewangan	Female 🧼	B. Com./Commerce/II	Renewal	10	85	850	0	1662	1662	2512
730	73 © 1454472 sukh sagar	Male	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
73)	1454110 DEV KUMARI DEWANGAN	Female	B. A./Arts/II	Renewal	10	85	850	, 0	1662	1662	2512
732	1454139 neha patel	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
733	1454475 ramesh kumar bareth	Male .	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
125	1454476 sharddhasuman sahu	Male	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512
735	1454477 yogesh kumar sahu	Male	B. Com./Commerce/II	Renewal	10 -	70	- 700	115	1662	_ 1777	2477
736	1454502 PUSHPENDRA DAS	Male 🛴	B. A./Arts/II	Renewal	10	70	700	115	1662	1777	2477
737	1454504 rama thawait	Female	B. Com./Commerce/III .	Renewal	10	70	700	0	1662	1662	2362
738	1454506 kavita- yadav	Female -	B. A./Arts/II	Renewal	10 -	85	850	0	1662	1662	2512
739	739 1454543 khushal chand dewangan	Male	B. Com./Commerce/III	Renewal	10	70	700	115	1662	1777	2477
740	74, o 1454545 madhu kumari	Female	B. A./Arts/III	Renewal	10	85	850	0	1662	1662	2512
いって	フ ~ 1454747 pooja sahu	Female	B. A./Arts/II	Renewal	10	85	850	0	1662	1662	2512

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signature & Seal of Head of the Institution)
Name (Capital Letters): Post Graduate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/3/10/89517

Sanction Date: 30/03/2019
Applications Type: Renewal

1306907	1268697	38210	625800	Total:								
	1722	0	850	85	10	Renewal	<	B. Sc./Science/III	Female		nina karsh	7 45 1458689 nina karsh
1722	1722	0	850	85	10	Renewal	1	B. Sc./Science/III	Female		767 1458688 yashoda jaiswal	67 1458688
1777	1662	115	700	70	10	Renewal	ce/III •	B. Com./Commerce/III	Male		196 145/485 HEMANI KUMAR SAHU	76 145/485
1722	• 1722	. 0	ਪ 850	85	10	Renewal	<	B. Sc./Science/III	Female	.5	om kumarı	1455/51
1857	1722	135	700	70	10	Renewal	1	B. Sc./Science/III	Male) by 145564/ shubham marar	4 H 14556#/
1857	1722	135	700	70	10	Renewal	_	B. Sc./Maths/II			1455541 diilp kumar yadav	743 1455647
1863	1728	135	700	70	10	Renewal		Male B. Sc./Maths/II	Male	ŀ	1455535 gnanshyam patel	7692 1455555
Total Fe	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	ě	Course	Gender		Student Name	THE R. P. LEWIS CO., LANSING, SALES

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signature & Seal of Head of the Institution College Name (Capital Leters) IPA (C.G.)



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19



State: Government of Chhattisgarh
Sanction Number: R/8/4075/3/10/90516

Sanction Date: 06/04/2019

Applications Type: Renewal

				Applic
	1599294 UMABHARATI KASHYAF	1308632 LEENA DEWANGAN	970830 SAROJ K	ation ID
	RATI KASHYAP	DEWANGAN	970830 SAROJ KUMARĮ DEWANGAN	Student Name
	Female	Female	Female	Gender
	B. A./Arts/III	B. Sc./Science/II	B. Com./Commerce/III	Course
	Renewal	Renewal	Renewal	Туре
٠	10	10	10	Ne, of Month
Total:	85	85	85	Rate
2550	850	850	850	Maintenence Allowance
0	. 0	0	0	Tuition Fae
5046	1662	1722	1662	Other Fee
5046	1662	1722	1662	Total Fee
- 7596	2512	2572	2512	Total Amount

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs. 2.1.2.600 which Rs. 2.1.3.600 which

Place : Date :

(Signature & Seal of Head of the Institution)

Gov. Name (Capital Neters) : Hall

CHAMPA (C. G.)



Government of Chhattisgarh

Scholarship Schome: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Colage M.M.R. Champa

Academic Year: 2018-19

Stare: Government of Chhattispart
Sanction Number: N/8/40754/8/99391

Santion Date: 30/00/2019

Applications Type: Fresh

Allega	131817 VINOD KUMAR SURYAWA		M. Com./ABST/)	Fresh	Hontin	820	Minteres	195	0 00 00 00 00 00 00 00 00 00 00 00 00 0	Total Calculate	Tution Fall Color For Telal
-	131817 YINOD KUMAR SURYAWANSHI	NSHI Male	M. ComJABST/J	Fresh	9		820			7390 0	7390 0 1821
2	131948 DINESH KUMAR SURYAWANSHI Male	WSHI Male	M. A./Sociology/I	Fresh	9		530	, To	, To	4770 0	4770 0 18C1
W	131949 RAHUL KUMAR SURYAWANSHI Male	NSHI Male	PGDCA/Computer Application/I	Fresh			530	530 4770			4770 0
2	163901 KAUSHILYA BARMAN	Female	M. Sc./Mathematics/1	Fresh	9		530			4770 0	4770 0 1851
7	302686 SUMAN LAHAREY	Female	M. Com,/ABST/I	Fresh	9		530			4779 0	4770 0 1801
0-	360108 LALITA PATLE	Female	PGDCA/Computer / Application/1	Fresh	. 9		530			4770 0	4770 0 2141
7	435328 VEER SINGH NIRALA	Male	PGDCA/Computer / Application/1	Fresh	9		530			4770 C	4770 0 2141
9	478977 HEMLATA KURREY	Female	M. A./Pol. Science/1	Fresh	10		530			4770 0	4770 6 1801
٩	518746 KULDEEP KUNAR BAGHE	Male	M. A./Sociology/I	Fresh	0		530			4770 0	4770 0 1801
10	577018 SHWETA JATWAR	Female	PGDCA/Computer Application/I	Fresh	9		530				_4776 0 _ 2141
•	582130 PRIYANKA BANJAR	Female	M. Com,/ABST//	Fresh	9		530			4770 0	4770 0 1801
P	587081 Rahul Kumar Patley	Male	M. Sc,/Mathematics/I /	Fresh	9		530			4770 0	4770 0 1851
W	746055 Santa Choukse	Female	M. A./English/I	Fresh	9		530			4770 0	4770 0 1801
42	887720 devid kumar	Male	M. Sc/Chemistry/I	Fresh	ė		530			4770 0	4770 O 1851
5	882064 SACHIN KUMAR	Halo	M. A./Sociology/I	Fiesh	. 9		530			4770 3	4770 3 1804

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period; is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discortinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to 12.1 do here by sanctioning a sum of Rs/C38884. Dut of which Reference allowance allowance and Rs. 23.2. Sas tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal form

Place :

(Signatur 1988) 1994 (Signatur

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category:

hasiltute Name: Govt. Collage M.M.R. Champa

N/8,4075 1,785991 Government Chraciagath

Sanction Number

Applications Type Sanction Date 30:03:20:9 Fresh

Student Name	Gender	Collide	THE PARTY OF THE P			Allowance	WHITE STREET	North With STATES	universit tritolistims.	THE REAL PROPERTY.
	AUTOMOBINE DE	THE RESERVE THE PERSON NAMED IN		or familiary compromession	CES	4770	0	2141	2×1	6911
1005470 PRIYANKA SURAYAWANSI	Female	PGDCA/Computer / Application/I	Fresh	40	930	200		276	2/51	7021
441384 shiv khurte	Male	M.S. W. Master of Social	Fresh	9	530	4//0		1000		1
, transcription		Work,I			nean nean	4770	0 7.4	2251	2751 4	22
— S24044 KOMAL KUMAR RATRE →	Maie	MS,WsMaster of Social /	Fresh -	E.	5,90	47.10			4	601
			Conti	Ф	530		9	1687	101	
608305 Not KUNARI	Female	M. SC/Chemistry//	11630		0.63		Ü	1001	1101	6571
614678 Mikanth Suryayanshi	Male	M. Com./ABST/1	Fresn	ų	1 10		,	1081	1531 .	- 425
610470 sawiti lathing	Female	M, A./Pol. Science/	Fresh	u	0.00		,	1681	1631	ales.
300000000000000000000000000000000000000	Male	M. Com. JABST/1	Fresh	10	530					
788438 AVIL NUMAN SOMMONIA			Beach	0	530		0	1531	1774	
945491 ASHISHA LAHARE	Female	M. Sc./Chemistry/1	116911		SS.	4770	0	1901	1001	5571
995380 SHUBHAM KUMAR	Male	M. AJSociology/1	Fresh		965		0	1851	1351	5621-
*100104 Kelong Kadyara	Female	M. Sc/Chemistry/I	Fresh	10	200		2 (1000	100	557
TIGHTON PODDIO SOUTH		a Contained	Frach	9	530			104"		
1109451 KAVITA KUMARI	Female	pt, A/bookingy/17		0	530		0	1901	1901	1459
C111023 ANAMIKA MARTIN	Female	N. A./Pol. Sciences	Fresn	0 1	nes.	4770	0	180:	1501	6571
1115001 YDAY YUMAR PATLEY	Male	H. A./Socialogy/I	Fresh		9 1		0	2141	2141	
1125217 TULESHWAR White	Mate	PGD2A/Computer (Fresh	ue	000				10000	
		Apprenant.	Freezh	٥	530	4770	0	1801	BUI .	1,400

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues: he studies or accepts

This Sanction is generated by Scholarship fortal Printed on 3/30/2019

Signature & See ps Head of the Institution)
Name (- 1971) Ctershud e Codess



Place:

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category

Institute Name: Govt, Collage M.M.R. Champa

> State Government of Chhattlagarh

Sanction Number : Sandion Date: 5112/50vCi # 8,402 V. U. 198.8 8.8 I

Applications Type: Fresh

Applica	Kation ID Student Name	Gender	Course	Type	No. of	Rate	Vilonia		TO DESCRIPTION OF THE CO.	Table of the
N	1167261 SHAHODRA KUMARI	Female	M. A./History/I r	Fresh	,	530		4770	4770	4770 0 1601
1	STUURN WADHU KHUNTE	Female	M. Sc./Mathematics/1 /	Fresh	9	530		4770	4770 0	
3 h	1115472 RAJESH KOMAR BAGHEL	Male	PGDCA/Computer	Fresh	ų	530		4770	477D ° 0	0
1		Familia	Discolory 4 M	Fresh	9	530				4770 0
2	1121830 prem kumari	remaie	Lt Whodology		u .	ņ	2			4770 0
7	1166022 MANORAMA CHAUHAN	Female	M. A., Pol. Science/1	Fresh	. 4		000			4470
0 }	1160745 SANGITA KURREY	Female	M. Sc,/Chemistry/T	Fresh	9		530			0 0/34
3 3	and a second sec	Female	M. Sc/Mathematics/I	Fresh 's	w.		530			4770 . 0
Į,	Assembly Assembly SESSETT	Famala	M. Com./ABST/1	Fresh	9		530			4770 0
W	1201554 SUNITA KURREY	Hala I	R A /Arts/I	Fresh	Ф		300			2700 0
1	35 1202571 DINESH KUMAK	Maie	M. A. Balletone (1)	Fresh	O.	(n	30			4770 0
3.5	1262792 LAXPIL BAL	1 Citizen	The second second	Frosh	9		530			4770 0
14	1253053 RASHMI KHARSAN	remaie	M.A.(Souppopp)		0	1	659			4770 0
42	1309714 BABLI NIRI	Female	M. A./Economics/1	Fresh			200			4770 0
143	1310652 BABITA BHARDWAJ	Female	M. Sc./Chemistry/I	Fresh			200			4770
-	1453515 RUPENDRA KUMAR	Male	M. A./Pol. Science/L /	Fresh	. 9		1 530	530 4770		
ξ,	1229580 IYOTIPEABHA ANAIT	Female	M. A./Economics/T <	Fresh	. 40		1 530			4776 0
45	1432962 PUSHPENDRA KUMAR KURREY	EY Male	M.S.W./Master of Social /	Fresh	9	· Or	14			4776

Declaration:

anyother regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the periodical discontinuance of scholarship discontinuance of sch scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place:

(Signature PARAMOTE delet the Institution) CHAMPA (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category

Institute Name: Govt, College M.M.R. Champa

Academic Year : 2016-19

Applications Type: Fresh

Senction Number:

N.B.+075,T986391

State:

Government of Christisgath

SandionDate:

20,00/2019

0.00	Organization and the second						The second secon	Marie Section	Child attended	of Ingelian	STATES AND STATES
Application 10	Student Mama	Gender	Course	Турю	No. of Hombs	Barto F	Allowance Tul	Ube Fee Ott	Francis		Caralyanian
1.75 sasquas saehs kumun	The Report of the Party of the	Female	M. Com, (ABST)/I	Fresh	9	530	4770	0	1301	1301	557:
379	1459643 tosh kumar patie	Male	M.S.W./Master of Social / Work/J	Fresh	* 10	530	4770	0	2251	2251	702:
A.	1470633 Gowind Kumar Barriare	Male	B, 5c,/Science/I	Fresh	9	570	\$ 130	0	2102	2112	7232
Non concert Abla	Old Million Conduct	4	1			163	4770	0	1300	2251	702
	1474709 RAMESHWAR DAS PANT	Male	M.S.W./Master of Social / Work/I	Fresh	ю	53)	4770	c	100	<u> </u>	1
57 1484328 VIR	1484328 VIRENDRA KUMAR SURYAWANSHI	Male	B. A./Arts/I	Fresh	9	300	2700	0	2042	2012	7P/4
CT 1485150 CH	CT 1485150 CHETAN KUNAR SARTHI	Male v	B. AJAITS/I	Fresh	. 9	300	2700	c	Duce	2700	27.72
67 1485254 KAN	1485254 KAVITA SURYAWANSHI	Forrale	B, A,/Arts/I	Fresh	. 9	300	2700	0	2042	2042	4742
	1485346 MANJII ATA SURYAWANSHI	Ferrale	B. A./Arts/I	Fresh	9	300	2700	0	2042	2042	4742
	1495796 PRIVANKA DAHARIYA	Male	B. Sc./Science/I	Fresh	9	300	2700	0	2102	2102	4802
	ENU LAHRE	Female	B. A./Aris/I	Fresh	9	300	2700	0	2042	2042	4742
	ARRAGE PRIVANKA CHOLINAN	Female	B, Sc./Science/I	Fresh	9	300	5700	0	2102	2102	4802
	ASSESSIO SUSPENDEN XUMÁR	Male	B. Sc./Naths/I	Fresh	9	300	2700	0	1782	1782	44.82
	TASSEST TRIMITA CHOTHAN	Female	B. Com./Commerce/I	Fresh	9	300	2700	0	2042	2042	4742
	MID CHOOLING	Famulo	B Sc./Science/1	Fresh	9	300	2700	0	2102	2002	4802
	EMP LATE	Fanish	B. Sc./Science/I	Fresh	9	300	2700	0	1782	1782	4482
62 1489556 KH	1489556 KHUSHBU SONANT	Female	B. A./Arts/I	Fresh	. 9	300	2700	0	:042	2042	4742

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial not. 1 to I do here by sanctioning a sum of Rs/38834Out of which 8543558 maintenance allowance and Rs3253666 tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Date : PIBCE :

(Signature & Seal of Head of the Institution) Name PANALOGEN Z

Gent. M.M. R. Prici Graduate College

Government of Chhattisg arh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name : Govt. College M.M.R. Champs

Academic Year: 2018-19

State: Government of Chhatteçarh

Sanction Number - N/8/40/15/15/15/15/15 Sanction Date - 30/20/2019

Applications Type Free*

						The state of the s	Market Co.	Library Management and Assessment		2 S	1910 Total	Africant
appear	cation to	Shidest Kante	Gerider	Course	MAK	Morren	Za Sa	Allawance	THE REAL PROPERTY.	SALES REPORT	STATE STATE	N INTERNA
2	13839881	1489585 PASHMI KUMARI	Female	B. A/Arts/I	Fresh	10	OUE		0	2042	2042	4742-
2	1401172	1401172 NILEGY NIBALA	Male	B. Sc/Maths/I	fresh	10	300		0	1782	1782	4482
1	21400000	SHSNAVASHI	Name of	B. Sc/Maths/I	Fresh	10	300		0	1782	1782*	4482
3 7	1406311		Female	B. AJANSIT	Fresh	10	300		0.2	2042	2042 -	4742-
500	1497646	4.7 1497646 AJAY KUHAR PRADHAN	Male	PGDCA/Computer /	Fresh	9	530		0	2141	2141	6911
-				Application							1111	200
60	1498640	1498640 REWATT KUMARI	Female	PGDCA/Computer , Application/f	Fresh	10	130			1912	1417	7 0
69.	1498649	1498649 ANNIPUNA PRADHAN	Fernale	PGDCA/Computer/ Application/I	Fresh	ıß	530		0	2142	2241	1150
20	1500052	1500052 MEENA CHOUHAN	Female	B. Sc./Computer Science/L/	Fresh	9	300		0	1782	1/82	-7864
1	1500370	1500370 SUKRITA SURYAVANSHI	Female	B. Sc/Science/I	Fresh	10	300		0	2102	2102	4802-
72	1501069	1501069 PURNIMA KURREY	Female	PGDCA/Computer / Application/I	Fresh	10	530	4770		2141	2141	-1159
N.	1501392	1501392 PRATIMA BANDARE	Female	B. St./Science/I	Fresh	9	300		0	2102	2102	4802-
74	1503105	TS03105 AKASH MUMAR DIVYA	Male	B. Com/Commerce/I	Fresh	9	570		0	2042	2042	7172
7	1505729	1505729 RANJEET KUMAR LAHRE	Male	B. St./Maths/I	Fresh	9	100		0	:782	1282	4482
1	1506622	1506622 SATISCHWART CHAUHAN	Female	B. Chm./Commerce/I	Fresh	9	300		0	2042	2042	4742
77	1495026	1495026 SUMIT (UMAR	Male	D. C. A./Diploma in Computer Fresh application/I	f Fresh	9	130	•	0	2072	2072 .	4142

Declaration:

any other regular scholar ship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholar ship/stipend from the period it is deserted. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guard an Fromail sources of the candidate have been keptsafely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place: Date:

(Signature & Seal of Head of the Institution)
Name (Calabital Letting 3)
Getti, M. M.R., Post Graduate College

Government of Chhattisgarh

Scholarship Scheme: Post Matrio SC Scholarship

Catagory: SC

Institute Name: Govt. College M.M.F. Champa

Academic Year 2018-19

State: Government of Christisgarb

Sanction Number: N.8.40161/3:3938: Sanction Date: 30/05/2019

Applications Type: Fresh

	The same of the sa										
App 1	cation ID Student Name	Gander	Course	ENTRE	Month Month	Rate	Alligwance:	Tuicion Fee	Other Fee	5 E	Total Amount
78	1498648 LALITA SURYAVANSHI	Female	PGDCA/Computer Application/1	Fresh	9	530	4770	U	2143	2340	1169
- DC-	1506076 MAHENDRA KUMAR	Male	B. Sc./Maths/1	Fresh	9	300		,	1782	1351	
	1506165 DIVYA SURYAVANSHI	Female	B. AJArts/I	Fresh	9	, 300			2042	g 2042	
×	1506541 MITHLESH KUMAR BAGHEL	Male	M. Sc/Chemistry/I	fresh	9	500		0	1851	1851	
82	1512181 MANOI KUMAR NIRALA	Male	M. Com,/ABST/1	Fresh	9	938		0	1801	1901	
200	1512224 MANISHA SURYAWANSHI	Male	B. Sc/Sdenog/I	Fresh	9	300		0	2102	2100	
2	1512381 PRAMOD KUMAR 1	Male	B. Sc/Sdenog/1	"Fresh v	9	300			2102	2302	
7-	151238 MUSKAAN JANGDE	Female	B, Com./Commerce/I	Fresh	9	300		0	2042	2042	

Declaration

92 1517007 BAJRANG SURYAWASHI
92 1518792 BHIM KUMAR SURYAWANSHI

LSI 6989 SHIVAM KUMAR SURYAVANSHI

Male

Fortale

Male

Female

B. Sc./Sdence/I

B. Sc./Sdence/I

B. Sc./Sdence/I

B. Sc./Computer Sdence/I

Fresh

300

2700

1782

178

4482

4742

2700

2700

2102

200

7232

2700

Fresh

Male

B. A./Arts/I

M. A./Sociology/I

B. Sc./Science/I

M. A./English/I

B. A./Arts/I

Fresh Fresh

9999999

2700

2022

6591 4722 8 8

2700

2102

1821

1821

1817

1859

4802

Fresh

LSI 5459 NAVEEN KUMAR SEWAYAK LSI 5605 SUKRITA RATNAKAR 00

1514854 HRITESH RAJ

1514642 RAMPAL GANDA

1514704 TULESHWAR SINGH KHARSAN

Nale

Male

900

28

1514755 HEMASHWARI SURYAVANSHI

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is betected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise elscont nues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that istudents studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs./ 2.3.8.8.4. put of which Rs. 2.3.8.8. maintenance allowance and Fs. 3.2.8.6.4 pas tuition and other fees. Printed copy of online

Place : Date :

(Signature & Sea of Head of the Institution)
Name (Capital Leters)

Government of Chhattisgarh

Scholarship Scheme: Post Natric SC Scholarship

Category:

Institute Name: Govt. College N.M.R. Champa

Academic Year: 2018-19

Applications Type:

Frosh

8.02/20VE

SandionNumber Sancton 2848

N.8/4075, 1/9/89391

State

Government of Chhattisgarth

Applie	ation ID Student Name	Gender	Course	Type	No. of Month	Ruba M.	Sintamence Unwance	Taitian Fee Ot	The Rev	Total Fee	Total Amount
2	152-255 SATISH KUMAR ROHIDAS	Nake	B. Sc./Science/I	fresh	9	300	2700	0	2102	2102	4802
6.	1529286 RAMASANKAR HANSRAJ	Nako	82MS/Bachelor of Journisms Mass Communication/I	fresh	+	530	4770	i i	1742	1742	6512
0 40	0.2 V 1533178 ANIKET KUMAR CHAUHAN	Nake	B. Sc./Maths/1	fresh	9	300	, 2700	0	1782	1782	4482
007	1533708 MAMTA SHRIKANT	Female	M. A./Sociology/1	Fresh	.0	530	4770	t2	1991	1801	6573
00	1530830 PINKI SURYAWANSHI	Female	B. A./Arts/T	Fresh	10	300	2700	6,3	2042	2042	4743
100	1530874 MANISHA KUMARI	Female	B. Sc./Maths/T	fresh	10	300	2700	0	1782	1782	9480
101	16 1533949 DILIP KUMAR RATRE	.Nale 1	M. Sc./Chenistry/I	fresh		530	4770	0	1951	y 1851	652
02	1534820 SHIVANI MAHESH	Female	B. A./Arts/T	fresh	10	300	2700	0	2042	2042	4742
50	153(897 KAMAL DEV BANJARE	Nale	M A./English/I	fresh	np.	530	4770	D	1081	1801	657
104	1539225 SANDEEV KUMAR	Nale	B. Sc./Computer Science/IC	fresh	uo.	300	2700	D	. 1782	1782	448
105	1541378 SAGAR PRASAD KALEKAR	Paie	PGDCA/Computer / Application/I -	Fresh	w	530	4770	a	2141	2141	1169
100	06 V 1541949 GOMATI MARBAL	Firmate	M. Sc./Mathematics/T	fresh	w	530	4770	0	1871	1871	654
107	1543109 KALAPANA MIRI	Female	B. A./Arts/1	Fresh	9	300	2700	0	2042	2042	474
, A	1543393 KANCHAN SURYAWANSHI	Female	B. Sc./Science/1	fresh	9	300	2700	0	.2102	2102	4800
100	109 154333 BRUMOHAN SURYAWANSHI	Nale	B. Com,/Commerce/I	fresh	15	300	2700	0	2042	2042	4745
071	1543430 REENA KUMARI	Famale	B. Sc /Maths/1	fresh	10	300	2700	0	1742	1782	4482

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Sulardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs/83.834. Out of which RS-85. Tas maintenance allowance and Rs. 32. 25. Las tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications induced in the above proposal from

Date : Place :

(Signature & Sea of Head of the Institution)
Name (Ca**PTAINICIPAL**

Govt. M. N. R Past Graduate College

Government of Chhattisgarh

Scholarship Scheme Post Matric SC Scholarship

Category 8

Institute Name Govt. Colage M.MR. Champa

Academic Year: 2018-19

STATE Government of Chhartisgarh

SERCTION NUMBER Sancion Date

小品的25/18/形成

Applications "tpa: Frash

30,03/2116

23		2	2000	-			The state of the s		•
02		0	2700	300	9	Fresh	B. Sc./Science/I	Ferrele	25 1593981 MAHIMA KUMARI
2	I	0	2700	300	vo.	Fresh	B. A./Arts/1	Male	22 1593955 JAI VIKRANT PRADHAN
**		0	2700	+ 300	9	Fresh -	B. A./Ats/T:	Ferrule	12 C 4593913 ARTI BHARTI
1 1		0	2700	300	9	Fresh	B. A./Arts/I	Male	24 1593908 AMAN KUMAR KHANDEKAR
i k		0	2700	300	9	Fresh	B. A./Arts/1	Female	1593537 SONIYA CHAUHAN
1 6		0	2700	300	9	Fresh	B. A./Arts/1	Female .	1592859 SIMRAN SAHIS
e K	i	0	2700	300	9	Fresh	B. Sc./Sdenog/1	Male	URYAWANSHI
42		0	2700	300	9	Fresh	B. Com/Commerce/I	Male	26 V1553014 AKSHAY KUMAR
1		D	2700	300	e	Fresh	B. Com,/Commerce/I	Male	1552975 VIVEK KUMAR SURYAWANSHI
32		U	2700	500	1D	Fresh	B. Sc. Mathsti	Мане	1552695 UMESH KUMAR
202		U	2700	300	40	Fiesh	B. Sc./Science/I	Femile	1552340 SHYANTA LAHARE
22		U	2700	300	10	Fresh	B. Sc./Science/I	Male	1545998 NARENDRA BHARDWAD
3 2		J	2700	300	10	Fresh	B, Sc,/Science/1	Male	1545560 KISHOR KURREY
i itu		6	2700	-300	10	Fiesh -?	B. As/Arts/1	Male	1593481 KARAN TAURATRE
7.5		ن.	2700	, 300	10	Fresh	B. A./Arts/1	Femae	1543478 MADHU PRADHAN
42	2042 :042	٥	2700	300	10	Fresh	B. A./Arts/1	Femae	12 1543476 CHANDANI DEVI
		0	2700	300	NA.	Fiesh	B. Com/Commerce/I	Female	1543441 GAYATRI DIWAKAR
STATE OF THE PARTY IN		MAN SERVICE	III OW SINC	1	No, of	Tipe	Course	Gender	plication TO Student Name

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a Jum of Rs Je388.34.Out of which Rs.4.32.85 maintenance allowance and Rs3252.64.as tuition and other fees. Fintectopy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

(Signature & Seal of Head of the Institution)
Name (CESSERVALE) A L
Gott, M. H. R. Past Graduate College

Government of Chhattisgarh

Scholarship Scheme: Post Mainic SC Scholarship

Category: 8C

Institute Name | Govt. College M.M.R. Champa

Academic Year: 2018-19

107

State: Government of Othertegath
Sanction Number: NBI4275416/89881

Applications Type: Fresh

Sericion Date:

30/03/2019

	2000					,				
	2102	3103	2 0	2007		9	Fresh	B. Sc./Naths/I	Female	1527600 SANTOSHI SURYAVANSHI
	1782	1787		2700			Fresh	B. A., Arts/I	Маје	1524159 KRISHNA KUMAR SEWAYAK
	2042	ě		2700			Fresh	B. A./Arts/I	female	42 1519055 SHALINI SURYAWANSHI
	2042	2002	0	0000) 0	Fresio	B. A. A/15/1	Female	1515548 SUMAN LATA SURYAVANSHI
	2042	2042	0	2700		0	P. Control	the state of the state of the	- Constant	1613251 ANISHA KUMAKI
	1782	1782	0	2700	1	9	Fresh	B. Sc./Science/I	Female	ST CAMPAGE AND
	70/1	7007	c	2700		9	Fresh	B. Sc/Sdenos/I	Male	1608715
4497	1 700	204.3		2700	300	9	Fresh	B. Sc./Sdence/1	Hale	1824 1824981 MUKESH KUMAR
	COLIC	3101		2700		9	Fresh	B. Com,/Commerce/I	Hale	1 4 T 1603678 CM PRAKASH BAGHEL
	2042	7045	5 <	2252		9	Fresh	B. Com/Commerce/I /	Male	2 1597748 DIGVDAY KUMAR
	2042	2043	,	2000	١		T T T T T T T T T T T T T T T T T T T	B. A./ACIS/1	Famale	1597469 ROSHANI CHOUHAN
	2042	2042	0	2700		D	Disease by		- Constitution	15969/4 NEETU KORWKI
	2042	2042	0	2700		9	Fresh	R & /Arts/I	Eserate	ADDITION OF THE PARTY OF THE PA
	2032	2082	0	2700		9	Fresh	B, Sc/Spence/I	female	SOSSIA GANGECHWART SEWAYAK
	7 2042	2042	0	27000	300	·o	Fresh	B. A./Arts/1 / *	Female	1506490 SUMAN JOHOURSE
	2011	70/1	o	0072	300	9	Fresh	B. Sc./Maths/I	Мые	1594143 BALBAM SURYAWANSHI
Ī	7.207	7207	0 0	2700	300	9	Fresh	B, A,/Arts/T	Male	2594138 AUT KURREY
	2092	2042	0	2700	300	9	Fresh	B. Com./Commerce/1	Female	1594094 POOJA BHARTI
Name and Address of the Owner, where	THE REAL PROPERTY.	NAME OF	THE PROPERTY AND PERSONS NAMED IN	Allowance		Month	- Impe	Conres	Gemde	Application TD Student Name

Declaration:

1484

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place:

(Signature & Seal of Head of the Institution)

Name (Califal Cetery):

Oct. M.M.R. Post Graduate Cells

Page 9/12

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Caregory: SC

Institute Haina: Govt. College N.M.R. Champa

Sanction Number :

State: Government of Chhallisger

Sancton Date

30/03/2019 N/8/4075/19/89391

ACROSHING TEST AND TO THE	7.00				Administration	or in minimization and in-	A PARTY OF SPRINGERS		COLUMN TOTAL
Andication 10 Student Name	Gender	Course	140	No. of	Putce 1	Villowates	STATE STATE OF THE PARTY OF THE	MINNE	MAN SERVICE
The state of the s	CONTRACTOR NAMED IN		Erosch	9	300	2700	0	2042	7947
1573834 REENA SIJI GH KHANDEKAR	AR Female	B. A./Ansju	11000	0	300	27(0	0	2042	2042
1574363 RAUNI BHARGAW	Female	B.A./Arts/I	H2974	. u	1300	2700	0	1782	1782
1577249 MANNU LAL	Male	B, Sc./Naths/1	Fresh	u	F 100	4770	or.	1821	1824
The state of the s	Female	M. Com/ABST/I	Fresh *	16	Ards			2002	DIC
TOTAL STAND SECOND		Punctual and a	Fresh	9	300	2790	0	40.44	
1579471 SHAILENDRA KUMAR SATNAMI	(TNAMI Male	p.oc./somethy.		۵	300	2700	0	2042	2042
1SB2543 SUMIT MOTEL	Male	B. A./Arts/I	FFeb 1		205	2700	0	2012	1042
1ESTING LAV KUMAR	Male	B.A.JAWI	Fresh	. 40	4	DAGG L	0	2042	2042
IMANIA SANAS ÉSSES	Female	B,A,/Mts/I	Fresh	10	200	2000		2103	2102
DEN TODOGE STORES		Nacional Service I	Fresh	so.	300	27.00		-	
1583859 CHANDRIKA RATRE	remaie	p, occupation.		0	530	4770	c	1801	1881
1583949 MANISHA KURREY	Female	M, A.,/Sodialogy/1	Hesn		Mac	2700	0	2042	2042
1585176 NIKHIL KLIMAR	Male	B. Com/Commerce/I	Fresh	10	200	200.0	0	2042	2042
SOCIOTE SEEZA NO VAK	Female	. B. Com/Commerce/1	Fresh	4	300	N.000		2047	2012
TOURSE OF THE PARTY OF THE PART		B Con Commerced	Fresh	9	300	2,00	•	******	
1585826 SANAT KUMAR SURYAWANSHI	WANSHI Male	B. Confedence of	1	0	300	2700	0	2042	2042
1586067 SURAL KUMAR KHUNTEY	EY Male	B.A./Ats/1	Fresh	, ,	CODE.	2100	0	1742	1742
TEATH INTA FORBER	Female	E.A.,Arts/I	Fresh -	4	1 100	0000	0	2141	2141
ISSUED SATISTICAL MADHUKAR	Female	PGDCA/Computer /	Fresh	9	551	4,70		-	
1360035		Application/1		0	300	2700	0	2102	2102 *

any other regular scholars hip/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected candidate have been kept, safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signature & Seal of Head of the Institution) Name (Capital Leters)

Government of Chhattisgarh

Scholarship Schema Pest Matric SC Scholarship

Callegory

Institute Name: Govt. Collags M.M.R. Champa

Sanction Number : N.E/4075/1/8.89391

State: Covernment of Chihattagam

Sanction Date : 30/05/2019

Anademic Year: 2018-19							199			Demonstra
ton ID Student Name	Gender	Course	Туре	# o	Rate	Maintemence Allowance	Tuition Fee Otho		i di ka	Total
	OR STORYGUE	STREET, SQUARE, SQUARE	Empl	9	300		0	2102	2:02	
1990310 DEEPMALA KAMLESH	Female	B. Sc./Science/1	710507		3 1			1782	1782	
1991016 PRADEEP KUMAR RATRE	Mais	B. Sc./Maths/I	Fresh	4	303			4	20102	
1	Famala	B Sc./Science/I	Fresh	9	300		-	6400		
1543415 RAUNI KHANDET	Section 1	the designation of the	-		300		0	2052	7 2042	
158,9050 RACHUMANDAN JANGDE	Male 3	B. Com/Commerce/I	Fresn	9	-		,	5000	2102	
00000		D Co Schenger	Fresh	9	300		c	2012	6476	
159 1080 AMRITA CHANDRAKAR	Female	B. Sc./Spence/ac	110001		2		٠	2042	2042	
SERVICE ON PRAKASH	Make	B. Com/Commercs/1	Fresh	u	- we			Table 1	2000	
100000000000000000000000000000000000000		o co (sepanni)	Friesh	60	300		· ·	2002	2000	
1592069 RANJITA SURYAWARISHI	Female	D. SCHOOLSON			a m		, 0	2102	2102	
9 23-1592091 BABITA KUMARI	Female	B. Sc/Science/I	Fresh	i is	2 100	2700	5	2102	2102	
1607700 SAROJANI BANJARE	Female	B. Sc/Sdence/I	Fresh	10	ONG.				CPAC	
CONTRACTOR DESCRIPTION OF THE PARTY OF THE P		2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Front	و	310		0	21419	27772	
199 - 1592399 LAXMI KUMARI	Female	B. AJRITAJI	116917	> 4	ONE.		0	2042	2042	
0 1892411 JOT KUMARI CHANDAN	Female	B. A./Arts/I	Fresh	4	500			2	375264	1038834
499					Total			10000	-	

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Sulardian from all sources of the

Date : Place :

Down Michigan Philip Graduate College

Signature & Sagepyleggofyle Institution)



Government of Chhattisgarh

Scholarship Scheme: PostMatric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Shhattsgarh

Sancton Dale : 06/04/2016

Sanction Number: N/8,4075/1/9/90514

Applications Type: Fresh

ŀ	1	至
1-0	1590191 9	Cation CO
	1 RAJA M	
11000	RAN	tudom Name
	Male	Gender
	B. Sc./Computer Science/I	Course
	Fresh	Type
	ND:	No. of Honth
Total:	300	Rate
2700	2700	Maintegence Tu Allowance
63	0	son Fet O
1782	1762	thur Fea
1782	1782	Total Free To
4482	4482	Terronic Vision

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with tertified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place: Date:

(Signature & Say of John & the institution)
Name (Capital W.R. & G. College
Champa (C.C.)



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Colage M.N.R. Champa

Academic Year: 2018-13

Stare: Government of Chhattsgarh

Sanction Number: R/8/4375/1/9/89512

Applications Type: Renewel

Sancton Dare:

30/03/2019

	Student Name	spinios.	comse		iypa	Month	74 18	Mowarnoe 1	uiltion Feb. C	101100		0	Allegin
-	108938 RAHUL KUMAR SURYAWANSHI	Male	M. A./Economics/II X		Renewal	10	530	5300	o	1721	1	-	7021
Ň	111327 SHIVNATH SURYAWANSHI	Male	B. A./Arts/III ×		Renewal	10	300	3000	Ü	1662			4662
W	112395 KUSUM SURYAVANSHI	Female	M. Sc./Chemistry/II X	,	Renewal	10	530	5300	٥,	1771			7071
7	250728 ramadhar satnami	Male	M. A./Pol. Science/II	X	Renewal *	10	530 3	5300	0 *	1721		-	7021
V	263804 Meena Kumari Pankaj	Female	M. A./Sociology/II	×	Renewal	10	530	5300	0	1721		-	7021
2	277 295 Kanti DIWAKAR	Female	B. Com/Commerce/II	×	Renewal	10	300	3000	0	1662	1		4662
7	343837 Rameshwari Kumari Kurrey	Fernale	M. A./Pol. Science/II	*	Kenewal	, 10	530	5300	0	1721			7021
09	493 935 RAM LAL BANJARE	Male	M. A./History/II	×	Renewal	10	820	8200	0	1721			9921
2	494344 Shweta Bhargaw	Female	M. A./Sociology/II	+	Renewal	10	530	5300	0	1721			7021
0	514268 SURHUTI SURYAWANSHI	Fermale	B. A./Arts/III	×	Renewal	10	300	3000	0	1662			4662
Ξ	.657193 SAVITA KURREY	Female	M. Sc./Chemistry/II	*	Renewal	10	530	5300	0	0			5300
P	515158 SUKDEV PRASAD	Male	M. A./English/II	X	Renewal	10	820	8200	. 0	1721			9921
W	517248 RAVISHANKAR CHAUHAN	Male	M. A./Sociology/II	X	Renewal	10	530	5300	0	1721			7021
2	526324 SAROJ KUMAR SONHAR	Male	B. Sc./Science/II	X	Renewal	10	300	3000	o	3042			5042
4	599 141 Narendra Kumar Anant	Male	B. A./Arts/III	*	Renewal	10	300	3000	٥.	.662	1662		4662
16	655551 SALIM KUMAR	Male	B. Sc./Maths/III	X	Renewal	10	570	5700	y.	.742			7442
7	696813 RAKESH DIVYA	Male	B. A./Arts/III	X	Renewal .	10	300	3000	v	662			4662

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs. 104.2.2.2.0 Out of which Rs. 104.2.2.2 maintenance allowance and Rs. 104.2.2.2 as tuition and other fees. Printed copy of orline any other regular scholarship/stipend the 'act will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is cetected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place: Date:

(Signature & Sea of Fleet of the Institution)

Manufication telegraphics

(Signature & Sea of Fleet of the Institution)



Page 1/12

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academi; Year; 2018-19

State: Government of Chhattisgarh
Sanction Number: R/9/4075/1/3/89512

Sandion Date: 30/33/2019

Applications Type: Renewal

- B	icalion ID Sudent Name	Gender	Course		Түре	No. of Month	-	late	Maintenence Allowance	ā	on Fee	Other Fine	Table 1	Total Amount
90	711023 ANURADHA SURYAVANSHI	Female	B. A./Arts/III	+	⊀ Renewal	10		300	3000		0	7997	1662	4662
9	711028 RAJU KUNAR SURYAVANSHI	Male	B. Sc./Computer Science/II ← Renewal	H	Renewal	10		300	3000		0	2042	2042	5042
26	759319 umesh kumar	Male -	* B. Com./Commerce/III	1	Renewal	10		300	3000		0	7997	. 1662	466.
10	837829 PARMESHWAR PRASAD	Male	⊕ B. Sc./Science/III	+	Renewal	10	x	300	3000		0	1742	· 1742	4742
22	841141 AMARNATH BARMAN	Male	B. Sc./Science/III	+	Renewal	10		570	5700		0	2042	2042	774.
80	845850 VINOD KUMAR SARTHI	Male	B. Sc./Science/III	*	Renewal	10		570	5700		0	1742	1742	744
24	870491 SHAKUN CHAUHAN	Female	B. A./Arts/III	+	Renewal	10		300	3000		0	1662	1662	466
25.	875321 DEVENDRA RATRE	Male	B. Com./Commerce/III	+	Renewal	10		300	3000		0	1562	1662	466
ž	875431 SURENDRA PAL BAHADUR	Male	M. Sc./Mathematics/II	1	Renewal	10		530	5300		0	1771	177:	7071
25	877645 SUDHIR KUMAR LAHARE	Male	B. Sc./Maths/III	+	Renewal	10		300	3000		0	1742	1742	4742
90	883995 NEETU KUMARI	Female	M. Sc./Mathematics/II	1	Renewal	10		530	5300		0	1771	1771	707:
29	886254 ASHOK KUMAR SURYAVANSHI	Male.	B. A./Arts/III	+	Renewal	10		300	3000		0	1662	1662	456
30	889610 LAKESH MUKUL SINGH	Male	B. Sc./Science/III	+	Renewal	10		300	3000		0	1742	1741	474
13	908059 DEEPAK KUMAR LAHRE	Male	B. Sc./Computer Science/II + Renewal	7	Renewal	10		300	3000		0	2042	2042	5042
2	- 908118 RAHUL KUMAR RATRE	Male	B. Sc./Maths/III	+	Renewal	10	-	300	3000		0	1742	. 1742 .	4742
33 V	945581 HIRDE KUMAR	Male	M. Sc./Mathematics/II	+	Renewal	10		820	8200		0	1771	1771	9971
34	957805 NARENDRA KUMAR SURYAWANSHI	Male	B, A./Arts/III	+	Renewal	10		. 300	3000		. 0	1662	1,562	4662

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place: Date:

(Signature & Seel of Fead of the Institution)
Namerica productions):
N. W. R. Past Graduate College



Page 2/12

This Sanction is generated by Scholarship Fortal, Printed on 3/30/2019

Government of Chhattisgarh

Scholarship Scheme: PostMatrc SC Scholarship

Category:

Institute Name: Govt.Collage M.M.R. Champa

Academic Year: 201819

State Government of Chilattsgarh

Sanction Number: RJ8/4075/1/9/89512

Applications Type: Renewa

Sanction Date:

30/03/2019

												1		
App	Application IO	Student Name	Gender	Course		Туре	No. of Month	Rate	Maintenence T	uition Fee	Other for	ē	al Feat	e al Asi
K	965300 TWI	965300 TWINKAL SHUYARWANSHI	Female	B. Sc./Science/III	4	Renewal	0.1	300	3000	0	174	2	1742	100000000000000000000000000000000000000
20	985984 RAM	985984 RAMBHA KUMARI BAIIJARE	Female	B. Com./Commerce/III	+	Renewal	10	300	3000	0	1662	12	1562	
37	999707 JANKI SONANT	KI SONANT	Female	M. A./Pol. Science/II	4	Renewal	;0	530	*5300	0	172	1.3	1721	
30	1017088 Poonam Ashwani	nam Ashwani	Female	B. Sc./Science/III +:	+	+ Renewal	10	300	3000	0	174	2 :	1742	
W 9	1018033 Prabha Sonant	ha Sonant	Female	B. Sc./Maths/III	<i>†</i> -	- Renewal	0.	300	3000	0	174	10	1742	
40	1096476 MAN	1096476 MANTA RATNAKAR	Female	B, Sc./Science/III	+	Renewal	0:	300	3000	0	174	2	1742	
1 64	1110099 HEM	1110099 HEMANT SURYAWANSHI	Male	B. A./Arts/II	1	Renewal	0;	300	3000	0	166	6	1662	
42	1111786 CHANDRAMA SOI	NDRAMA SO:	Female	M. Sc./Chemistry/II	+	Renewal	.0	530	5300	, 0	177	-	1771	
ū	1148343 Such	1148343 Suchitrakant Tiger	Male	B. A./Arts/II	1	∱ Renewal	.0	300	3000	0	166	(c)	1662	
ž	1030297 LALITA MANHAR	TA MANHAR	Female	B. Sc./Science/III	1	Renewal	.:0	300	3000	0	174	K)	1742	4742
4	1161920 KHE	1161920 KHEMLAL ROHIDAS	Маје	M. A./Pol. Science/II	×	Renewal	. ;0	530	5300	0	172	-	1721	
20.	1228995 PRA	1228995 PRATIMA SONANT	Female	B. Sc./Science/III	+	Renewal	10	300	3000	0	174	2	1742	
C	1229450 VIRE	1229450 VIRENDRA KUMAR PATLE	Маје	B. A./Arts/III	+-	Renewal	10	300	3000	0	156	N	1662	
00	1229519 KUMARI VIMLA	ARI VIMLA	Fernale	M. A./Economics/II	<i>J</i> .	Renewal	10	530	5300	0	172		1721	
	1229522 AMAR SINGH	R SINGH	Маје	B. A./Arts/III	+	+ Renewal	10	300	- 3000	- 0	155	NJ	1662	
A	1229536 SHALINI VALMIKI	LINI VALMIKI	Female	B. Sc./Science/III	+	Renewal	10	300	3000	0	174	73	1742	
S	1229565 ISHA MADHUKAR	MADHUKAR	Female	B. Sc./Science/III	<u>/</u>	Renewal	10	300	3000	0	1742	N	1742	
57	52 1231262 ARUNA KURREY	NA KURREY	Female	B. Sc./Science/III	+	Renewal	10	300	3000	0	204	2	2042	

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all scurges of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts serial no. 1 to I do here by sanctioning a sum of Rs.I.P.W.2.2.2...Out of whith Rs. I.P.W.2.2.3s maintenance allowance and Rs. I.P.M. as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matrix scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: Date :

(Signature & Seabo) Head of the Institution)

GOTH. M. Walle (Sell latter College) CHAMPA (C. C.)

This Sanction is generated by Scholarship Ports . Printed on \$30,2019 7 29 70

Page 3/12

350876 127906

Government of Chhattisgarh

Scholarship Scheme: Post Mattic SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champs

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/1/2/83512

Sandion Date 30,03/2019

Applications Type: Renewal

	Singers walne	Talling.	Selvier	Course		Туръе	No. of Month		Rate	all of	nence 1	ukkon	T a	Ĭ	Fee Tol		1005 A	mound
1 85	1231927 ANITA KUMARI		Female	B. Sc./Science/III	+	Renewal		10	300	90000	3000	- Constant	0	2000	2042	2042	STATES	Shan
2	1256998 VIKRANT KUNAR BAGHEL	SAGHEL	Male	B. Com./Commerce/III	+	Renewal	2510	10	300		3000		0		1662	1663		4660
9	1257398 ANUJ KUMAR	*	Nale	B. Com./Commerce/III	4-	Renewal		10	300		3000		0 1		200	1665		4660
	1259124 JANKI TAMBREY		Female	B. Sc./Maths/fl1	-	Ponews		5 (000	4	2000				7007	7007		4002
	TESTER JANK LANGKET	.0	remale	B. SC./Maths/III	X	Renewal •		10	300	154	3000		0	->	1742	1742	rice.	4742
57	1263166 URMILA KUMARI		Female	B. Sc./Science/III	1	Renewal	_	10	300		3000		0		1742	1742	1	4742
1 35	1255549 ARUN RATRE		Male	B. A./Arts/III	+	Renewal		10	300		3000		0		1662	1662		4667
3	1262835 NEELU JAYSI		Female	B. Sc./Science/III	+	Renewal		10	300		3000		0	Š	1742	1742		4742
60	1461758 roshan kumar lahare	ire .	Male	B. A./Arts/II	4	+ Renewal .	,	10	300		3000		0		662	1662		4662
6)	1461826 kumari samita martin	rtin	Female	B. Sc./Science/III	+-	Renewal		10	300		3000		0		742	1742		4742
62	1485185 NARENDRA KUMAR SURYAWANSHI	~	Male	B. A/Arts/II	+	Renewal	_	10	300		3000		0		1662	1662		4662
63	1485542 ROHAN KUMAR		Male	B. Sc./Maths/III	7	Renewal	1	10	300		3000		0		742	1740		4767
64	1487589 RADHIKA BANJARE	П.	Female	B. Sc./Science/II	1-	Renewal	1	10	300		3000		0		722	. 22		4777
1-59	1489259 DEEPAK KUMAR HANSRAJ	NSRAJ	Male	B. Sc./Maths/III	4	Renewal	10	0	300		3000		0		:742	1742		4742
22	1490161 LITIKA KHUNTE		Female	8. St./Science/III	+	Renewal	10	0	300		3000		co		742	1742		4742
6)	1492071 POOJA SURYAWANSHI	IHS	Female	8. A/Arts/II	1	Renewal	10	0	300		3000		0		562	1652		4562
68	149ZZ08 KANCHAN KUMARI		Female	B. Com./Commerce/III	+	Renewal	10	0	300		3000		0	_	1662	1662		4562
69	1500353 SNIGDHA SHASTRI	4	Female	B. Sc./Botany/III	6	Renewal	* 10	0	300		3000		40	* 1742	742	1742		4742

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guarcian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs/01/2.72.2.Out of which Rs/25/25 mainterance allowance and Rs. 26.662. as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: Date:

(Signature & Sea of Head of the Institution Name (Capital) every (1)





Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Gownment of Chharlisgart

Sanction Number: R/5/1075/1/9/69512 Sanction Date: 30/03/2019

Applications Type: Renawal

Ç.

opplie	Application ID Student Name	Gender	Соите	T year	No. of	Rate Mi	internerse fu	ibion Fee 0	thur Fee To	El Fe	otal Amou
2	76 1504674 BHUPENDEA KUMAR BHARDWAJ	Male	B. Com./Commerce/II	Renewal	10	570	5700	0	162	1662	7362
7	1505478 NARENDRA PRATAP SURYAWA/ISHI	Male	₿. A./Arts/III	+ Rerewal	10	, 300	3000	0	1662	1562	4
3	1505690 NIRMAL KUMAR RÖHIDAS	Male	B: Sc./Science/III	Rereival	10	◆ 300	3000	0	1742	5742	4
200	1506381 MADHULATA SAGAR	Female	B. A./Arts/III	Rerewal	10	300	3000	0	1652	1862	4
72	1524259 PRABHA JHALARIYA	Female	B. A./Arts/III	Renewal	10	300	3000	0	1652	1562	4
?	1540996 GEETA CHAUHAN	Female	B. A./Arts/II	₹ Renewal	10	300	3000	0	1662	1562	4
36.	1550364 MUSKAN DINKAR	Female	B. Sc./Botany/II	Renewal	10	300	3000	0	1722	122	
4	77 1562473 DIWA KUMARI	Female	B. Sc./Science/II	→ Renewal	10	300	3000	0	1722	1722	4
787	1565846 DEEPAK KUMAR DIWAKAR	Male	B. A./Arts/II	Renewal	10	300	3000	0	1662	1662	4
-	1570179 SEEMA RATANAKAR	Female	B. A./Arts/II	+Renewal	10	300	3000	0	1652	1662	4
8	1571951 PREÉTI GOYAL -	Female	B. Sc./Science/III	-Renewal	10-	300	3000	0	1342 -	1742	4
	21 1573452 AJAY KUNAR	Male	B. Com./Commerce/III	*Renewal	10	300	3000	0	1662	1662	4
2 0	1573713 YOGITA CHOUHAN	Female	B. A./Arts/III	+ Renewal	10	300	3000	0	1682	1682	4.
30	1573866 KIRAN KUMARI LAHARE	Female	B. A./Arts/III	+Renewal	10	300 -	3000	- 0	1662	-1662	4
28	1573867 TOMESH KUMAR PATLE	Male	B. Sc./Science/II	Renewal	10	300	3000	0	1722	1722	4
25	1573882 NAND KUMAR	Male	B. Sc./Science/II	Renewal	10	.300	3000	0	1722	1727	4

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the periodit is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs J 0.4.2.2.2. Out of which Rs 24.4.45 maintenance allowance and Rs 24.4.2. As tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above process from

Place :

(Signature & Seal of Hradon the Institution)
Name (Capital Late)

This Senction is generated by Scholar hip Portal. Printed on 3/30/2019

Date :

Page 5/12

72

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category:

Institute Name: Govt. College M.M.R. Champa

Academic Year: 2018-19

ċ.

State Government of Chhattisgarh

Sancion Date 30/03/2019 Sanction Number

R/8/4075/1/9/89512

Applications Type: Renewal

R	ation ID Student Name	Gender	Course	Туре	Morth	Main Ma	lowance in				
0,	LSZ 3889 SEEMA CHANDAN	Female	B. Sc./Science/II	+ Renewal	10	300	3000	0	1722	1722	472
0 0	1580434 SULEKHA SONANT	Female	B. Sc./Science/III	+ Renewal	10	300	3000	0	1742	1.742	474
300	1582412 DINESH KUMAR	Male	B. Sc./Science/II *	Renewal	10	570	5700	0	1722	1722	742
2	159C183 RESHAM KUMAR TANDAN	Male :		• Renewal	10	300	3000	0	1662	1662	466
2 /	1591518 ANITA BANWA	Female	B. A./Arts/III	Renewal	10	300	3000	Ü	1662	1662	466
	1591746 MAMTA CHAUHAN	Female	B, Sc./Science/II	+ Renewal	10	300	3000	ĵ	1722	1722	47,
	1592119 LAKHESHWAR RATRE	Male	B. Sc./Maths/II	+ Renewal	10	300	3000	J	2042	2042	50%
22	159-070 SANDHYA SURYAVANSHE	Female	B. Sc./Science/II	Renewal	10	300	зобо	0	1722	1722	472
	1594146 RAJNI KUMARI KURREY	Female	B. A./Arts/II	1 Renewal	10	300	3000	0	1662	1662	466
١٩	1599914 UMANANDANI KURREY	Female	B. A./Arts/III	→ Renewal	10	300	3000	0	1662	1662	466
20	1602642 KIRAN KUMARI	Female	B. A./Arts/II	Renewal	10	300	3000	0	1662	1662	466
165	1603627 AVINASH KUMAR	Nale -	B. A./Arts/III	Renewal	10	300	3000	0	1662 -	1662	. 466
7	98 1607008 GOVIND PRASAD SURYAWANSHI	Nale	B. Com./Commerce/III	1 +Renewal	10	300	3000	0	1662	1562	4662
99	1608167 SHANTI BAI TANDAN	Female	B. St./Science/II	1 Renewal	10	300	3000	0	17722	1722	4722
100	1608454 LATA KUMARI KURREY	Female	B. Sc./Maths/III	Renewal	10	300E	3000	0	1742	1742	4742
(0)	161:074 RENUKA DHAIRYA	Female	M. Sc./Mathematics/II	Renewal	10	530	5300	0	1751	1751	7051-
45	INSNAVANCE ATTENT IN THE EAST	Female	B. A./Arts/II	Renewal	10	300	3000	0	1662	1562	4662

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place :

Gora, M.M.R. Post Graduate Cellago (Signature & Seal of Head of the Institution)
Name (Capital Refers) ALD

Date :

This Sanction is generated by Scholarship Pontil Printed or 3'34'2019 22/03/03

13

Government of Chhattisgarh

Scholarship Scheme: Post Matrc SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgath

Sancion Date : 30,03/2019

Sanction Number: R/8/40751/E/89512

Applications Type: Renewel

Applic	Application ID Student Name	Cender	Course	Type	No. of Month	Rate Maintane Allowar	ance Fuitio	n Fee Oth	a k	Tatelline	fotal Ar
163	1451635 ROHIT KUMAR	Mae	B. A./Arts/II	Renewal	10	300	3000	0	1652	1662	
104	1452515 SUMAN KURREY	Female	B. A./Arts/III	→ Renewal	10	300	3000	0	1652	1662	
20	1452611 RASHMITA SURYAWANSHI	Female	B. Sc./Science/II	Renewal	10	300	3000	0 ,	1.722	1722	
106~	166-1452684 DHANESHWER SURYAWANSHI	Male	B. Sc./Science/II	+ Renewal .	> 10	300 - 2	3000	0	L722	1722	17.2
705	1452694 MAMTA KUMARI	Female	B. A./Arts/II	Renewal	10	300	3000	0	1662	1662	
180	08 V1452806 DIPESH KUMAR	Male	B. Sc./Science/II	Renewal	10	300	3000	0	1722	:722	
1 60	09 1452821 BHUNESHWARI CHUHAN	Female	B. A./Arts/II	Renewal	10	300	3000	0	1662	1662	
10	1453135 MANISH KUMAR	Male	B. Sc./Computer Science/II - Renewal	II - Renewal	. 10	300	3000	٥.	2042	2042	
=	1) 1453184 DEEPMALA GOYAL	Female	B. Sc./Science/II	1 Renewal	10	300	3000	O	1722	1722	
7	1453312 MANISH BANJARE	Male	B. Com./Commerce/II	Renewal	10	300	3000	U	1662	1662	
13	1453336 NIKHI KANT	Male	B. A./Arts/11	Renewal	10	300	3000	0	1662	1662	
114	114 ~1453621 AMAR KUMAR	Male	B. Sc./Science/II	Renewal	10	300 -	3000 -	Ü	1722	1722	1
13.	1453688 SUNEEL KUMAR	Male	B. Sc./Science/II	+ Renewal	10	570	5700	0	1722	1722	
3	1454O57 SHREE KANT	Male	B. Com./Commerce/II	Renewal	10	300	3000	0	:662	1662	
7	1454070 MONIKA SURYAWANSHI	Female	B. A./Arts/II	Renewal .	. 10	300 -	3000	0 -	:682	1582	
00	1454082 UMESH KUMAR	Male	B. A./Arts/II	+ Renewal	10	300	3000	0	:662	162	
119	1454087 MAHESHWARI BANAFAR	Female	B. A./Arts/II	→ Renewal	. 10	300	3000	0 .	:662	1562	
3	1454103 SHRI KANT	Male	B. A./Arts/II	Renewal	10	300	3000	0	:662	1662	

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs! 42.72.20ut of which Rs 26.25 main tenance allowance and Rs 24.62.7 as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

(Signature & Sea of Head of the institution)

Name (Capital Leters)

A M. H. R. Post



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category : SC

institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhadisgarh

Sanction Date: 30/03/2019

Sanction Number:

R/8/4075/1/9/89512

Applications Type:

Recewal

atior 10 Student Name	CS (SINDE)	ASTRION	TAPE I	Month.	Natio		Allowance				
145-1.07 VINAY KUMAR	Kale	B, Sc./Science/II	Kenewal	10		300	3,000	0	1722	1722	4722
145-1.13 SHALENDRA KUMAR	Male	B. Sc./Maths/II	Fenewal	10		300	3000	0	2042	2042	5042
145-1-41 arun kumar	Male	*B. A./Arts/II	+ Renewal	10	•	300	3000	0	1662	* 1662	4662
1924 V145/270 hmanshu baghel	Male	.B. A./Arts/II	Fenewal	10	ā	300	3000	3. ₊	1662	-,1662	
145/482 sushma sonwani	Fermale	B. Sc./Science/II	+ Fenewal	10		300	3000	0	1722	1722	
145/505 SHRADHA CHAUHAN	Fermale	B. A./Arts/II	Fenewal	10		300	3000	0	1662	1662	
145/523 satvendra kumar	Kale	M. A./Pol. Science/II	Fenewal	10		530	5300	0	1721	1721	
30 1/149 5 65 harshlata goyal	female	M. Sc./Chemistry/II	Fenewal	10		530	5300	0	1771	1771	-
1455 73 rajkumar sonwani	Male	B, Sc/Sdence/III	1 Fenewal	10		300	3000	0	1742	1742	
145:O45 kumari sandhya	female	B. Sc./Sdence/II	+ Fenewal	10		300	3000	0	1722	1722	
145IO96 sukreta khande	female	B. A./Arts/II	Fenewal	10		300	3000	0	1662	1662	
145:537 santoshi sarthi	female	B. A./Arts/II	Fenewal	10		300	3000	. 0	1662	1662	
122 (49:579 gangotri kumari	female	M. A./Pol. Science/II	Fenewal	10		530	5300	0	1721	1771	
145'457 PREETI LASAR	female	B, Sc/Science/III	- Fenewal	10		300	3000	0	17-2	1742	
1457 08 savita bhardwaj	female	· B. Sc./Science/II	+ Fenewal	10	ŧ	300.	3000	0	1722	· 1722	
145/769 pri yanka	female	B, Sc./Science/III	+ Fenewal	10		300	3000	0	17-2	1742	
10°1 149.773 aacha manhar	Semale	B. Sc./Science/II	/ Fenewal	10	,	300	3000	0	20-2	2042	5042

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to..... I do here by sanctioning a sum of Rs.1.04.27.27.0ut of which Rs.56.1.983 maintenance allowance and Rs.34.6.62.783 tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified thats tudents studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place :

(Signature & Seal of Head of the Institution)
Name (Capital INC. 17.1)

This Sanction is generated to ad Baleh Certif. Frinced on 3/30/2019

Date :

Page 8/12

72 364707

Government of Chhattisgarh

Scholarship Scheme: Post Matrio SC Scholarship

Category:

Institute Name: Govt. Callage M.M.R. Champa

Academic Year: 2018-19

Covernment of Chattisgail

Sanction Number: R/8/4075/17/3/89612

Applications Type: Renewal

Sanction Date :

30/03/2019

Applica	Application ID Student Name	Gender	Course	Туре	No. of Manth	Rate	Allowance Lucio				
200	1458816 tejram ratre	Male	M.S.W./Master of Social Work/II	+ Renewal	10	530	5300	0	2171	217_	7471
100	1459047 chapdni baghel	Female	B. Sc./Science/II	+ Renewal	10	300	3000	0	1722	1722	47,22-
	1459055 malti kumari suryawanshi	Female	B. Sc./Science/III	← Renewal	16	300	3000	0	1742	1742	
	1459084 pushpendra kumar suryawanshi Male	Nale	B. Sc./Science/III	Renewal	10	300	3000	٥	1742	1742	
Po	1459309 satyendra k umar	Nale	M. A./Sociology/II	1 Renewal	1.0	530	5300	0	1721	1721	
1	12 1459316 heera lal	Nale	B. Sc./Science/III	Renewal	10	300	3000	O	1722	1722	
1	11/2 1459385 nill ma	Female	M. A./Economics/II .	Renewal	10	530	5300 1	0	1721	1721	
0°1	1459661 mr.raj kumar	Male	B. A./Arts/III	Renewal	10	300	3000	o	1552	1662	
11/2	1959711 harish kumar	Male	B. A./Arts/III	Renewal	10	300	3000	O	1 552	1662	
4-6	1459749 uma ku mari	Female	M. Sc./Mathematics/II	Renewal	10	530	- 5300	٥	1771	1771	
9	1460458 RANU SURYAVANSHI	Female	B. Sc./Science/II	Renewal	10	300	3000	o	1722	1722	
0	1460902 SURENDRA BANJARE	Male	B. A./Arts/II	Renewal	10	300	3000	ю	1562	1662	
T C	1461046 SAVITA VIRWANSH	Female	B. A./Arts/II	Renewal	10	300	3000	0	1562	1662	
N F	1461047 KIRAN KHUNTE	Female	B. A./Arts/II	Renewal	10	300	3000	o	1562	1662	
3 5	1459734 kumari sanju	Female	B. A./Arts/III	+ Renewal	10	300	3000	o	1.552	1662	4662
الا	1229541 KARMENDRA KUMAR	Male	B. Sc./Maths/III	Renewal	10	300	3000	0	1742	1742	4742
2 (1037700 HEMANT KIIMAR	Male	B, Sc./Science/III	+Renewal	10	300	3000	0	1742	1742	4742

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of RsJ 0.422.2.7 Out of which RSM 6.00 as maintenance allowance and Rs 2.466.2.2. as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place :

(Signature & Seel of Head of the Institution)
Name (Capital A Kers, 41)

This Sanction is generaled by Beholers to Fordi. Printed on 3/30/2019 Gert. M.M.R. Post Graduate Cellen

Date :

Page 9/12

100/ 79007

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Gcvt, Collage M.M.R. Champa

Academic Year : 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/1/9/89512

Applications Type: Renewal

Sancton Date:

30/03/2019

ā	1263607	263607 MALTI TANDAN	Female	B. Sc./Science/III	Renewal		orch 10	300	Allo	3000 2000	0	1722	1722	-
935	1267984	267984 VIJENDRA KUNAR MIRI	Male	B. A./Arts/II	+ Renewal		10	300		3000	0	1652	1652	
47	1299846	1299846 SONIKA SATNAMI	Female	B. A./Arts/III	Renewal	i	10	300		3000	0	1652	1662	
200	1303771	1303771 MADHAVI DHARIYA 💀	Female	B. Sc./Science/III	Renewal	\$	10	300	des.	3000	0 5	1342	1742	
A A	1307042	S 1307042 ATISH KUMAR MAHILANGE	Male	B. Sc./Science/III	+ Renewal		10	300		3000	0	1522	1722	
0	1307252	1307252 SATYAM KUMAR	Male	B. A./Arts/III	4 Renewal		10	300		3000	0	1652	1662	
1	1307440	307440 MAAN SINGH	Male	B. Sc./Computer Scierce/III Renewal	III Renewal		10	300		3000	o	1542	1742	
200	1307446	1307446 SHALINI SURYAWANSHI '	Female	B. Sc./Science/III	★ Renewal		, 10	300		3000	0	1742	1742	
63	1307492	1307492 RAVI KUMAR SONWANI	Male	B. Com./Commerce/III	⊀ Renewal		10	300		3000	0	1662	1662	
6	1307919	1307919 SUNIL NETAM	Male	B. A./Arts/III	Renewal		10	300		3000	0	1662	1562	
TO TO	1307927	1307927 HEERA SATNAMI	Female	B. A./Arts/III	+ Renewal		10	300		3000	0	1662	1562	
0	1310440	66 1310440 GAUTAM PRASAD	Male	B. Sc./Science/III	★ Renewal		10	570	1:	5700	. 0	1742	1742	
4	1310643	167-1310643 HEMLATA SEWAYAK	Female	B. Sc./Science/III	⊀ Renewal		10	300		3000	ij	1742	1742	
6	1312612	1312612 KUSUM KUMARI	Female	B. A./Arts/III	+ Renewal		10	300		3000	0	1662	1662	
6.3	1451632	1451632 KISHAN KUMAR -	Male	B. A./Arts/II -	- Renewal ·		- 10	300		3000	0	1662	1662	
0	1308081	JAOV 1308081 ANIL KUMAR DHARIYA	Male	B. Sc./Computer Science/III & Renewa	II \ Renewal		10	300		3000	0	1742	1742	
3	1308123	1308123 PARMESHWARI PATLE	Female	B. Sc./Science/III	Renewal		10	300		3000	0	1742	1742	

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.10.4.2.72.70 ut of which Rs.69.64.55 maintenance allowance and Rs.366.22 as tuition and other fees. Printed copy of colline any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discentinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

(Signature & Seaf of Head of the Institution)
Name (Rapital Latersh):

M. M. R. Post Graduate College



Page 10/12

10880H

00 As

This Sanction is gandreled by Scholarship Portal, Printed on 3/30/2019

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Sort, Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattsgailh

Sanction Number: R/8/4075/1/9/895*2 Sancton Date: 30/03/20*9

Applications Type: Renewal

...

	1662	1662	0	3000	300	10	Renewa	B. A. /Arts/II	Female	1451177 SONIVA KIIDREY	145
	1722	1722	0	3000	300	10	⊀ Renewal	B. Sc./Science/II	Male	1450991 VIJAY PRAKASH	
	1722	1722	0	3000	300	10	- Renewal	B. Sc./Science/II	Female	1450899 VINOD KUMAR	
	1662	1662	0	3000	300	10	⊀ Renewal	B. A./Arts/II	Female	1450638 PRAIYA SARTHI	
	1682	1682	0	3000	300	10	Renewal	B. A./Arts/II	Male	1450516 PRADEEP KUMAR	
	1722	1722	0	3000	300	10	4 Renewal	B. Sc./Science/II	Male	1450033 SHANI KUMAR .	
	1662	1662	0	3000	300	10	Renewal	B. A./Arts/II	Female	1450050 SANGEETA SURYAWANSHI	
	1722	1722	0	5700	570	10	Renewal	B. Sc./Science/II	Male	1449852 JAGAT RAM	
	1662	1662	0	3000	300	10	* Renewal	B. A./Arts/III	Female	1449751 SEEMA KURREY	
	1662	1662	0	3000	300	10	Renewal	B. Com./Commerce/II	Male	1422459 SHANI LAL	
0	1,662	1662	0	3000	. 300	10	+ Renewal	B, A./Arts/U	Female	1422295 SUNITA SURYAWAISHI	
	2042	2042	0	3000	300	10	⊀ Renewal	B. Sc./Science/II	Male	1364127 SANDEEP ROHIDAS	erana.
	1662	1662	0	3000	300	10	→ Renewal	B. A./Arts/III	Female	1345232 PRIYA KHUNTE	
	1662	1662	0	3000	300	10	Renewal	B. A./Arts/II	Female	1336647 PRAMILA SUMAN	
	1662	1662	d.	3000	300	10	Renewal	B. Com./Commerce/II	Female	1325469 KOMAL SAWARKAR	7/1 132
	,172	1721	0	5300	\$ 530	10	Renewal	M. A./Economics/.I	Female	1313203 sarita kumari chauhan	
	1742	1742	0	3000	300	10	+ Renewal	B. Sc./Science/III	Male	172 1309252 SATYENDRA KUMAR CHATURVEDANI	72 130
				Allowance		Nonth	- Jaki	Sursi	Genoer	Student Nunz	*pplication ID

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guard an from all sources of the seral no. 1 to | do here by sanctioning a sum of Rs. C.C.2.2.2. Out of which Rs. M.C. as maintenance allowance and Rs. M.C. as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

(Signature & Seal of Head of the Institution)

Name (Capital Leters)

This Sanction is generated by Scholarship Portal. Prince on 3.30/2019



Page 11/12

000

058767

Government of Chhattisgarh

Scholarship Schema: Post Matric SC Schoarship

Category:

Institute Nams: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

Government of Chhattisgarh

Sanction Number: R/5/4075/1/9/39512

Applications Type: Renewal

Sandion Date: 30/03/2019

1	0 34657		696100	Total:			***************************************		
W1	0 1662	С	3000	300	10	+ Renewal	B, A,/Arts/II	Male	1451491 PUSHPENDRA KUMAR
2.4	0 13	0	13,13	300	10	Renewal	B. Sc./Science/II	Female	1451480 MANISHA KHANDEL
N	0 13	0		300	10	+ Renewal	B. Sc./Science/II	Male_	1446926 SHAILENDRA KUMAR
K	0 20	0		300	10	+ Renewal	B. Sc./Maths/II	Female	90 1451627 DIVYA KHANDE
NI	0 13	0		300	10	Renewal	B. Sc./Science/II	Female	198 1451570 DEEPTI ANCHAL
N	0 13	0		300	10	+ Renewal	B. Sc./Science/II	Female	1451545 MAHESHWARI KURREY
562	0 11	0	3000	300	10	-{Renswal	B. A./Arts/II	Male	1451535 SUKHDEV PRASAD
562	0 11	0		300	10	Renewal	B. A./ Arts/II	Male	1451403 RILESHWAR KHANDE
1662	0 11	0		300	10	Renewal	B. Com./Commerce/II	Male	1447862 KARENDRA KUMAR
562	0 14	O		300	10	L Renewal	B. A./Arts/II	Male	1447826 VIRENDRA KUMAR
1662	0 16	0		300	of	* Renewal	B. A./Arts/II →	Femsle	92 1447792 ANJALI KURRE
1662	0 11	0		300	10	→ Renewal	B. A./Arts/II	Female	1422483 UTTARA SURYAWANSHI
2042	0 21	O		300	10	+ Renewal	B. Sc./Science/III	Female	30 VI422481 ANJANI SURYAWANSHI
1662	0 11	0		300	10	Kenawal	B. A./Arts/III	Female	189 1312760 Peena suryavanshi
	es Other F	nution.	Maintenence Allowance	Rate	No. or Month	lype	Course	Gender	Jon 18 Student Namo

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guard an from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.I.B.H.2222.20ut of which Rs.6968.83ds maintenance allowance and Rs.#1.662.23s tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: Date :

Page 12/12

This Sandfon is general add y Sin Pash (Devid Parted on 3.30/2019 .M.R. Post Grow

(Signature & Sear of Head of the Institution)

Name (Cap tal recrieva)

106

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattissen

Sarction Number: R/8/4075/1/9/90671

Applications Typs: Renewal

Sanction Date:

06'C4/2019

	No.	A Part
77	1 1452848 AKA	cation ID
	18 AKASH KUMAR	Student Name
	Male	Gender
	B. A./Arts II	Caturse
	Renewal	Туре
	10	No. of Month
Total:	300	Rate 7
3000	3000	fairftenence Tu Allewance
D	o	ition Fee Ot
1662	1662	Ner Fee
1662	1662	010 Fam (310
4662	4662	🖨 Атант

Declaration:

any other regular scholarship/stip end the fact will be immediately aported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected candidate have been kept safely in the office and will be subject to re-rification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from a Isources of the serial no. 1 to I do here by sanctioning a sum of Rs 16.6.2......Ort of which Rs 2000 as maintenance allowance and Rs 16.0.2.....as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post macric scholarship and after thoroughly examining the scholarship applications included in the above procesal from

Place: Date:

(Signature & Space (1594) of the Institution)



Page 1/1

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhatsgarh

Sanction Number: N/8/4075/2/7/89339

Sanction Date: 30/03/2019

Applications Type: Fresh

	THE RESERVE THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAMED IN COLUMN TWO I		THE REPORT OF THE PARTY OF THE	SECTION DESCRIPTION OF STREET		Marie de l'action		Manufacture of	THE PARTY OF	(a) 200 m m m m m m m m m m m m m m m m m m	部でできる。 単位しては 変数	OHER EVEN
phical	tion ID Student Name	t Name	Gender	Course	Туре	No. of Month	Rate	Allowance	o minimum response			
08155590	254289 MEENA KANWAR	P.	Female	M. A./Pol. Science/I	Fresh	9	530	4770	0	1801	1801	
	DOUGH KANWAR	NWAR	N N N N N N N N N N N N N N N N N N N	M. Com./ABST/I	Fresh	9	530	4770	0 0	1801	1801	
1	24407E Nameday Cleak	Kanwar .	Male	M. A./English/I	fresh	9	530	4770	0	1801	1801	
	OTTOCO NOI COMO OTTO	Salivida	Econolo	M A (Sociology)	Fresh	9	530	£ 4770	P	1801	1801	6.5
	350391 PINKI KUMARI PAIKKA	AIKKA	remale	M. A./Sociologyt	116911		0.000			2	7. 4	
\	390271 Rukmani Paikra		Female	PGDCA/Computer Application/I	Fresh	9	530	4770	0	2141	2.41	
3	390794 NANDAN SINGH SIDAR	SIDAR	Male	PGDCA/Computer Application/I	fresh	. 9	530	4770	0	2141	2141	
4	742589 Mahendra Kumar paikra	ır paikra	Male	M. Sc./Chemistry/I	Fresh	9	530	4770	0 0	1851	1851	
6	754432 Aashish Kumar Binihwar	Binjhwar	Male	M. A./English/I	Fresh	9	530	4770	0 0	1801	1801	
) 0	759019 SURENDRA SINGH KANWAR	GH KANWAR	Male	M. Sc./Chemistry/I	Fresh	9	530	4770	0 0	1851	1851	
	817551 SAVITRI KUMARI	2	Female	M. Sc./Chemistry/I	Fresh	9	530	4770	0	1851	1851	-
	897420 PHULESHWARI RAJ	E	Female	PGDCA/Computer Application/I	Fresh	9	530	4770	0	2141	2141	
7	944646 RUKHMANI SINGH MARKAM	GH MARKAM	Female	M. Com./ABST/I	Fresh	9	530	4770	0	1801	1801	
, .	1116744 MADHU NOSURNAME	NAME	Fentale	M. A./Pol. Science/I	Fresh	. 9	530	4770	0	1701	1701	
ר '	1118797 JANKI NOSURNAME	AME	Female	M. A./Pol. Science/I	Fresh	9	. 530	4770	0	1801	1801	
7	1141252 VIJAY LAKSHMI KANWAR	KANWAR	· Female	M. Sc./Mathematics/I	Fresh	. 9	530	4770	0	. 1851	1851	

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the seriod it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 6. I do here by sanctioning a sum of RSC. Sould. Out of which RS. L. S. Maintenance allowance and RS. J. M. L. M. S. L. L. M. S

Place : Date :

Signature & Seal of Head of the Institution Name (Capital Leters).

Starction registe, for Scholarship

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State Government of Chhattisgarh

Sanction Number: N/8/4075/2/7/89339 Sanction Date: 30/03/2019

Applications Type: Fresh

Application To		DISABILITY OF THE	AND RESIDENCE OF THE PROPERTY					· and C . Constructed	. ype . i toan	2	
	O MONTH OF THE	Gender	Course	Туре	No. of	Rate	Maintenence	Tuition fee	Officer Fee	Total Fee	Total Amount
E 11	1156580 DEV SINGH	Male	PGDCA/Computer Application/I	Fresh	9	530	4770	0	2141	2141	691
11 4	1158730 Sangeeta Sidar	Female	M. A./Pol. Science/I	Fresh	٥	750					
× 110	1161269 PURNIMA URANW	Female	M A Bot Colonial			200	9//0	0	1801	1801	6571
8	54783 Arian Delta Commit	cindic	M. A./Pol. Science/I	Fresh	9	530	4770	0	1801	1801	לא א
7	1169783 Arun Pratap Gond *	Male	PGDCA/Computer Application/1	Fresh	w	* 530	4770	0 0	2141	* 2141	6911
20 124	1243640 JAYA SIDAR	Female	M. A./English/I	Fresh	0	7					
9 124	1248812 NAR SINGH SIDAR	Male	PGDCA/Computer		· w	050	47/0	0	1.801	1801	6571
	at .		Application/I	Fresh	9	530	4770	0	2141	2141	1169
	1288189 ANNAPURNA KANWAR	Female	M. A./Sociology/I	Fresh	9	530	4770	>	9		
13 131	1313924 KEVAL KRISHNA	Male	PGDCA/Computer	Fresh	9	530	4770	0 0	2141	2141	601
N/ 131	1319293 PUSHPA MARKAM	Female	M. A./Pol. Science/I	Frech	5						
	1430448 SANGEETA KUMARI	Female	M. A./Sprinlogu/I			000	47/0	0	1801	1801	6571
	1459719 vinod kumar kanwar	Sil.	T. M. Common of the common of	T est	9	530	4770	0	1801	1801	6571
	The state of the s	ridic	Application/I	Fresh	9	530	4770	0	2141	2141	6911
19	1479772 SURUCHI NETAM	Female	B. A./Arts/I	Fresh	0	300	7700				
	1481656 LAXMI KANT BINJHWAR	Male	B. A./Arts/I	Figure) (500	00/7	0	1722	1722	4422
. 154	1543483 ANJALI KUMARI	Female	B Sc /Science/1		vc	300	2700	0	1722	1722	4422
	1543501 JAI KUMAR	Male of	B A /Arte/I	Fresh	9	. 300	2700	0	1782	. 1782	4482
			or other edit	rresn	r.	300	2700	0	4700	1777	i

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signa: Ge & Seal of Head-offthe Institution)
Goviance (Capital Leters)
CH A MP A

Page 2/8

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: S

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Othettsgarh
Sanction Number: N/8/4075/2/7/89539

Sanction Date: 30/03/2019

Applications Type: Fresh

Application ID	Student Name	Gender	Course		Туре	No. of Month	Rate M	aintenence Tu Allowance	ition Fee C	He He	olal Fae
1549555	1549555 SURESH KUMAR KANWAR	Male	B. Sc./Science/I	F	Fresh	9	570	5130	0	1782	178
1550167	1550167 YASHWANT SINGH KANWAR	Male	B. A./Arts/I	F	Fresh	9	300	2700	0	1722	1721
79 1552249	1552249 DEVI KANWAR	Female	B. Sc./Science/I	F	Fresh	9	300	.2700	0	1782	17
	1553616 KHUSHBQO KANWAR	Female 🛊	B. Sc./Science/I	• P	Fresh	+0	300	2700	0	1784	17
1553633	1553633 SULOCHANA KANVAR	Female	B. A./Arts/I	F	Fresh	9	300	2700	0	1722	17
1481827	1431827 RAMAN BINJHWAR	Male	B. Sc./Science/I	F	Fresh	9	300	2700	0	1782	17
1483424	1483424 JHULA BAI KANWAR	Female	B. Sc./Science/I	Ŧ	Fresh	9	300	2700	0	1782	17
1483535	1483535 VIDYA DEVI KANWÂR	Female	B. A./Arts/I	٠ ٢	Fresh	9	300	2700	0	1722	177
1483621	1483621 RADHA GOND	Female	B. A./Arts/I	F	Fresh	9	300	2700	0	1722	17
1484043	1484043 MANISHA KANWAR	Female	B. A./Arts/I	77	Fresh	9	300	2700	0	1722	17
1484127	1484127 RAKESH KUMAR BINJHWAR	Male	B. A./Arts/I	F	Fresh	9	300	2700	0	1722	17.
1486131	1486131 MUKESH KUMAR	Male -	B. A./Arts/I	F	Fresh	9	300	2700	0	1722	17
1487637	1487637 BUDDHESHWAR KANWAR	Male	B. Com./Commerce/I	T	Fresh	9	300	2700	0	1722	17.
1492077	1492077 DIGAMBAR SINGH	Male	B. A./Arts/I	Fr	Fresh	9	300	2700	0	1722	177
1492430	1492430 UMA KÁNWAR	Female	B. Com./Commerce/I	T,	Fresh	9	300	2700	0	1722	172
1493527	1493527 KUNDAN BINJHWAR	Male	B. Com./Commerce/I	T	Fresh	9	300	2700	0	1722	17.
1494941	1494941 ASHWANI KEMAR URANW	Male	B. A./Arts/I	. 17	Fresh	9	300	2760	0	1722	17.
				ņ	Fresh	9	300	2700	0	1722	172

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place: Date:

gnature & Seal of Head of the Assitution

Page 3/8

Stict in .eg ite. fo. Sc., olaship

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: S1

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhatisgarh

Sanction Number: N/8/4075,2/7/8 9839

Sanction Data: 30/03/2019

Applications Type: Fresh

1 23	20 m	62 1	<u>.</u>	60 1	6	58 1		8	\A\	2	3	3	5	9	10	Applica
1515031 K	1514831 L	1513812 R	1513751 N	1512262 N	L512257 U	1512238 D	1505721 S	1505606 S	1504915 K	1503640 V	1501356 K	1501275 P	1501231 A	1500884 R	1497450 A	Application ID
1515031 KARAN SINGH KANWAR	1514831 LAKESHWARI KUMARI GOND	1513812 RADHIKA URAON	1513751 NIKITA BHAINA	1512262 NANDANI SANWARA	1512257 LOKESHWAR SINGH	1512238 DEVIKA KANWAR	1505721 SHOBHA KANWAR	1505606 SANJAY RATNA KURRE	1504915 KHEM SINGH	1503640 VINAYLATA BINJHWAR	1501356 KHIR BAI GOND	1501275 PRATIBHA KANWAR	1501231 AKSHAY KUMAR BINJHWAR	1500884 RUKHAMANI KANWAR	1497450 ARCHANA URANW	Student Name
Male	Female	Female	Female	Female	Male	Female	Female	Male	Male	Female	Female	Female	Male	Female	Female	Gender
B. A./Arts/I	D. C. A./Diploma in Computer Fresh application/I	B. A./Arts/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B. A./Arts/I	M.S.W./Master of Social Work/I	M. Sc./Mathematics/I	B. A./Arts/I	B. A./Arts/I	B. A./Ars/I	B. Com./Commerce/I	B. A./ATS/I	B. A./Arts/I	Course
	Computer							ocial	1/1				/I			
Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Туре
. 9												•	-			No. of Month
9	v	9	9	Ф	9	9	9	9	9	9	9	9	9	9	9	R
300	230	300	300	300	300	300	300	530	820	300	300	300	570	300	300	ě ř
2700	2070	2700	2700	2700	2700	2700	2700	4770	7380	2700	2700	2700	5130	2700	2700	tenence Tu
0	0	0 .	0	0	0	0	0	0	0	0	0	0	0.	0	0	ition Fee C
+ 1722	2072	1722	1782	1782	1782	1782	1722	2251	1851	1722	1722	1722	1722	1722	1722)The Fee
172	2072	172	1782	1792	1782	1792	1722	2251	1331	1722	1772	1722	1722	1722	1722	Potal Page Ti
4422	4142	4422	4482	4482	4482	4482	4422	7023	9231	4422	4422	4423	6852	4422	4422	dial Amount

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the periodic is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signatur P& Seal of Rebeat the Institution)
(Name (Copica-tetals) & College,
CHAMPA (G. G.)

Striction legiste, for Scholarship

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

Sanction Number: N/8/4075/2/7/89339 Government of Chhattisgarh

Sanction Date: 30/03/2019

Applications Type: Fresh

Application ID Student Name	Gender	Course	Type	No. of	Rate	Maintenerace	Tuffion Fee	
				Month		Alfowance		
1515639 SURAJ KUMAR URANW	Male	M. Sc./Chemistry/I	Fresh	9	820	7380	0	- 10
1516112 DURGESH SINGH	Male	B. A./Arts/I	Fresh	9	300	2700	0	
1517037 SURENDRA KUMAR	Male	B. Com./Commerce/I	Fresh	9	570	5130	0	
1521084 PREMLATA BINJHWAR	Female	B. Sc./Botany/I	Fresh	9	300	2700	9	
1524032 RAVI KUMAR	Male	B. Sc./Science/I	Fresh	9	300	2700	0	
1526003 DUSHYANT KUMAR PAIKRA	Male	B. Sc./Botany/I	Fresh	٥	UUE	2700		
1526766 PUSHPA KANWAR	Female	B. A./Arts/I	Fresh	۵	anne.	2700	5 6	į
1527442 KAMAL KUMAR	Male	B. A./Arts/T	Fresh	٥	JOUR	1 2700	0 0	4
1533872 MOHIT KUMAR	Male	B. A./Arts/I	Fresh	٥	300	2700	0 0	
1535097 SEEMA RAJ	Female	R Sc /Science/T	Eroch		200	2700		1
1520000 15744 17441		Contraction of the	riesi	ve	300	2700	0	
1538209 HEMA KANWAR	Female	B. Sc./Science/I	Fresh	0	300	2700	0	
1542226 SUJATA KANWAR	Female	B. Sc./Science/I	Fresh -	9	300	2700	Q.	
1542683 NANDINI KANWAR	Female	B. A./Arts/I	Fresh	9	300	2700	0	
1542719 MANISHA KANWAR	Female	B. A./Arts/I	Fresh	9	300	2700	0	
1542798 SUSHILA KUMARI	Female	B. A./Arts/I	Fresh	Đ	300	2 700	D. 6	1
1542834 MITHALESHWARD KANNAD	Enough	D A AAAAA	. 9	4	300	2700	0	
1542834 MITHALESHWARI KANWAR	Female	B. A./Arts/I	Fresh	9	300	2700	0	
1542915 DAMINI KANWAR	Female	B. Sc./Science/I	Fresh	9	300 -	2700	0	
1542924 KARAN SINGH GOND	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of cardidate and annual income of Parents/Guardian from all sources of the

Place:

Date :

(Signature 18,757al of Heading the Institution) Olame (Gapital Leters), re College

CHAMPA (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

> State: Government of Chhattisgarh

Sanction Number: N/8/4076/2/7/89339

Sanction Date: 30/03/2019

Applications Type: Fresh

	97	36	R	2		1	-0		2		17.5	8	The state of	200	~	1005 x 1
1570549 RAM KUMAR	1569957 BHUNESHWARI SIDAR	1569145 GIRIWAR SINGH	1567859 DHAN BAI	1565191 MUKESH KUMAR BINJHWAR	1564146 PRAKASH KUMAR	1563096 BHUNESHWAR SINGH KANWAR	1562167 RAMKISHAN BIJHWAR	1560911 BHARATI KANWAR	1560208 RAJESH SINGH . ,	1559839 PUSHPA KANWAR	1555015 SHRI RAM	1554862 RAMLA KANWAR	1543419 RAJNI BHAINA	1543312 DIVYA KUMARI KANWAR	1543176 VAISHALI RAJ	ation ID Student Name
Male	Female	Male	Female	Male	Male	Male	Male	Female	Male	Female	Male	Female	Female	Female	Female	Gender
B. A./Arts/I	B. A./Arts/I	B. Sc./Science/I	B. A./Arts/I	B. A./Arts/I	B. Sc./Science/I	B. A./Arts/I	M. A./Sociology/I	PGDCA/Computer Application/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	M. A./Englsh/I	B. Sc./Maths/I	B. A./Arts/I	PGDCA/Computer Application/I	Course
Fresh *	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Туре
9	9	9	9	9	9	9	9	9	, 9	9	9	9	9	9	9	No. of Month
300	300	300	300	300	- 570	300	530	530	570	300	300	530	300	300	530	Rate
2700	2700	2700	2700	2700	5130	2700	4770	4770	5130	2700	2700	4770	2700	2700	4770	aintenence 1
	0	0.	0	0	0	0	0	0	. 0	0	0	. 0		0		Tuition Fee
1722	1722		1722	1722	1782	1722	1801	2041	, 1782	1782	1782	1801	1782	1722	2141	Other Fee
					2 1782		1801	2041		2 1782		1801		2 1722		Total Fee
2 4422		2 4482		2 4422	2 6912	2 4422	1 6571		2 6912	2 4482	2 4482	1 6571	2 4482	2 4-22	1 6911	Total Amount

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

G& Spine (Capital Letters): College CHAMPA (C. G.)

(Signature &/Seaf &PHead of the Institution)

Place :

Date :

Stad on legate to Scholinship

Sovernment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

900

State Government of Chhattisgarh
Sanction Number: N/8/4075/2/7/85339
Sanction Date: 30/03/2019

Applications yoe: Fresh

1	,			TO TO TOTAL MANUAL SECONDS	[1] 1502210 KANTAI KANNAA	150314 KARWA KANWAK	-					184 1585314 VISHNU SINGH		1		1573467 PRAMOD KUMAR KANWAR		plication (D
		Male	SIDAN	700			MARI	OND							R PAIKRA			市
	Female	ale	remaie	cindic	remale	Female	Female	Male	Male	Male	Male	Male	Female	Male	Male .	Male	Female	Gender
	B. A./Arts/I	B. A./Arts/I	p. ac./ adence/1	P. A./Sociology/I	B. Sc./Science/I	B. A./Arts/I	B. Sc./Botany/I	B. Sc./Science/I	B. Com./Commerce/I	*B. Com./Commerce/I	B. Sc./Science/I	B. A./Arts/I	B. A./Arts/I	B. Sc./Science/I	B. Sc./Science/I	M. Sc./Chemistry/I	B. Sc./Science/I	Course
	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Туре
,	9	9	9	. 9	ω	œ	w	us.	10	9	9	9	9	9	9	9	9	No. of Month
300	300	300	300	530	300	300	300	300	300	300	300	300	300	300	570	530	300	Rate
7	2700	2700	2700	4770	2700	2700 -	2700	2700	2700	2700	2700	2700	2700	2700 🛊	5130	4770	2700	Maintenence T
,	О	0	0	0	0	0	0	0	0	0	0	0	0	0	C	C	0	uition Fee
	1722	1722	1782	1801	1782	1722	1782	1782	1722	1722	1782	1722	1722	1782	1782 +	1851	1782	Other Fae
	• 1722	1722	1782	1801	1782	1722	1782	1782	1722	· 1722	1782	1722	1722	1782	1782	1851	1782	Total Fee
	4422	4422	4482	6571	1482	4422	4482	4482	4422	4422	4482	4422	4422	4482	6912	6621	4482	Fotal Amount

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. andidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to less by sanctioning a sum of RSASAS Out of which RSASS maintenance allowance and Rs. 224.7.48 tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

lace:

(Signature 8/864) of Headigf the Institution)
(Signature 8/864) of Headigf the Institution)

CHAMPA (C. G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

S

Institute Name: Govt, Collage M.M.R. Champa

Academic Year: 2018-19

Sancton l'umper Sanction Date State 30/03/2019 N.8-4 (75/2/7/89339) Government of Chinattisgath

Applications Type

Fresh

433260	4	4	Total:				100000000000000000000000000000000000000			100
	1782	0	2700	300	9	Fresh	B. Sc./Botany/I	Female	1607222 SHIV KUMARI KANWAR	1607222
	1722	0	2700	300	9	Fresh	B. Com./Commerce/I	Male	1603945 AJIT KUMAR KANWAR	12 1603945
	1801	4	. 4770	530	9	Fresh	M. A./English/I	Male	1599468 VISHAMBHAR SINGH	
	1782	l e	2700	300	9	Fresh	B. Sc./Science/1	Female	1596563 KIRAN KANWAR	1
	1782		2700	300	9	Fresh	B, Sc./Science/I	Female	1594145 SANJANA KANWAR	
	1722	0	2700	300	9	Fresh	B. A./Arts/I	Male *	1593474 GOKUÉ SINGH KANWAR	20 159347
1782	1782	0	2700	300	. 9	Fresh	B. Sc./Science/I	Female	1592838 SANGEETA KANWAR	19 1592838
	1782	0	2700	300	9	Fresh	B. Sc./Science/I	Male	1592733 DHANESHWAR PRASAD KANVAR	1592733
1801	1801	0	4770	530	9	Fresh	M. A./English/I	Female	1592492 ANUPA KUMARI	7 1592492
		Fulltion Fee C	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	pplication ID

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

(Signatura 1885 è à GFH a d'Efthe Institution)
(Nomie Castaltate HE College

CHAMPA (C.G.)

Date : Place:

Page 8/8

This Sanction is generated by Scholarship Portal, Printed on 3/33/2019

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number : R.8/4075/2/7/89362

Applications Type: Sanction Date : 30/03/2019

Renewal

1 121139 Renu uraon 1 135092 SURENDRA BAHADUR SINGH KANWAR 2 203595 Ganesh Singh Kanwar	3*37	nder	M. A./Pal. Science/II M. A./Saciology/II M. A./Sociology/II	Renewal Renewal	No. of Month 10		Rate 530 530
298189 Santosh Kumar Kanwar	Male		M. Sc./Chemistry/II	Renewal	10		530
360297 Hemant Kumar Kanwar	Male		M. A./Pol. Science/II	Renewal	10		530
517600 DURGA GOND	Female		B. Com./Commerce/III	Renewal	10		
520117 CHAMRIN BAI KANWAR	Female	**	B. A./Arts/III	Renewal	. 10	10 :	
588513 Rukesh Sidar	Male		B. Sc./Science/III	Renewal	٠,	0	
527830 NANDITA PAJKRA	Female		M. A./Scciology/II	Renewa		5	
712675 DURGA KAWAR	Female		B. A./Arts/III	Renewa	4 }	2 0	
712734 SAVITA KANWAR	. Female		B. A./Arts/III	Bonewa		-	
726028 KALPANA SINGH TANWAR	R Female		B. A./Arts/III	Bonewal		5 6	
817430 VARSHA KUMARI	Female		M. A./Pol. Science/II	Ponewal		9 6	
775818 manoj kumar	Male	•	B. A. /Arts/II	Nenewal		0	
870044 vijay kumar kanwar	Mala		b. A./AIIS/II	Renewal	1	10	
874276 KARAN VEER	Male	2 7	M. Com./ABS1/II	Renewal	10	0	
	- Deline	= 7	Work/II	Renewal	. 10		530

Declaration:

ny other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. andidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts cholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Tertified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from the scholarship application and other fees. Printed copy of online

: e1e lace :

(Signatur**ு இரச்பிர் சி.கி**.pf :he Institution) GOVERNO PURE PROBLEM College

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4075/27/89362

Sanction Date: 30/03/2019

Applications Type: Renews

						A S. Of Persons and Publishers	A THE PERSON NAMED IN COLUMN TWO	CW HERSTEIN MARKET PER	Chillipped Cartal Services	THE REAL PROPERTY.	CANADA STREET,
Application ID Student Name		Gender	Course	Type	No. of Month	Rate M.	Mowance Tu	Kilon Fee Ci			
	Total Control	Female	B Sc./Science/III	Renewal	10	300	3000	0	1722	1722	4722
1 877205 ULIAKA KUMAKI SILWK		did	C. Call Contract seed seed		5	200	NOUE	0	1662	1662	4662
883452 BIPAT KUMAR BINJHWAR		Male	B. A./Arts/III	Renewal	10	300	5000	0	1 0	(22)	Capr
	WAR	Male	B. A./Arts/III	Renewal	10	300	3000	0	1662	7801	
	+:	Female	B. Sc./Science/III	Renewal :	10	300	3000	۰,0	1722	1722	4/22
SOLUTION SINIT SOLUTION SOLUTIONS	y'a	- Line			5	300	3000	0	1662	1662	4662
964516 DIGESHWARI GOND		Female	B. A./Arts/II	Renewal	OT	200	2000		1663	1563	4662
971763 PINKI KUMARI KANWAR		Female	B. A./Arts/III	Renewal	10	300	3000	c	ZOOT		
C 077854 DRADEED KIIMAR URAON	-	Male	B. A./Arts/III	Renewal	10	300	3000	0	1652	7007	7001
		Male	B. A./Arts/III	Renewal	10	300	3000	0	1662	1662	7004
						200	3000	0	1777	1722	
0 S 1017576 Poonam No Surname		Female	B. Sc./Science/III	Renewal	TO.	300	3000	0 0		1860	4662
		Female	B. A./Arts/III	Renewal	10	300	3000		2007	1000	CCCP
	וני	Female	B. Sc./Science/III	Renewal	10	300	3000	, 0	7777	77/1	
The state of the s		Malo	B. A./Arts/III	Renewal	10	300	3000	0+-	1662	1662	4662
			Di Cilymontonia	0	10	300	3000	0	1662	1662	4662
1235189 JAYSHREE SIDAR		Female	b. A./AIS/III	Neiroman		1	3000	2	1735	1722	4722
1236494 ANJALI KANWAR		Female	B. Sc./Science/III.	Renewal	10	300	. 3000	> <	22.7	1733	4722
9 1236936 NEETU KANWAR		Female	B. Sc./Science/III	Renewal	10	300	3000	0	7771	7777	
		Female	B. Sc./Science/III	Renewal	10	300	3000	0	1722	1/2/	4/22
02 1237605 BHUWAN SINGH KANWAR	ia 	Male	B. Sc./Science/III	Renewal	10	570	5700	0	1/22	1771	27577

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is cetected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place: Date :

(Signature) Gove Capital Lete & College Seal-of blegar of the Institution)

CHAMPA (C. G.)

50 ct. in ...eg. its. for schola.ship

Government of Chhattisgarh

Scholarshp Scheme: Post Matric ST Scholarship

Category:

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: Sanction Date: 30/03/2019 R/8/4075/27/89862

Applications Type: Renewa

4722	1722	1722	0	3000	300	10		Renewal	B. Sc./Botany/II	Female	1477384 SEEMA KANWAR	14.
4662	1662	1662	0	3000 .	300	10		Renewal	B. A./Arts/II	Male	1422273 GHANSHYAM SINGH	
4662	1662	1662	0	3000	300	10		Renewal	B. A./Arts/II	Female	1407387 MAMTA KUMARI	
	1662	1662	0	3000	300	10		Renewal	B. A./Arts/II	Male	1321373 BIRBAL SINGH GOND	
4/22	1722	1722	0	3000	300	10		Renewal	B. Sc./Science/II	Female	1319050 NEHA KANWAR	131
4/22	:722	1722	0	3000	300	10		Renewal	B. Sc./Maths/III	Female	1314060 MANISHA KUMARI	
4862	1662	1662	0	3000	300	10		Renewal	B. Com./Commerce/III	Female	1265256 OM KUMARI	1
	1662	1662	0	3000	300	10		Renewal	B. A./Arts/III	Female	1255032 MANJU KUMARI	
4562	1662	1662	0	3000	300	10		Renewal	B. A./Arts/III	Female	1253004 ANJL KANWAR	125
4562	1662	1662	0	3000	300	10		Renewal	B. A./Arts/III	Female	1252897 MUKESHWARI KANWAR	7 125
	1722	1722	6	3000 .	300	10		Renewal	B. Sc./Science/II	Male	1252153 RAJEET KUMAR * *	1 125
4/22	1722	1722	0	3000	300	10		Renewal	B. Sc./Sdence/II	Female	1252013 SEENA KANWAR	10 125
4002	1662	1662	0	3000	300	10		Renewal	B. A./Arts/III	Male	1250370 JWALA SINGH	QQ 125
	1722	1722	0	3000	300	10		Renewal	B. Sc./Science/III	Female	1250299 JAYANTI KUMARI	
4722	1722	1722	0	3000	300	-10		Renevial	B. 6c./Science/III	Female	1250285 SUNITA KANWAR	7 : 125
	1722	1722	0	3000 +	300	10		,Renewal	B. Sc./Science/III	Male	1247300 DOLNARAYAN BAIKRA	-
4662	1662	1662	0	3000	300	10		Renevial	B. A./Arts/II	Female	1247240 JAGRITI TANWAR	. 1
4662	1662	1662	0	3000	300	10		Renewal	B. A./Arts/II	Female	1242100 BHARTI KANWAR	QG 124
				Manca Initia	Kate Main	ġ 9	No. of Month	Туре	Course	Gender	1 ID Student Name	Application ID

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signatup seal of Heac of the Institution)

Name (Capital Leters) College

Page 3/8

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: 8

Institute Name: Govt. Collage M.M.R. Champa

Government of Chhattisgam

Sanction Number: R/8/4075/2/7/89362

Sauction Date: 30/03/2019

Applications Type: Renewal

			STATE OF THE PARTY	No of	Rate	Mainbanence	Tuition Fee	Ther Fee	Total Fals
Application ID Student Name	Gender	Course	туре	Month	Page 6	Allowance			
DO DO TANALE MARINAR	Famale	B. Sc./Science/II	Renewal	10	300	3000	0	1722	1722
1422460 GOUTANT NAMED			Donous	10	300	3000	0	1662	1662
1422461 JANKI BAI URANW	Female	B. A./A(S/11	Neticaso	1	2	2000	0	1667	1662
1422486 PURNIMA URANW	Female	B. A./Arts/II	Renewal	* 10	300	3000	0 0	1004	1660
1422490 KUMARI BAJANI	Female	B. A./Arts/II	Renewal	• 10	300	3000		7007	700T
	Famala		Renewal	10	300	3000	O	1662	700Z
1446831 SAROJNI KANWAK	dia	D A (Aste/III	Renewal	10	300	3000	D	1662	1662
1447384 YOGESH KUMAR	Male	D. A./AIG/II	District	1.0	300	3000	0	1662	1662
1446877 VRINDA KANWAR	Female	B. A./Arts/II	Kelleydi		,	OUVE	0	1652	1 1662
1447788 RAM KUMAR	Male .	B. A./Arts/II	Renewal	.10	300		0 0	1 100	4 777
AAOOAA CANIII KIIMABI KANWAR	Female	B. Sc./Science/II	Renewal	10	300	3000	0	77.77	77/1
1449941 OANDO ROBBRE COMMENT		B A /A+e/III	Renewal	10	300	3000	0	1662	1662
1451468 NARENDRA KUMAR	Maie	0.045	,	5	300	3000	0	1662	1662
1451484 RAJANI KANWAR	Female	B. Com./Commerce/II	Renewal	10	200	2005	0	1662	1662
1451513 PALLAVI KUMARI	Female	B. A./Arts/II	Renewal	. 10	300	2000	0 0	15.63	1662
1451514 SUDESHWARI KANWAR	Female	B. A./Arts/II	Renewal	10	300	3000	0 0	1001	1662
ACIEGG SHATI KIMARI	Female	B. A./Arts/II	Renewal	10	300	3000	c	7007	700T
#STOOD OURSE MONDAY	Tomals	B A /Arts/II	Renewal	10	300	3000	0	1662	1662
1451584 SUNITA KUMARI	Female	B. A./AICS/II	NC POST OF	5	OUE	OUUE	0	1662	1662
1451629 BHUNESHWER SINGH	Male	B. A./Arts/II	Renewal	10	200	2000	0 0	1722	1722
1452604 JANKI KANWAR	Female *	B. Sc./Science/II	Renewal	70	300			1722	1772
	Male	B. Sc./Science/II	Renewal	10	300	2000		***	

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to Control of the serial no. 1 to Control of the serial no. 1 to Control of the serial no. 2 to Control of the serial no. 1 to Control of the serial no. 2 to Control of

(Sigrature & Seal-964 and of the Institution) Name (Capital Leters) & College

Date :

Place:

This Sanction is generated by Scholarship Portal. Printed on 3/30/2019

Sovernment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

Government of Chhattisgarh

Sanction Number: Sanction Date: 30/03/2019 F/8/4075/2/7/89362

Applications Type: Fenswa

	Containe ton . Actions	MANAGEMENT THE			No. of	Rate Maint	enence T	uition fee	Other 5
Applica	Application ID Student Name	Gender	Course	Туре	Month	Raid Hamis	Wance		
3	1453031 KIRAN KUMARI	Female	B. A./Arts/III	Renewal	10	300	3000	0	1662
O.F.	THOUGHT STANFA		o calcainne	Renewal	10	570	5700	0	1722
4	1453270 MAHENDRA SINGH	Male	b. Sujadencejii	No. of the last	, !		200		1707
2	1453296+BIJENDRA KUMAR	Male	B. St./Science/II	Renewal	9	570 .	5130	0	t
10	AESASO BRITT KANWAR	*Female	B. Sc./Science/II	Renewal	10	300	3000	0	1722
t	14534/9 TRILL PRINTED	- Common			6	200	3000	0	1
2	1453651 SAGAR SINGH	Male	B. Com./Commerce/II	Renewal	TO	300	2000		1707
7	1453660 ROSHANI KANWAR	Female	B. Sc./Science/III	Renewal	10	300	3000	0	-
t	MADE MACRET MADEAN	Malo	B. A./Arts/II	Renewal	10	300	3000	0	1652
276	1454032 NAGEON MARINAM	71010	the contraction of the contracti	Donovia	5	300	3000	0	1722
72	1454067 HARIPRIYA KANWAR	Female	B. Sc./Science/11	Kenewai	10	0 0	2000		1797
14	1454073 LALITA KANWER	Female	B. Sc./Science/II	Renewal	10	300	2000	, ,	
j c	1454108 HAR GOVIND	Male	B. A./Arts/II	Renewal	10	300	3000	0	1652
1	1454117 NANKTINEE BINTHWAR	Female	B. A./Arts/II	Renewal	10	300	3000	0	1652
80		Malo	B. Sc /Science/II	Renewal	- 10	300	3000	0	- 1722
92	1454135 Sanju Kullidi Kaliwai	1 700	D Committee III	Panewal	10	300	3000	0	1722
3	1454136 khushbu kanwar	Female	B. Sc./Madis/II	NCHCYYOU		700	2000	5	1797
Bo	1454480 neha sidar	Female	B. Sc./Maths/II	Renewal	10		3000		
5 8	1454564 kiran kumari	Female	B. A./Arts/III	Renewal	10		3000	-	7001
100	AAGAJOO CASTO CASTO	Female	B. A./Arts/II	Renewal	10	300	3000	0	1652
30	1454/85 SUNGA KUMAH	Eamala	B / /Arts/III ·	Renewal	10	300 -	3000	0	1662
000	1455007 handini Kanwar	relligie	o. Ayra ayra	,	5		3000	0	1662
4	1455038 deenak singh	Male	B. A./Arts/II	Renewal	10	טטע	2000		

Declaration:

1455038 deepak singh

Male

B. A./Arts/II

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Suardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications i included in the above proposal from serial no. 1 to . & I do here by sanctioning a sum of Rs. 7.5.2.2.5 out of which Rs. 7.2.4.85 maintenance allowance and Rs. 7.5.1.1.2.2 as tuition and other fees. Printed copy of online

(Signature & Seal of head of the Institution)

Name (Capital Leters): College

CHAMPA (G. G.)

Date : Place:

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

Sate: Sovernment of Chhattisgarh
Sanction Number: 3/8/4075/2/7/89362
Sanction Date: 30/03/2019
Applications Tripe: Renewal

F	12	29	9	D	8	9	30	1,0	96	26	200	· 10	200	_0	90	000) ()) 0(90
1454751 anjani kanwar	1459728 nand	1459726 ku. usha kanwar	1459682 Mahe	1459640 KU K	1459338 prati bha kumari	1459257 parn	1459010 harp	1459020 chan	1458738 rahul pradhan	1458725 har man singh	1455629 MAH	1455593 mithila binjhwar	1455586 ashwani kumar	1455209 ruma kumari	1455107 tokeshwar singh	1455105 dinesh kumar	1455049 prem singh gond	Q application to
ni kanwar	1459728 nandani kumari kanwar	sha kanwar	1459682 Mahendra Pal singh	1459640 KU KANTA KANWAR	bha kumari	1459257 parmeshwar kanwar	1459010 harprasad kanwar	1459020 chamru ram kanwar	l pradhan	man singh .	1455629 MAHIPAL KANWAR	ila binjhwar	vani kumar	a kumari	shwar singh .	sh kumar	n singh gond	Student Name
Female	Fernale	Female	Male	Female	Female	Nale	Nale	Male	Male	Male	Male	Female	Male	Female	Male	Male	Male	Gender
B. A./Arts/II	B. A./Arts/III	B. A./Arts/III	M. A./Economics/II	B. Sc./Science/II	M. A./Pol. Science/II	M. A./Economics/II	B. Sc./Science/II	B. A./Arts/III	B. Com./Commerce/III	B. Sc./Science/III	B. Sc./Science/III	B. A./Arts/II	M. A./Sociology/II	B. Sc./Science/II	B. Sc./Science/II	B. Sc./Science/II	B. Sc./Science/II	Course
Reneval	Renewat	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renevial	Renewal	Renewal	Renawal	Renewal	Renewal	Туре
10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	No. of Month
300	300	300	530	300	530	530	300	300	300	300	570	300	530	300	300	300	300	Rate
3000	3000	3000	5300	3000	5300	5300	3000	3000	3000	3000	5700	3000	5300	3000	3000	3000	3000	Maintenence Allowance
0																		Tuition Fe
) 10) 16	1	1) 1	0 1	1	1	0	0 1	0 1	0 1	0 1	0 1	0 1	0 1	0 1	o Diller
1652	1662	1662	1701	1722		1701	1722	1662	1.662	1722	722	552	701	1722	722	722	722	er Total
166	1662	1662	1701	1722	1701	1701	1722	1662	1662	1722	1722	1662	1701	1722	1722	1722	1722	Fea T
4663	4662	4662	7001	4722	7001	7001	4722	4662	4662	4722	7422	4562	7001	4722	4722	4722	4722	atal Amount

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected andidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to So. I do here by sanctioning a sum of Rs. 70.524.50ut of which Rs.472.465 maintenance allowance and Rs.2.3.112.465 tuition and other fees. Printed copy of online

Place :

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

VI. Post

This Sancton is generated by Scholarship Portal

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: Rv8.4075;2/7/89362

Sanction Date: 30/03/2019

Applicators Type: Renewal

								· addit commonded.	Joe . The chair	1	
date	Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tultion Fee 0	Other Fee	Total Fee	Total Amount
8	1460049 mr.pushpendra singh	Male	B. Sc./Science/III	Renewal	10	300	3000	0	1722	1722	4722
707	1460471 SHOBHA SIDAR	Female	B. Sc./Science/II	Renewal	10	300	3000	C	1722	1722	4722
685	1461003 HEM HINGH KANWAR	Male .	B. Sc./Maths/II	Renewal	10	300	3000	0	1722	1722	4722
3	1461032 DEVANAND KANWAR	Male .	B. Sc./Science/II	.t Renewal	.10	300	3000	0	1722	1722	4724
5	1461042 PRAAMOD SINGH	Male	B. Sc./Science/II	Renewal	10	300	3000	0	1722	1722	4722
=	1461735 DEEPAK KUMAR KANWAR	Male	B. Sc./Science/II	Renewal	10	570	5700	0	1722	1722	7422
= 2	1485373 NIDHI KANWAR	Female	B. Sc./Science/III	Renewal	10	300	3000	0	1722	1722	4722
7	1490950 PREM BAI KANWAR	Female '	B. A./Arts/III	Renewal	10	300	3000	0	1662.	11662	4562
17	1501377 DURGESHWARI KAWWAR	Female	B. Sc./Science/III	Renewal	10	300	3000	0	1722	1722	4722
节	1501715 VRINDA KANWAR	Female	B. A./Arts/II	Renewal	10	300	3000	0	1662	1652	4662
10	1505276 ISH KUMAR	Male	B. A./Arts/III	Renewal	10	300	3000	0	1662	1652	4662
=		Male	B. Sc./Science/II	Renewal	. 10	570	5700	0	1722	1722	7422
3		Female	B. A./Arts/II	Renewal	10	300	3000	0	1662	1662	4662
=	1524130 BHANUPRATAP SINGH KANWAR Male	Male	B. Com./Commerce/III	Renewal	9	570	5130	0	1662	1662	6792
3	1532121 RAM KUMARI KANWAR	Female	B. Sc./Science/III	Renewal	10	300	3000	0	1722	1722	4722
2	1540886 CHHATAN KUMARI	Female	B. Sc./Science/II	Renewal	10	300	3000	0	1722	1722	4722
300		Female •	B. Sc./Science/II	Renewal	10.	300	3000	0	1722 •	1722	4722
The	1553281 AMRITA KUMARI	Female	B. A./Arts/II	Renewal	10	300	3000	0	1662	1662	4662
oclaration .											

eclaration:

ny other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. andidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts cholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the ertified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from erial no. 1 to St. I do here by sanctioning a sum of Rs. Toster of which Rs. Toster and Rs. Toster of the scholarship and other fees. Printed copy of online

lace :

(Signatured Search Mend of the Institution)
Govern Agentiableties College
CHAMPA (G. G.)



Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2018-19

State: Government of Chhattisgarh

Sancton Number: R/8/4075/2/7/89362

Applications Type: Renewal

Sanction Date: 30/03/2019

	30	S.	25	in	Ser	10	130	130	Ba	757	35	TA	12	Applic
		1613213	1613126	1589303	1583946	1573935	1488499	1583851	1583670				1567653	Application ID
	1513214 LEELAWATI KANWAR	1613213 RAJESHWARI KANWAR	1613126 SHRIRAM KANWAR	1589303 NAND KUMARI KANWAR	1583946 CHHABI LAL MAJHI	1573935 TRIPTI KUMARI	1488499 ANIL KUMAR	1583851 KUSUM SIDAR	1583670 BRIHASPATI KANWAR	1559341 PESHPRATAP SINGH	1558263 ANJU KUMARI KANWAR	1551548 RAJENDRA SIDAR	25 1567653 SANTOSHI KANWAR	Student Name
	Female	Female	Male	Female	Male	Female	Male	Female	Female	Male	Female	Male	Female	Gender
	M. A./Pol. Science/II	M. A./Pol. Science/II	B. Sc./Science/III	B. Sc/Science/II	B. Sc/Science/II	B. Sc./Science/II	B. A./Arts/III . ,	B. Sc./Science/II	M. A./Pol. Science/II	B. Com./Commerce/III	M. Sc./Chemistry/II	M.S.W./Master of Social Work/II	M. Sc./Chemistry/II	Course
	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Type
	10	10	10	10	10	10	10	10	10	2 10	, 10	10	10	No. of Month
Total:	530	530	570	300	300	300	300	300	530	300	530	530	530	Rate
. 472160	5300	5300	5700	3000	3000	3000	. 3000	3000	5300	\$ 3000	5300	5300	5300	Maintenence Allowance
0	0	0	0	0	D	0	0	0	0	0	0	0	0	Tuition Fee
231123	1701	1701	1722	1722	1722	1722	1662	1722	1701	1662	1751	2151	1751	Other Fee
231123	1701	1701	1722	1722	1722	1722	1662	1722	1701	1652	1751	2151	1751	Total Fee
7,03283	7001	7901	7422	4722	4722	4722	. 4562	4722	7001	4 562	7051	7451	7051	Total Amount

Declaration:

iny other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. andidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts cholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the ertified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from lerial no. 1 to S. I do here by sanctioning a sum of Rs. Included the scholarship and other fees. Printed copy of online

lace :

(Signatuse, & Sea Fai Head of the Institution)

Name (Capital Letera) College

CHAMPA (C. G.)